Notice for appointment of Regular / Rural Retail Outlet Dealership

HPC proposes to appoint Retail Outlet Dealers in Maharashtra, as per following details:

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		num Dimension of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
			(Regular/Rural)		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for	Draw of		
1	FROM JAFRABAD PHATA IN CHIKHLI CITY TOWARDS JAFRABAD UP TO 5 KM ON SH-228	BULDHANA	Regular	150	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
2	WITHIN 3 KM FROM SHELU BAZAR JUNCTION, LHS ON SHELUBAZAR KARANJA ROAD TOWARDS KARANJA	WASHIM	Regular	152	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
3	WITHIN 4 KM OF KHEMANAND ENGLISH SCHOOL TOWARDS BHOOM ON AHMEDNAGAR BHOOM ROAD SH-157	AHMEDNAGAR	Regular	150	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
4	UPTO 4 KM FROM KRISHI UTPANNA BAZAR SAMITI GATE, LONI KHURD TOWARDS SINNAR ON SH 31	AHMEDNAGAR	Regular	150	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
5	VILLAGE KADRABAD, ON KADRABAD-KACHNER ROAD	AURANGABAD	Regular	150	SC	CFS	40	50	2000	0	0	DRAW OF	0	3
6	VILLAGE BHATKUDGAON ON SH- 44 ON NEWASA—SHEVGAON ROAD	AHMEDNAGAR	Regular	150	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
7	FROM SAMARTH SHAKAR KARKHAANA MAIN GATE, UP TO 10 KM TOWARDS BEED, ON LHS OF NH-211	JALNA	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
8	FROM MTDC RESORT LONAR, TOWARDS MANTHA, UP TO 5 KM, ON LHS OF NEW NH 548C	BULDHANA	Regular	150	ST	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
9	FROM AMBEDKAR CHOWK IN SULTANPUR TOWARDS LONAR UPTO 3 KM ON RHS OF NEW NH 548	BULDHANA	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
10	FROM MTDC RESORT LONAR, TOWARDS MANTHA, UP TO 5 KM, ON RHS OF NEW NH 548C	BULDHANA	Regular	150	ST	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
11	BETWEEN 3 KM TO 8 KM FROM SHEGAON RAILWAY STATION ON SHEGAON KHAMGAON ROAD NH-548	BULDHANA	Regular	152	ST	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
12	BETWEEN 2KM AND 5KM FROM KAPSHI FATA ON AKOLA PATUR HIGHWAY TOWARDS PATUR, ON RHS.	AKOLA	Regular	196	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
13	WITHIN 5 KM FROM MEDSHI ON PATUR MALEGAON HIGHWAY, RHS FROM PATUR TO MALEGAON.	WASHIM	Regular	204	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
14	VYALA, ON NH-6, ON LHS, FROM AKOLA TO BALAPUR	AKOLA	Regular	183	SC	CFS	45	60	2700	0	0	DRAW OF	0	3
15	ON NH-6 WITHIN 4 KMS FROM JUNCTION OF NH6 & SH212 TOWARDS AMRAVATI ON RHS FROM MURTIZAPUR TO AMRAVATI	AKOLA	Regular	150	ST	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
16	ON KHAMGAON BYPASS, NH-6	BULDHANA	Regular	170	SC	CFS	45	60	2700	0	0	DRAW OF	0	3
17	VILLAGE JEUR ON AURANGABAD- AHMEDNAGAR ROAD (SH-60(NH- 753F)) ON RHS TOWARDS AHMEDNAGAR	AHMEDNAGAR	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
18	VILLAGE KULDHARAN ON KARJAT KULDHARAN ROAD	AHMEDNAGAR	Rural	130	ST	CFS	40	40	1600	0	0	DRAW OF	0	2
19	UPTO 3KM FROM PRIMARY HEALTH CENTRE MANJARI TOWARDS RAHURI	AHMEDNAGAR	Rural	110	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
20	RASULABAD SINDI MEGHE ROAD, MOUZA - SINDHI	WARDHA	REGULAR	100	ST	CFS	40	40	1600	0	0	DRAW OF	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (i		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC / DC /CFS	ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	ng	11	12
21	YAVATAMAL, WITHIN 3 KM FROM RAILWAY STATION	YAVATMAL	REGULAR	120	ST	CFS	25	25	625	0	0	DRAW OF	0	3
22	ON PUSAD MAHOOR ROAD WITHIN 3 KM FROM PUSAD BUS STAND .	YAVATMAL	REGULAR	100	ST	CFS	40	40	1600	0	0	LOTS	0	3
23	PANDHARKAWDA TOWN WITHIN 5 KM FROM BUS STAND CHANDRAPUR CITY WITHIN 5 KM FROM BUS STAND	YAVATMAL CHANDRAPUR	REGULAR REGULAR	150 150	ST SC	CFS CFS	25 25	25 25	625 625	0	0	DRAW OF	0	3
25	WITHIN 2 KMS FROM BRAHMANWADA THADI ON CHANDUR BAZAR ROAD	AMRAVATI	REGULAR	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
26	ON SH 264 BETWEEN PADOLI CHOWK TO TADALI TOLL NAKA ON EITHER SIDE OF THE ROAD	CHANDRAPUR	REGULAR	150	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
27	SAWARDHOTA, WITHIN 2 KM FROM BUS STAND TALUKA HINGNA	NAGPUR	REGULAR	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
28	VADVIHIRA HINGNA	NAGPUR	REGULAR	150	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
29	WITHIN 1.5 KM ON EITHER SIDE OF NAGPUR AIRPORT ROAD T-POINT	NAGPUR	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
30	NEAR WARORA FROM RELIANCE PETROL PUMP TO VIDEOCON FACTORY ON SH 264	CHANDRAPUR	REGULAR	120	SC	CFS	40	40	1600	0	0	DRAW OF	0	3
31	MUKUNDBANDH VILLAGE ON EITHER SIDE OF SH 234 TALIKA WANI	YAVATMAL	REGULAR	120	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
32	SAWALGAON, NAGBHID, SH - 9	CHANDRAPUR	REGULAR	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS DRAW OF	0	3
33	PALANDUR VILLAGE NOT ON SH OR NH	BHANDARA	RURAL	70	SC	CFS	30	30	900	0	0	LOTS DRAW OF	0	2
34	DHOTARKHEDA VIILAGE IN ACHALPUR TALUKA NOT ON SH OR NH	AMRAVATI	RURAL	70	ST	CFS	30	30	900	0	0	LOTS DRAW OF	0	2
35	YARLI VILLAGE IN TUMSAR TALUKA	BHANDARA	RURAL	70	SC	CFS	30	30	900	0	0	LOTS DRAW OF	0	2
36	JAMBULGHAT IN CHIMUR TALUKA ON NANDURBAR DHANORA ROAD,FROM CHIRAG GALI MASJID UPTO	CHANDRAPUR	RURAL	70	SC	CFS	30	30	900	0	0	LOTS DRAW OF	0	2
37	ON NANDURBAR DHANDKA ROAD, ROM CHIRAG GALI MASJID OPTO GUJRAT BORDER, TALUKA-NANDURBAR ON BILADI ROAD , FROM OLD AGRA ROAD AND BILADI ROAD JUNCTION	NANDURBAR	REGULAR	100	ST	CFS	40	40	1600	0	0	LOTS DRAW OF	0	3
38	UPTO TO NH-52 ,TALUKA-DHULE	DHULE	REGULAR	100	SC	CFS	30	30	900	0	0	LOTS	0	3
39	VILLAGE- CHHADVEL PAKHRUN,ON NH-53 (NAGPUR SURAT NATIONAL HIGHWAY) ON RHS WHILE GOING FROM DHULE TOWARDS SURAT	DHULE	REGULAR	200	ST	CFS	60	60	3600	0	0	DRAW OF LOTS	0	3
40	ON NH752G, BETWEEN SAVARGAON VILLAGE AND TANDULWADI VILLAGE ON RHS WHILE GOING FROM MANMAD TOWARDS YEOLA. TAL: YEOLA	NASHIK	REGULAR	150	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (i		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
41	VILLAGE -SHEWADE,TALUKA SINDKHEDA	DHULE	REGULAR	100	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
42	BALSANE , UPTO 3 KM FROM BALSANE BUS-STAND TOWARDS DUSANE	DHULE	REGULAR	100	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
43	VILLAGE HARNUL ON RHS WHILE GOING FROM CHANDWAD TOWARDS MANMAD ON NH 752G,TALUKA CHANDWAD	NASHIK	REGULAR	150	sc	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
44	VILLAGE - SAYGAON (TALUKA CHALISGAON)	JALGAON	RURAL	70	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
45	NAGARDEOLE BK., TALUKA - PACHORA	JALGAON	RURAL	70	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
46	VILLAGE NHAVI (TAL - YAWAL)	JALGAON	RURAL	70	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
47	VILLAGE KANASI, TALUKA KALWAN	NASHIK	RURAL	150	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	2
48	AUNDH RAVET BRTS ROAD ON (LHS/RHS)- TOWARDS MUMBAI	PUNE	Regular	350	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
49	FROM CHANDNI CHOWK TO BHOOGAON ON LHS/RHS	PUNE	Regular	330	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
50	FROM RAJIV GANDHI BRIDGE AT AUNDH TO RTO ON EITHER SIDE OF THE ROAD WITHIN PMC /PCMC LIMITS	PUNE	Regular	330	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
51	WITHIN RADIUS OF 2 KM OF AGA KHAN PALACE ON PUNE AHMEDNAGAR HIGHWAY	PUNE	Regular	150	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
52	WITHIN 5 KM OF NAGARGAON ON SHIRUR TO SATARA ROAD ON LHS	PUNE	Regular	160	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
53	ON DHOLEPATIL ROAD WITHIN 2 KM OF EON IT PARK	PUNE	Regular	150	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
54	WITHIN 1.5 KM FROM REHMANI JUNIOR COLLEGE, HANDEWADI TOWARDS SASANE NAGAR CHOWK ON HANDEWADI ROAD	PUNE	Regular	200	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
55	MALEGAON BK VILLAGE ON BARAMATI NIRA ROAD SH 121	PUNE	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
56	WITHIN 5 KM FROM NH65 TOWARDS BARAMATI ON BHIGWAN BARAMATI ROAD SH 54	PUNE	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
57	WITHIN 1 KM FROM CHOPAN FATA TOWARDS BARAMATI ON BARAMATI INDAPUR ROAD	PUNE	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
58	WITHIN 6 KM FROM PUNE SHOLAPUR HIGHWAY NH 65 (PATAS) TOWARDS DAUND ON PATAS DAUND ROAD, SH 123	PUNE	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
59	DEHUGAON BYPASS ON RHS WHILE MOVING FROM DEHUGAON TO PUNE	PUNE	Regular	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *	1	of the site (i		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	4 (Regular/Rural)	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
60	VILLAGE SABARDARI ON MIDC MAIN ROAD, ON LHS WHILE MOVING FROM BRIDGESTONE TO PHILIPS	PUNE	Regular	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
61	VILLAGE- PIMPODE BUDRUK ON WATHAR WAI ROAD, SH 139	SATARA	Regular	130	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
62	WITHIN 5 KM FROM PATAN BUS STAND TOWARDS KOYANANAGAR (NH 166 E)	SATARA	Regular	155	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
63	KALEDHON, ON MALHARPETH PANDHARPUR ROAD, SH 143	SATARA	Regular	130	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
64	WITHIN 2 KM FROM CHOUPHULA ON CHOUPHULA TO VADHU BUDRUK ROAD ON LHS	PUNE	Rural	100	SC	CFS	36	40	1440	0	0	DRAW OF LOTS	0	2
65	VILLAGE MALLEWADI, WITHIN 3 KM FROM SHARAD NAGAR TOWARDS MANGALWEDHA ON LHS	SOLAPUR	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
66	OSMANNAGAR ROAD TOWARDS NANDED,CIDCO,WITHIN 1 KM FROM WATER TANK AT CIDCO J2 AREA ON LHS ON SH256	NANDED	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
67	WITHIN 3 KM FROM ZEROPHATA TOWARDS PARBHANI, ON NH 61	PARBHANI	REGULAR	150	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
68	VILLAGE TAMBVE, TEMBURNI - AKLUJ ROAD, NH 548C, TALUKA MALSHIRAS	SOLAPUR	REGULAR	160	ST	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
69	VILLAGE - SHIRDON, OLD AKLUJ ROAD, TAL. PANDHARPUR	SOLAPUR	RURAL	100	SC	CFS	30	40	1200	0	0	DRAW OF LOTS	0	2
70	TANALI-KASEGAON ROAD(MDR-168), BETWEEN KM STONE 5 TO 4, RHS TOWARDS KASEGAON, VILLAGE KASEGAON, TAL-PANDHARPUR	SOLAPUR	RURAL	120	ST	CFS	30	40	1200	0	0	DRAW OF LOTS	0	2
71	VILLAGE BORALE,TAL MANGALWEDHA	SOLAPUR	RURAL	110	SC	CFS	30	40	1200	0	0	DRAW OF LOTS	0	2
72	VILLAGE GONEWADI, MANGALWEDHA-JATT ROAD	SOLAPUR	RURAL	100	ST	CFS	30	40	1200	0	0	DRAW OF LOTS	0	2
73	WITHIN 3 KMS FROM MUNAGE HIGH SCHOOL, DEVGAD TOWARDS MALVAN ON MSH-4	SINDHUDURG	REGULAR	150	SC	CFS	36	40	1440	0	0	DRAW OF LOTS	0	3
74	BETWEEN TARELE TO NANDGAON ON NH 66 (OLD NH-17)	SINDHUDURG	REGULAR	200	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
75	ON SANGLI BYPASS ROAD (FROM PATTANSHETTI HONDA SHOWROOM TO SANGLI TOLL TAX)	SANGLI	REGULAR	100	ST	CFS	36	40	1440	0	0	DRAW OF LOTS	0	3
76	WITH IN 5 KMS OF KARNAL PHATA ON SANGLI-PALUS ROAD	SANGLI	REGULAR	100	ST	CFS	36	40	1440	0	0	DRAW OF LOTS	0	3
77	VASGADE ON SH 142	SANGLI	REGULAR	100	SC	CFS	36	40	1440	0	0	DRAW OF LOTS	0	3
78	SHIRALA	SANGLI	REGULAR	100	SC	CFS	36	40	1440	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	,,	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
79	SAWARDE ON NH -66	RATNAGIRI	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
80	VILLAGE KOTIJ ON SH 73	SANGLI	REGULAR	100	SC	CFS	36	40	1440	0	0	DRAW OF LOTS	0	3
81	NH166 KOLHAPUR SANGLI ROAD, WITHIN 7KM FROM SANGLI PHATA TOWARDS SANGLI LHS	KOLHAPUR	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
82	ON SH 189 WITHIN 2 KMS FROM INJUBAI NEAR GARGOTI TOWARDS UTTUR	KOLHAPUR	REGULAR	200	ST	CFS	36	40	1440	0	0	DRAW OF LOTS	0	3
83	MALKAPUR TO TURUKWADI ON SH-150	KOLHAPUR	REGULAR	200	ST	CFS	36	40	1440	0	0	DRAW OF LOTS	0	3
84	FROM MASTAN NAKA TO CHAROTI NAKA ON LHS TOWARDS AHMEDABAD ON MUMBAI-AHMEDABAD NH-8	PALGHAR	REGULAR	350	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
85	NAIGAON EAST (BETWEEN NAIGAON STN TO NH-8)	PALGHAR	REGULAR	200	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
86	ON NH17 WHILE TRAVELLING FROM NAGOTHANE TO INDAPUR ON LHS	RAIGAD	REGULAR	200	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
87	BETWEEN RANJNOLI NAKA(NH-3 JUNCTION) TO DURGADI CHOWK, KALYAN ON RHS	THANE	REGULAR	200	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
88	BETWEEN BAPGOAN TO SAPE ON KALYAN SAPE ROAD ON LHS	THANE	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
89	BETWEEN SAVAD NAKA TO PADGHA ON SAPE -PADGA ROAD ON LHS	THANE	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
90	WITHIN 10 KMS FROM JAWHAR CHOWK, ON JAWHAR NASHIK ROAD, SH- 35	PALGHAR	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
91	FROM WADA TO PARALI IN WADA TALUKA ON LHS	PALGHAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
92	FROM WADA TO PARALI IN WADA TALUKA ON RHS	PALGHAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
93	WML BADLAPUR	Thane	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
94	JUINAGAR	Thane	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
95	CHAMTOLI, ON BADALPUR- VANGANI ROAD	Thane	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
96	SHIVAR VILLAGE, MIDC AKOLA ON MAIN ROAD	AKOLA	Rural	180	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
97	IN VILLAGE EKLAHERA, ON MIDC - AMBELOHAL ROAD	AURANGABAD	Rural	100	OBC	DC	40	40	1600	12	30	DRAW OF LOTS	5	3
98	VILLAGE ZAREKATHI ON GHUA SANGAMNER ROAD	AHMEDNAGAR	Rural	110	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	required	Draw of Lots/Biddi	11	12
99	VILLAGE DHAWALPURI ON BHALWANI-DHAWALPURI ROAD	AHMEDNAGAR	Rural	160	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
100	VILLAGE REHEKURI ON REHEKURI WALVAD ROAD	AHMEDNAGAR	Rural	100	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
101	VILLAGE BELAPUR ON MAIN ROAD, TALUKA SHRIRAMPUR	AHMEDNAGAR	Rural	100	OBC	DC	40	40	1600	12	30	DRAW OF LOTS	5	3
102	WITHIN 4 KM OF INTERSECTION OF PUNE-AURANGABAD ROAD AND KAMLAPUR ROAD, TOWARDS KAMLAPUR	AURANGABAD	Rural	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
103	WITHIN 5 KM FROM POHARADEVI BUS STAND ON MAIN ROAD	WASHIM	Rural	145	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
104	FROM RAILWAY CROSSING IN PARTUR UP TO 2 KM ON PARTUR TO PARADGAON ROAD	JALNA	Rural	100	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
105	CHANDUR BISWA, ON MAIN ROAD TEHSIL NANDURA.	BULDHANA	Rural	160	OBC	DC	40	40	1600	12	30	DRAW OF LOTS	5	3
106	UPTO 5 KM FROM EKRUKHE GRAMPANCHAYAT KARYALAYA TOWARDS RAHATA ON MAIN ROAD	AHMEDNAGAR	Rural	160	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
107	VILLAGE SANVATSAR TALUKA KOPERGAON ON MAIN ROAD	AHMEDNAGAR	Rural	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
108	CHAS VILLAGE, TALUKA AKOLE ON MAIN ROAD.	AHMEDNAGAR	Rural	110	OBC	DC	40	40	1600	12	30	DRAW OF LOTS	5	3
109	VILLAGE ANVA, ON MAIN ROAD, TALUKA BHOKARDAN	JALNA	Rural	100	OPEN CC 1	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
110	UPTO 4 KM FROM CHITALI BUS STOP ON MAIN ROAD, TOWARDS RAHATA	AHMEDNAGAR	Rural	150	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
111	WITHIN 2 KM FROM BALANAGAR GOVT. HOSPITAL ON MAIN ROAD	AURANGABAD	Rural	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
112	VILLAGE WARDADI, ON MAIN ROAD, TALUKA SINDKHED RAJA	BULDHANA	Rural	100	OBC	DC	40	40	1600	12	30	DRAW OF LOTS	5	3
113	VILLAGE BELORA, ON MAIN ROAD, TALUKA MANTHA	JALNA	Rural	100	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
114	VILLAGE SAKUR, ON MAIN ROAD, TALUKA SANGAMNER	AHMEDNAGAR	Rural	100	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
115	VILLAGE NIMBHARI, ON MAIN ROAD IN NEWASA TALUKA	AHMEDNAGAR	Rural	110	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
116	VILLAGE RANJANI, TALUKA GHANSANGWI, NOT ON NH OR SH	JALNA	Rural	100	OBC	DC	40	40	1600	12	30	DRAW OF LOTS	5	3
117	VILLAGE SHENDURJANA, MANORA ROAD.	WASHIM	Rural	130	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
118	VILLAGE RAMTIRTH, TALUKA MANTHA, NOT ON NH OR SH	JALNA	Rural	100	OPEN CC 2	DC	40	40	1600	12	30	DRAW OF LOTS	5	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
119	VILLAGE NETAKEWADI ON KARJAT DHANDEWADI ROAD	AHMEDNAGAR	Rural	100	OBC CC 1	DC	40	40	1600	12	30	DRAW OF LOTS	5	3
120	VILLAGE - MUNGUSWADE ON KHARWANDI RAJURI ROAD	AHMEDNAGAR	Rural	100	ST CC 1	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
121	JIVATI VILLAGE, IN JIVATI TALUKA , WITHIN 3 KMS FROM JIVATI TEHSIL OFFICE NOT ON SH OR NH	CHANDRAPUR	Rural	70	OPEN	CC	30	30	900	12	5	BIDDING	10	4
122	DHANKI VILLAGE, WITHIN 3KMS ON UMARKHED ROAD, TALUKA UMARKHED NOT ON NH OR SH	YAVATMAL	Rural	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
123	BARBADI WITHIN 500 MTRS LIMIT ON RHS TOWARDS WARDHA FROM BARBADI PHATA	WARDHA	Rural	70	OBC	CC	30	30	900	12	5	BIDDING	10	3
124	SHINDOLA VILLAGE TQ WANI NOT ON SH OR NH	YAVATMAL	Rural	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
125	DAHEGAON RANGARI TALUKA SAONER DIST NAGPUR NOT ON SH OR NH	NAGPUR	Rural	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
126	BIBEE VILLAGE, IN KORPANA TALUKA, ON GADCHANDUR - AWARPUR ROAD, ON EITHER SIDES. NOT ON SH OR NH	CHANDRAPUR	Rural	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
127	WITHIN 2KM FROM VILLAGE YELI ON WARDHA- ARVI ROAD NOT ON SH OR NH	WARDHA	Rural	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
128	SHANKARPUR TOWN ON MDR 1 WHILE TRAVELING FROM SHANKAR PUR TO KOREGAON ON EITHER SIDE OF THE ROAD	GADCHIROLI	Rural	70	OPEN	CC	30	30	900	12	5	BIDDING	10	4
129	MAUZA DASDGAON TALUKA GONDIA DIST GONDIA ON MDR 29	GONDIA	Rural	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
130	WITHIN 3KMS OF PALSA PHATA , TALUKA-UMARKHED NOT ON SH OR NH	YAVATMAL	Rural	70	OPEN	CC	30	30	900	12	5	BIDDING	10	4
131	KHOBRA MENDHA WITHIN 2 KMS FROM BUS STAND NOT ON SH	GADCHIROLI	Rural	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
132	ANJI TOWN IN WARDHA DISTRICT WITHIN 5KM FROM ANJI TOWN ST BUS STAND TOWARDS ARVI	WARDHA	Rural	70	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
133	VILLAGE SAWALI (WAGH) ,TEHSIL HINGHANGHAT (HINGHANGHAT - NANDORI ROAD) NOT ON SH OR NH	WARDHA	Rural	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
134	VISAPUR VILLAGE IN BALHARSHAH TALUKA NOT ON SH OR NH	CHANDRAPUR	Rural	70	ОВС	DC	30	30	900	12	30	DRAW OF LOTS	5	3
135	ASGAON, PAUNI TO LAKHANDUR ON EITHER SIDE OF ROAD, NOT ON SH OR NH	BHANDARA	Rural	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
136	BAKHARDI VILLAGE IN KORPANA TALUKA, NOT ON SH OR NH	CHANDRAPUR	Rural	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
137	MAUZA BHUYAR TALUKA PAWANI DIST BHANDARA NOT ON NH OR SH	BHANDARA	Rural	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
138	MAUZA KARDI TALUKA MOHADI DIST BHANDARA	BHANDARA	Rural	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
139	SAVARI, TAL -BHANDARA NOT ON NH OR SH	BHANDARA	Rural	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
140	RAMPUR VILLAGE IN RAJURA TALUKA ON RAJURA-SASTHI ROAD WHILE TRAVELLING TOWARDS SASHTI ON RIGHT HAND SIDE.	CHANDRAPUR	Rural	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
141	FULCHUR VILLAGE ON GONDIA TO FULCHUR NOT ON NH OR SH	CHANDRAPUR	Rural	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
142	VILLAGE ALIPUR TALUKA HINGANGHAT (ALIPUR- SIRASGAON ROAD)	WARDHA	Rural	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
143	VILLAGE -TIKHORE , TALUKA-SHAHADA	NANDURBAR	Rural	70	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
144	VILLAGE-MHASDI PR NER ,TALUKA- SAKRI	DHULE	Rural	70	OPEN	DC	35	55	1925	12	30	DRAW OF LOTS	5	4
145	VILLAGE SINGAWE SHIVER, TALUKA CHANDWAD	NASHIK	Rural	70	OBC PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
146	VILLAGE EKLAHERE,TALUKA NASIK	NASHIK	Rural	70	SC PH	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
147	VILLAGE,MOHIDA,TALUKA-SHAHADA	NANDURBAR	Rural	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
148	VILLAGE -GHOGAL,TALUKA-NAVAPUR	NANDURBAR	Rural	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
149	VILLAGE-KHARDE,ON SHIRPUR TO KHARDE ROAD	DHULE	Rural	70	ОВС	DC	30	30	900	12	30	DRAW OF LOTS	5	3
150	VILLEGE -BHALER, NANDURBAR	NANDURBAR	Rural	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
151	VILLAGE BHOYEGAON, TAL: CHANDWAD	NASHIK	Rural	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
152	VILLAGE KARANJGAON,ON SAIKHEDA - NANDUR MADMESHWAR ROAD,TALUKA -NIPHAD	NASHIK	Rural	70	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
153	WITHIN 1 KMS FROM CROSSING OF DAHIWAL ROZE ROAD & CHALISGAON MALEGAON ROAD TOWARDS ROZE ON DAHIWAL ROAZE ROAD ON LHS	NASHIK	Rural	70	OBC	DC	40	40	1600	12	30	DRAW OF LOTS	5	3
154	VILLAGE -LALING, DHULE	DHULE	Rural	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
155	MOHADI UPNAGAR ,TALUKA -DHULE	DHULE	Rural	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
156	VILLAGE VADANGLI, TAL: SINNAR	NASHIK	Rural	100	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
157	VILLAGE ABONA,TALUKA KALWAN	NASHIK	Rural	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
158	VILLEGE PAREGAON,TALUKA CHANDWAD	NASHIK	Rural	70	OPEN CC 1	DC	40	50	2000	12	30	DRAW OF LOTS	5	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimension of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
159	VILLAGE KASBE SUKENE ,TALUKA NIPHAD	NASHIK	Rural	70	OBC	DC	40	40	1600	12	30	DRAW OF LOTS	5	3
160	VILLAGE ADAGAON TAPPA, TAL: CHANDWAD	NASHIK	Rural	70	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
161	NASIK OML BETWEEN VILLAGE GOVARDHAN AND FRAVASHI INTERNATIONAL SCHOOL AT VILLAGE DUGAON	NASHIK	Rural	100	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
162	VILLAGE BOLTHAN, TAL: NANDGAON	NASHIK	Rural	70	OPEN	DC	40	50	2000	12	30	DRAW OF LOTS	5	4
163	VILLAGE TAKED TAL IGATPURI	NASHIK	Rural	100	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
164	VILLAGE - LASUR (CHOPDA TALUKA)	JALGAON	Rural	70	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
165	VILLAGE DONGARGAON, TAL: CHANDWAD	NASHIK	Rural	70	OPEN	DC	40	50	2000	12	30	DRAW OF LOTS	5	4
166	VILLAGE PALKHED TAL: NIPHAD VILLAGE CHINCHWAD ON HARSHUL TRIAMBAKESHWAR ROAD, TAL-	NASHIK NASHIK	Rural Rural	100	OPEN OPEN	DC DC	30 40	30 50	900 2000	12	30 30	DRAW OF LOTS DRAW OF LOTS	5 5	4
167	TRIAMBAKESHWAR CHAPHAL ON MDR 53, TALUKA- KARAD	Satara	Rural	100	OBC CC 1	DC	35	35	1225	12	30	DRAW OF	5	3
169	VILLAGE - VADGAON GHENAND, ON ALANDI SHEL PIMPALGAON RAOD	PUNE	Rural	70	ST CC 1	CFS	36	40	1440	0	0	LOTS DRAW OF LOTS	0	2
170	BHAMBURWADI ON RAIGURUNAGAR - WAFGAON ROAD	PUNE	Rural	90	OPEN PH	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
171	VILLAGE- AUNDH (NOT ON SH),TALUKA-KHATAV	Satara	Rural	100	OBC	DC	36	40	1440	12	30	DRAW OF LOTS	5	3
172	VILLAGE DHALEWADI ON JUNNER - YEDGAON ROAD, TALUKA - JUNNER	PUNE	Rural	90	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
173	VILLAGE NANE ON KAMSETH ROAD, TALUKA MAVAL	PUNE	Rural	90	SC	CFS	36	40	1440	0	0	DRAW OF LOTS	0	2
174	VILLAGE - PARGAON TARFE (SHINGVE), TALUKA - AMBEGAON	PUNE	Rural	70	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
175	VILLAGE CHAHUR, ON BHUINJ SHIVTHAR ROAD, MDR 21,TALUKA-WAI	Satara	Rural	70	OBC	DC	36	40	1440	12	30	DRAW OF LOTS	5	3
176	VILLAGE OTTUR , TALUKA JUNNER	PUNE	Rural	90	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
177	VILLAGE MANGRUL , TALUKA - MAWAL	PUNE	Rural	70	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
178	KOLEWADI ON KARAD DHEBEWADI ROAD, MDR 55,TALUKA-KARAD	PUNE	Rural	70	ST	CFS	36	40	1440	0	0	DRAW OF LOTS	0	2
179	ON GANEGAON MALTHAN ROAD WITHIN 2 KM OF VILLAGE GANEGAON	PUNE	Rural	100	OBC	DC	36	40	1440	12	30	DRAW OF LOTS	5	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	4 (Regular/Rural)	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi	11	12
180	SIDDHESHWAR KUROLI, ON RAHIMATPUR VADUJ ROAD, MDR 38,TALUKA-KOREGOAN	Satara	Rural	100	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
181	VADUJ (WITHIN GRAMPANCHAYAT LIMIT)),TALUKA-KHATAV	Satara	Rural	70	OPEN CC 1	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
182	MANDAVKHADAK, PHALTAN UPLAVE ROAD, MDR 09, TALUKA-PHALTAN	Satara	Rural	70	SC	CFS	36	40	1440	0	0	DRAW OF LOTS	0	2
183	VILLAGE PISARVE, TALUKA- PURANDAR	PUNE	Rural	90	OBC	DC	36	40	1440	12	30	DRAW OF LOTS	5	3
184	KHED BK ON KHANDALA LONAND ROAD, MDR 3,TALUKA-KHANDALA	Satara	Rural	100	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
185	FROM VILLAGE BHORWADI TO VILLAGE NAGADWADI ON NARAYANGAON-BELHE ROAD, TALUKA JUNNER	PUNE	Rural	100	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
186	VILLAGE PARGAON TARFE KHED, TALUKA - AMBEGAON	PUNE	Rural	90	OBC	DC	36	40	1440	12	30	DRAW OF LOTS	5	3
187	KUMATHE, ON KOREGAON BHDALE ROAD, MDR 4,TALUKA-KOREGOAN	Satara	Rural	100	SC	CFS	36	40	1440	0	0	DRAW OF LOTS	0	2
188	VILLAGE BIJEWAT ON JUNNER APTALE ROAD, TALUKA JUNNER	PUNE	Rural	100	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
189	KADEGAON ON WAI PACHWAD ROAD, MDR 19, TALUKA- WAI	Satara	Rural	110	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
190	WITHIN 2 KMS FROM NATHA MANDIR ON DAHIWADI-GONDAVALE ROAD, TALUKA-MAN	Satara	Rural	70	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
191	ON SHIRUR ROAD FROM NIMONE TO NIRVI ON EITHER SIDE	PUNE	Rural	100	ST	CFS	36	40	1440	0	0	DRAW OF LOTS	0	2
192	SONAWADI ON PAHALTAN SHINGANAPUR ROAD, MDR 13,TALUKA- PHALTAN	Satara	Rural	100	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
193	RANAND ON DAHIWADI MARDE ROAD, MDR 49, TALUKA MAN	Satara	Rural	100	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
194	LOHOM, MDR 3,TALUKA-WAI	Satara	Rural	100	OBC	DC	36	40	1440	12	30	DRAW OF LOTS	5	3
195	VILLAGE - BIRADWADI ON CHAKAN - AMBETHAN ROAD	PUNE	Rural	100	SC	CFS	36	40	1440	0	0	DRAW OF LOTS	0	2
196	GUNJALWADI ON JUNNER ROAD	PUNE	Rural	125	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
197	SAIKADE, KARAD-DHEBEWADI ROAD, MDR 55,TALUKA-PATAN	Satara	Rural	70	OBC	DC	36	40	1440	12	30	DRAW OF LOTS	5	3
198	WITHIN 1 KM FROM AMBETHAN VILLAGE ON BAMBOLI CHAKAN ROAD, TALUKA - KHED	PUNE	Rural	95	OPEN	DC	36	40	1440	12	30	DRAW OF LOTS	5	4
199	PADAL ON KATARKHATAV - KALEDHON ROAD, MDR 45,TALUKA-KHATAV	Satara	Rural	90	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (i		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi ng	11	12
200	VILLAGE KADEWADI ON CHAS - KALAMB ROAD, TALUKA - AMBEGAON	PUNE	Rural	110	ST	CFS	36	40	1440	0	0	DRAW OF LOTS	0	2
201	AUNDHA, DIST HINGOLI, WITHIN 1 KM FROM ST BUS STAND TOWARDS NAGESHWADI	HINGOLI	RURAL	100	OBC	DC	22	22	484	12	30	DRAW OF LOTS	5	3
202	AT NIMGAON, TALUKA MALSHIRAS	SOLAPUR	RURAL	140	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
203	AT VILLAGE UPALAI BK, ON RHS TOWARDS WAKAV ON ODR 19, TAL- MADHA	SOLAPUR	RURAL	140	OPEN	DC	40	45	1800	12	30	DRAW OF LOTS	5	4
204	AT WASHIMBE, TALUKA KARMALA	SOLAPUR	RURAL	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
205	ROPALE TO KEM ROAD, WITHIN 2 KM FROM ROPALE VILLAGE BYPASS TOWARDS KEM	SOLAPUR	RURAL	140	OBC	СС	40	40	1600	12	5	BIDDING	10	3
206	VILLAGE SHIRASHI, ON RHS TOWARDS GHERDI, ON MANGALWEDHA GHERDI ROAD	SOLAPUR	RURAL	140	OPEN	DC	30	40	1200	12	30	DRAW OF LOTS	5	4
207	VILLAGE ROSHEWADI, TAL- KARMALA, ON RHS TOWARDS KARMALA	SOLAPUR	RURAL	140	OPEN CC 1	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
208	VILLAGE - BEMBALE, TAL-MADHA	SOLAPUR	RURAL	140	OBC	CC	35	40	1400	12	5	BIDDING	10	3
209	VILLAGE SAMUDRAWANI	OSMANABAD	RURAL	134	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
210	VILLAGE- SHIVANGI, ON MANGALWEDHA- UMADI ROAD, TAL- MANGALWEDHA	SOLAPUR	RURAL	140	OPEN	DC	35	40	1400	12	30	DRAW OF LOTS	5	4
211	VILLAGE- TAMBOLE, TAL- MOHOL	SOLAPUR	RURAL	140	OPEN	DC	40	50	2000	12	30	DRAW OF LOTS	5	4
212	BETWEEN S.M.S.M.P SSK LTD & RTO OFFICE, ON AKLUJ-YASHWANT NAGAR ROAD, TALUKA MALSHIRAS	SOLAPUR	RURAL	140	OBC	DC	40	45	1800	12	30	DRAW OF LOTS	5	3
213	VILLAGE-TULSI, TAL - MADHA,	SOLAPUR	RURAL	140	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	2
214	WITHIN 2 KM FROM DHAYATI BUS STAND, TOWARDS VILLAGE SHIRBHAVI, TALUKA SANGOLA	SOLAPUR	RURAL	140	OPEN	CC	40	40	1600	12	5	BIDDING	10	4
215	WITHIN 7 KM FROM JINTI BUS STAND TOWARDS KORTI ON LHS, TALUKA KARMALA	SOLAPUR	RURAL	140	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
216	FROM CHINCHPUR PHATA TOWARDS VARADWADE WITHIN 1 KM ON LHS ON BHOOM VARADVADE ROAD, TALUKA BHOOM	OSMANABAD	RURAL	125	OBC	DC	40	40	1600	12	30	DRAW OF LOTS	5	3
217	ON AMBEJAWALGE - BHANASGAON ROAD, BETWEEN KM STONE 5 TO 6 ON LHS TOWARDS BHANASGAON	OSMANABAD	RURAL	140	OPEN	СС	40	40	1600	12	5	BIDDING	10	4
218	KALAMB DHOKI ROAD, WITHIN 2 KMS FROM GOVINDPUR BUS STOP	OSMANABAD	RURAL	112	SC CC 1	CFS	40	40	1600	0	0	DRAW OF LOTS	0	2
219	VILLAGE SHINDEWADI, TALUKA MALSHIRAS	SOLAPUR	RURAL	140	OPEN CC 2	DC	40	40	1600	12	30	DRAW OF LOTS	5	4

SI No		Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimension of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN RH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund	Draw of Lots/Biddi ng	11	12
220	VILLAGE WASHI	OSMANABAD	RURAL	133	OBC CC 1	СС	35	35	1225	12	5	BIDDING	10	3
221	VILLAGE PIMPALGAON DHAS, ON BHOOM BARSHI ROAD	SOLAPUR	RURAL	132	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
222	BETWEEN TITWALA & AMBIVLI ON TITWALA-AMBIVILI ROAD	THANE	RURAL	110	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
223	NAVAPUR, WITHIN 5KMS OF ZILA PARISHAD SCHOOL ON NAVAPUR- NANDGAON ROAD	PALGHAR	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
224	VAROR VILLAGE ON CHINCHANI DAHANU ROAD	PALGHAR	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
225	BETWEEN SAVAD NAKA TO YEWAI IN BHIWANDI TALUKA	THANE	RURAL	110	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
226	VILLAGE KURLE IN TALUKA MAHAD	RAIGAD	RURAL	100	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
227	MOKHADA ON MOKHADA JAWAHAR ROAD, TALUKA MOKHADA	PALGHAR	RURAL	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
228	ASANGAON, TALUKA SHAHPUR (NOT ON NATIONAL HIGHWAY OR STATE HIGHWAY)	THANE	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
229	VILLAGE MALEGAON, TALUKA SHAHPUR ON SHENAWE - KINHAVALI ROAD	THANE	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
230	SHIRGAON IN BHIWANDI TALUKA ON DHABAD - VASHIND ROAD	THANE	RURAL	110	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
231	WITH IN THE JURIDICTION LIMITS OF KASARA GRAM PANCHAYAT IN SHAHPUR TALUKA, DISTT. THANE	THANE	RURAL	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
232	AMBESHIV ,TALUKA-AMBERNATH	THANE	RURAL	130	OPEN	CC	30	30	900	12	5	Bidding	10	4
233	TITWALA GANESH TEMPLE TO RUNDE BRIDGE ON RUNDE ROAD	THANE	RURAL	110	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
234	VILLAGE AMBEPUR, DISTRICT RAIGAD	RAIGAD	RURAL	100	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
235	BETWEEN TITWALA & GOVELI, ON TITWALA-GOVELI ROAD	THANE	RURAL	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
236	ON TALA-MURUD ROAD, BETWEEN TALA AND MANDAD	RAIGAD	RURAL	100	OPEN	CC	30	30	900	12	5	Bidding	10	4
237	VILLAGE MURUD	RAIGAD	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
238	AT KOTABI ON DEHANE ASAVE ROAD	PALGHAR	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
239	AT VADAVALI ON NAIGAON STATION ROAD	PALGHAR	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
240	PAM WITHIN 2 KMS OF GAON DEVI TEMPLE	PALGHAR	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2

SI No		Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OREN PH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	d fund required for	Draw of Lots/Biddi	11	12
241	10 KMS FROM KUDAL TOWARDS DHAMAPUR ON KUDAL- MALVAN ROAD	SINDHUDURG	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
242	YELUR VILLAGE	SANGLI	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
243	SAVLAJ VILLAGE	SANGLI	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
244	SHIRODA IN VENGURLA TALUKA	SINDHUDURG	RURAL	90	ST PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
245	KADAWAL IN KUDAL TALUKA	SINDHUDURG	RURAL	90	OBC PH	DC	30	30	900	12	30	DRAW OF LOTS	5	3
246	KHANDERAJURI	SANGLI	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
247	SHALGAON BOMBALEWADI MIDC	SANGLI	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
248	GOTEWADI ON TASGAON KHANAPUR ROAD	SANGLI	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
249	KAVATHE MAHANKAL ON KUCHI ROAD	SANGLI	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
250	HATNUR, ON TASGAON HATNUR ROAD	SANGLI	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
251	KABNOOR TO YADRAV ROAD	KOLHAPUR	RURAL	90	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
252	SADOLI HASUR ROAD LHS, TEHASIL: KARVIR, DIST: KOLHAPUR	KOLHAPUR	RURAL	90	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
253	ON HIGHWAY, WITHIN 5 KMS FROM AMBEDKAR CHOWK IN VAIJAPUR TOWARDS SHIVOOR	AURANGABAD	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
254	ON NH-161, WITHIN 1 KM FROM JUNCTION OF AMANI VILLAGE ROAD WITH NH161, TOWARDS MALEGAON, ON RHS.	WASHIM	Regular	212	OBC	CC	45	60	2700	25	10	Bidding	30	4
255	ON VAIJAPUR-GANGAPUR ROAD, FROM GANGAPUR CHOUFULLI IN VAIJAPUR, WITHIN 4 KMS TOWARDS GANGAPUR ON LHS	AURANGABAD	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
256	FROM AMBEDKAR CHOWK TO GANGAPUR CHOUFULLI IN VAIJAPUR	AURANGABAD	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
257	FROM MIDC PAITHAN POLICE STATION TOWARDS PAITHAN CITY WITHIN 1 kM, ON LHS	AURANGABAD	Regular	200	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
258	FROM SEVALAL CHOWK IN BIBI UP TO 4 KM TOWARDS SULTANPUR ON RHS OF NEW NH 753C (OLD SH 183)	BULDHANA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
259	FROM GHANSANGWI PHATA ON AMBAD WADIGODRI ROAD TOWARDS WADIGODRI UP TO 10 KM ON SH 176	JALNA	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
260	ON AURANGABAD-AHMEDNAGAR ROAD, WITHIN 10 KM FROM CANTONMENT NAKA ON RHS	AURANGABAD	Regular	200	OPEN	CC	45	60	2700	25	10	Bidding	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		num Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
-		J	(Regular/Rural)		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund	Draw of		
261	ON AURANGABAD-PAITHAN ROAD, 3 KMS FROM BPCL PETROL PUMP MAHESH PETROLEUM TOWARDS PAITHAN	AURANGABAD	Regular	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5
262	ON MEHKAR CITY BY PASS NEW NH 753C (OLD SH 207)	BULDHANA	Regular	150	OBC	CC	45	60	2700	25	10	Bidding	30	4
263	ON MUMBAI-NAGPUR HIGHWAY, WITHIN 4 KM FROM TISGAON CHOUFULLI TOWARDS VAIJAPUR ON RHS	AURANGABAD	Regular	200	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
264	WITHIN 6 KM FROM SHIVAJI CHOWK IN GANGAPUR TOWARDS VALJAPUR	AURANGABAD	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
265	FROM BANK OF MAHARASHTRA IN KINGAON, TALUKA SINDKHEDRAJA, UP TO 3 KM ON NEW NH 753C (OLD SH-183)	BULDHANA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
266	VILLAGE - CHIKHALI ON SH10 (NH160) AHMEDNAGAR DAUND ROAD	AHMEDNAGAR	Regular	150	OPEN CC 1	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
267	AT RAJGAON ON WASHIM HINGOLI ROAD ON NH 161	WASHIM	Regular	190	OPEN	CC	45	60	2700	25	10	BIDDING	30	5
268	FROM PISHORE NAKA (IN KANNAD) TOWARDS PISHORE WITH IN 2 KMS	AURANGABAD	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
269	VILLAGE DEVLANA, ON DEOGAON RANGARI TO GALLEBOREGAON ROAD	AURANGABAD	Regular	150	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
270	BETWEEN 5 KM AND 10 KM FROM MALKAPUR BUS DEPOT, ON MALKAPUR- BULDHANA ROAD	BULDHANA	Regular	210	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
271	ON SH 207, BETWEEN 7KM AND 10KM, BEFORE START OF KARANJA BYPASS ON AMRAVATI - PIMPALGAON - KARANJA STRETCH OF ROAD	WASHIM	Regular	179	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
272	KENWAD, SH 207, ON MALEGAON MEHKAR ROAD	WASHIM	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
273	WITHIN 5 KM FROM IOCL OUTLET - GHUSAR TOWARDS MHAISANG ON AKOLA - MHAISANG ROAD SH-200	AKOLA	Regular	229	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
274	1 KM ON BOTH SIDES OF MAHATMA PHULE GARDEN GATE ON SHRIGONDA PARGAON ROAD SH-50	AHMEDNAGAR	Regular	160	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
275	ON AURANGABAD JALNA-HIGHWAY, FROM BPC PETROL PUMP M/S. MAANSINGH PETROLEUM, TILL THE END OF AURANGABAD DISTRICT, TOWARDS JALNA, ON LHS	AURANGABAD	Regular	180	OPEN CC 2	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
276	FROM VIVEKANAND HOSPITAL CORNER UP TO 1 KM TOWARDS GOLDEN JUBILEE SCHOOL IN JALNA CITY	JALNA	Regular	150	OBC CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	4
277	VILLAGE LAWANA, ON MANGRULPIR - MANORA ROAD.	WASHIM	Regular	150	ST CC 1	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
278	VILLAGE - WALUNJ ON WALUNJ ARANGAON ROAD ON RHS TOWARDS ARANGAON.	AHMEDNAGAR	Regular	170	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
279	WITHIN 1 KM OF NEPTI ONION MARKET ON AHMEDNAGAR BYPASS ROAD SH58	AHMEDNAGAR	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
280	DEULGAON, ON PATUR WADEGOAN ROAD.	AKOLA	Regular	202	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
281	VILLAGE GANORI, ON SH- 201, ON DAHIHANDA - KINKHED ROAD.	AKOLA	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
282	ON KARJAT- RASHIN ROAD, WITHIN 3 KM TOWARDS RASHIN, FROM GOVT HOSPITAL COMPOUND, KARJAT ON SH-68	AHMEDNAGAR	Regular	170	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
283	UPTO 3 KM FROM GRAM PANCHAYAT PIMPALWADI OFFICE TOWARDS SHIRDI ON SH 35	AHMEDNAGAR	Regular	160	OPEN	CC	45	45	2025	25	10	Bidding	30	5
284	VILLAGE NARAYANGAVAHAN OR RALEGAN SIDDHI ON PARNER- PUNE HIGHWAY (SH-50)	AHMEDNAGAR	Regular	170	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
285	UPTO 3 KM FROM NEWASA PHATA TOWARDS NEWASA TOWN, ON SH-	AHMEDNAGAR	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
286	ON AURANGABAD-JALNA ROAD FROM SOHAM HYUNDAI SHOWROOM TOWARDS JALNA, IN MUNCIPAL LIMITS	AURANGABAD	Regular	150	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
287	WITHIN 2 KM FROM KHANDGAON PHATA ON SH-46	AHMEDNAGAR	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
288	UPTO 3KM FROM PRAVARA INSTITUTE OF MEDICAL SCIENCE LONI TOWARD SANGAMNER, ON LHS ON SH 44	AHMEDNAGAR	Regular	170	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
289	ON AURANGABAD-JALNA ROAD, WITHIN 6 KMS FROM LADGAON TOLL PLAZA ON LHS	AURANGABAD	Regular	200	OPEN CC 1	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
290	WITHIN 5 KM FROM MOTALA BUS STAND ON MOTALA- NANDURA ROAD.	BULDHANA	Regular	170	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
291	UPTO 2KM FROM KHANAPUR BUS STOP TALUKA SHEVGAON TOWARDS AURANGABAD ON SH 61	AHMEDNAGAR	Regular	150	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
292	VILLAGE SEVALI, TALUK JALNA ON SEVALI- RAHERI ROAD (SH-173)	JALNA	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
293	VILLAGE ZIRPI, ON AMBAD- WADIGODRI ROAD SH-176	JALNA	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
294	VILLAGE MADHI BK ON SHIRDI LASALGAON ROAD (SH-7)	AHMEDNAGAR	Regular	150	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
295	ON SH-60(OLD), WITHIN AURANGABAD DISTRICT FROM WALLUJ POLICE STATION TOWARDS AHMEDNAGAR ON LHS	AURANGABAD	Regular	150	ST	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
296	VILLAGE KEDARKHEDA, ON RAJUR- BHOKARDAN ROAD SH-223	JALNA	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
297	VILLAGE GOLAPANGRI, ON RHS OF JALNA AMBAD ROAD SH-176	JALNA	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
298	2 KM OF BELWANDI GRAMPANCHAYAT OFFICE TOWARDS SHIRUR ON SH-50	AHMEDNAGAR	Regular	150	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
299	WITHIN 6 KM FROM DHAD NAKA ON BULDHANA AJANTA ROAD	BULDHANA	Regular	170	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
300	ON SH-52, 3 KM FROM MIRI BUS STOP TOWARDS SHEVGAON	AHMEDNAGAR	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
1		3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs	Draw of		12
301	FROM KOLPEWADI SAHAKARI SAKHAR KARKHANA TOWARDS LASALGAON UP TO 4 KM ON EITHER SIDE ON SH7	AHMEDNAGAR	Regular	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
302	FROM AMBEDKAR CHOWK IN SULTANPUR TOWARDS MEHKAR UPTO 3 KM ON RHS OF NEW NH 548	BULDHANA	Regular	150	OBC PH	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
303	VILLAGE NAGZARI, ON NEW MEHKAR CHIKLI NH- 548C	BULDHANA	Regular	150	SC PH	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
304	WITHIN 4 KM FROM CHANDA BUS STOP TOWARDS KUKANA ON EITHER SIDE ON SH 66	AHMEDNAGAR	Regular	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5
305	VILLAGE PIMPRI SARHAD, ON SH-207, MALEGAON - MAHEKAR ROAD.	WASHIM	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
306	VILLAGE JAMBARGAON, ON VAIJAPUR-GANGAPUR HIGHWAY ON RHS	AURANGABAD	Regular	150	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
307	ON SH-60 (OLD), WITHIN 2 KMS FROM GANGAPUR PHATA TOWARDS AURANGABAD ON LHS	AURANGABAD	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
308	2 KM BOTH SIDES OF KM STONE NUMBER 29 ON RAHURI TAHARABAD ROAD(SH 49)	AHMEDNAGAR	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
309	FROM VISHAL CORNER IN JALNA CITY TILL MOTI BAGH GARDEN ON SH-6	JALNA	Regular	150	OPEN	CC	30	30	900	25	10	Bidding	30	5
310	VILLAGE KARULE ON SANGAMNER -TALEGAON ROAD TALUKA SANGAMNER	AHMEDNAGAR	Regular	150	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
311	FROM SHIVAJI PUTLA CHOWK IN JALNA CITY TILL MAHARSHI DADHICH CHOWK ON DR. RAJENDRA PRASAD ROAD	JALNA	Regular	150	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
312	VILLAGE KHADAKWADI ON SH-50 (TAKLI DHOKESHWAR SAKUR ROAD)	AHMEDNAGAR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
313	VILLAGE SANVATSAR ON KOPERGAON- AURANGABAD ROAD (SH-12), TALUKA KOPERGAON	AHMEDNAGAR	Regular	150	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
314	FROM SBI MANTHA BRANCH, TOWARDS JINTUR, UP TO 10 KM ON NEW NH 752I (OLD SH 220)	JALNA	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
315	ON NH-211, FROM ZALTA PHATA TOWARDS BEED ON RHS, WITHIN 4 KM	AURANGABAD	Regular	200	OPEN CC 1	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
316	VILLAGE - ARANGAON, ARANGAON WALUNJ ROAD ON RHS TOWARDS WALUNJ.	AHMEDNAGAR	Regular	170	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
317	FROM PARTUR RAILWAY CROSSING TOWARDS ASHTI UP TO 5 KM ON RHS OF NEW NH 548 C	JALNA	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
318	FROM STATE BANK OF INDIA DEULGAONMAHI BRANCH UP TO 3 KM TOWARDS JALNA ON NH 753A	BULDHANA	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
319	FROM SHIVAJI PUTLA IN JALNA CITY TO GURUBACHAN CHOWK, ON AZAD MAIDAN ROAD	JALNA	Regular	150	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
320	FROM SAMARTH SHAKAR KARKHAANA MAIN GATE, UP TO 10 KM TOWARDS PACHOD, ON RHS OF NH-211	JALNA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (i		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi	11	12
321	AHMEDNAGAR, WITHIN MUNICIPAL LIMIT ON MAIN ROAD(NOT ON STATE HIGHWAY)	AHMEDNAGAR	Regular	160	ST	CFS	22	22	484	0	0	DRAW OF LOTS	0	3
322	FROM NAGEWADI TOLL PLAZA ON JALNA AURANGABAD NEW NH 753A (OLD SH-6) TOWARDS AURANGABAD UP TO 3 KM	JALNA	Regular	150	OPEN	CC	45	60	2700	25	10	Bidding	30	5
323	FROM MANTHA CHOWFULLY IN JALNA TILL AMBAD CHOWFULLY IN JALNA ON RING ROAD (NH 752I)	JALNA	Regular	150	OPEN	CC	45	60	2700	25	10	Bidding	30	5
324	FROM BOMBAY-NAKA (ON A'BAD-PUNE HIGHWAY) TOWARDS PAITHAN, WITHIN 3 KMS ON LHS	AURANGABAD	Regular	200	OPEN	CC	40	40	1600	25	10	Bidding	30	5
325	PATSUL, ON LHS FROM SHEGAON TO AKOT, ON SHEGAON- AKOT ROAD.	AKOLA	Regular	174	OBC CC 1	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
326	IN FARDAPUR, ON AURANGABAD-JALGAON HIGHWAY	AURANGABAD	Regular	180	ST CC 1	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
327	FROM BOMBAY-NAKA (ON A'BAD-PUNE HIGHWAY) TOWARDS PAITHAN, WITHIN 3 KMS ON RHS	AURANGABAD	Regular	200	OPEN PH	DC	40	40	1600	25	45	DRAW OF LOTS	15	5
328	VILLAGE KANAKWADI (TALUKA PARTUR), ON NEW NH-548C	JALNA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
329	ON RHS (AURANGABAD-MALEGAON ROAD), VILLAGE FATIYABAD, ON NH- 211	AURANGABAD	Regular	180	OPEN	CC	50	60	3000	25	10	Bidding	30	5
330	ON NH-6 WITHIN 4 KMS FROM JUNCTION OF NH6 & SH-212 TOWARDS AKOLA ON RHS FROM MURTIZAPUR TO AKOLA	AKOLA	Regular	150	SC	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
331	FROM SHARNAPUR PHATA TOWARDS CANTONMENT NAKA ON RHS	AURANGABAD	Regular	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
332	FROM STATE BANK OF INDIA AMDAPUR BRANCH UP TO 3 KM ON NEW NH 548 C	BULDHANA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
333	ON BEED BYEPASS ROAD, 1 KM ON ANY SIDE OF KAMALNAYAN BAJAJ HOSPITAL, ON THE SIDE OF KAMALNAYAN BAJAJ HOSPITAL	AURANGABAD	Regular	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
334	ON AURANGABAD-JALGAON HIGHWAY, WITHIN 2 KMS TOWARDS AURANGABAD, FROM GOVERNMENT RURAL HOSPITAL-PHULAMBRI ON RHS	AURANGABAD	Regular	200	OPEN	СС	45	60	2700	25	10	Bidding	30	5
335	ON WALLUJ PAITHAN LINK ROAD(NOT ON SH)	AURANGABAD	Regular	150	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
336	FROM AMBEDKAR CHOWK IN SULTANPUR TOWARDS MEHKAR UPTO 3 KM ON LHS OF NEW NH 548	BULDHANA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
337	FROM DEOLAI CHOWK (BEED BY- PASS ROAD), TOWARDS ROYAL OAKS WORLD SCHOOL, WITHIN 2 KMS	AURANGABAD	Regular	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
338	ON NH-6, FROM WADNER BHOLII TO DHANORA.	BULDHANA	Regular	191	OPEN CC 1	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
339	ON JAMKHED KARMALA ROAD WITHIN 5 KM OF KM STONE # 34 TOWARDS JAMKHED SH143(NH561A)	AHMEDNAGAR	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	,,	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN BH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi	11	12
340	ON AURANGABAD-JALNA ROAD, WITHIN 4 KMS FROM LADGAON TOLL PLAZA ON RHS	AURANGABAD	Regular	200	OBC	CC	45	60	2700	25	10	Bidding	30	4
341	ON NH-211 WITHIN 2 KMS ON RHS, FROM DEOGAON PHATA TOWARDS VERUL	AURANGABAD	Regular	200	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
342	IN USMANPURA (WML AURANGABAD), ON BASATWAR CHAMBERS ROAD	AURANGABAD	Regular	150	OPEN	CC	22	25	550	25	10	Bidding	30	5
343	JALGAON- JAMOD, ON JAMOD-NANDURA HIGHWAY.	BULDHANA	Regular	186	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
344	VILLAGE NARAYANGAVHAN ON SH-60 (NH-753F) PUNE AHMEDNAGAR ROAD ON RHS TOWARDS AHMEDNAGAR	AHMEDNAGAR	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
345	WITHIN 2.5 KMS FROM TUKARAM HOSPITAL OF AKOLA CITY, ON GORAKSHAN ROAD	AKOLA	Regular	150	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
346	WITHIN 1.5 KM FROM RATANLAL CHOWK TOWARDS CHOTTI UMRI, AKOLA	AKOLA	Regular	154	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
347	WITHIN 3 KM FROM BPC OUTLET (VIJAYLAXMI PETROLEUM) ON KHAMGAON BULDHANA ROAD TOWARDS BULDHANA FROM BPC OUTLET.	BULDHANA	Regular	201	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
348	ON AURANGABAD-JALNA ROAD IN MUNCIPAL LIMITS OF AURANGABAD	AURANGABAD	Regular	150	ST	CFS	22	22	484	0	0	DRAW OF LOTS	0	3
349	WITHIN 4 KM FROM IOCL LPG BOTTLING PLANT DHANAJ, ON LHS FROM KAMARGAON TO IOCL DHANAJ LPG BOTTLING PLANT	WASHIM	Regular	165	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
350	ON NH-6, WITHIN 2 KM FROM AGRAWAL P&M HUB DASARKHED.	BULDHANA	Regular	182	OPEN	CC	50	60	3000	25	10	Bidding	30	5
351	WITHIN 3 KM FROM ADSUL FATA ON AKOT-SHEGAON ROAD, ON LHS FROM SHEGAON TO AKOLA.	AKOLA	Regular	198	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
352	UPTO 4 KM FROM KM STONE 113 IN GHARGAON ON NH 60 TOWARDS PUNE ON LHS	AHMEDNAGAR	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
353	ON NH-6, WITHIN 1 KM FROM R S MINHAS, BPCL PETROL PUMP, TOWARDS AKOLA, ON RHS ON KHAMGAON AKOLA ROAD.	BULDHANA	Regular	222	OPEN	CC	50	60	3000	25	10	Bidding	30	5
354	WITHIN 5 KMS FROM HPCL GAIGAON DEPOT ON SHEGAON AKOLA ROAD TOWARDS DABKI VILLAGE	AKOLA	Regular	190	ОВС	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
355	VILLAGE HIVARKHED, ON SH-173 KHAMGAON-CHIKHALI ROAD.	BULDHANA	Regular	250	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
356	BORGAON MANJU BYPASS, DIST AKOLA	AKOLA	Regular	170	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
357	AURANGABAD, WITHIN MUNCIPAL LIMITS (4) ON MAIN ROAD	AURANGABAD	Regular	150	ST	CFS	22	22	484	0	0	DRAW OF LOTS	0	3
358	VILLAGE HANGA ON SUPA PARNER ROAD (NOT ON SH)	AHMEDNAGAR	Regular	150	OBC	DC	45	50	2250	25	45	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
359	ON AHMEDNAGAR KALYAN ROAD, WITHIN 3 KM BOTH SIDES OF KM STONE NO. 192 ON RHS TOWARDS KALYAN NH-61	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
360	WITHIN 2 KM OF SMILE STONE RESTAURENT TOWARDS PUNE ON AHMEDNAGAR PUNE ROAD ON RHS OF SH60(NH753F)	AHMEDNAGAR	Regular	170	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
361	VILLAGE SINDHI KALEGAON, ON JALNA MANTHA ROAD NH	JALNA	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
362	WITHIN 2 KM OF HOTEL SHRAVANI ON AHMEDNAGAR DAUND ROAD ON RHS TOWARDS DAUND SH10(NH160)	AHMEDNAGAR	Regular	155	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
363	WITHIN 1 KM BOTH SIDES OF HOTEL SAI INN, AHMEDNAGAR CITY, ON PUNE AHMEDNAGAR ROAD SH-60(NH-753F)	AHMEDNAGAR	Regular	190	OPEN	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
364	ON SH-195, WITHIN 3 KM FROM ZILLA PARISHAD SANGRAMPUR TOWARDS JALGAON JAMOD ON JALGAON JAMOD - SANGRAMPUR ROAD	BULDHANA	Regular	100	OPEN CC 1	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
365	VILLAGE SHIRADHON ON AHMEDNAGAR SOLAPUR ROAD SH- 141(NH516A)	AHMEDNAGAR	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
366	VILLAGE DHOKSAL, TALUKA MANTHA, ON NEW NH-548C	JALNA	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
367	VILLAGE PANDHAREWADI GAON OR KOLGAON ON SH10(NH160) AHMEDNAGAR DAUND ROAD	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
368	AT BHANWARWADI ON NH-222 BETWEEN KM STONE 300 AND 302	AHMEDNAGAR	Regular	170	OPEN	СС	45	60	2700	25	10	Bidding	30	5
369	WITHIN 2 KM OF SUPA TOLL PLAZA TOWARDS PUNE ON AHMEDNAGAR PUNE ROAD ON SH60 (NH 753F)	AHMEDNAGAR	Regular	170	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
370	ON HIGHWAY, FROM APMC KHULTABAD GATE TOWARDS SHARNAPUR, WITHIN 3 KMS	AURANGABAD	Regular	180	ST	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
371	FROM KILOMETER STONE NO. 207 TO 209 ON NH 61	AHMEDNAGAR	Regular	170	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
372	WITHIN 2 KM BOTH SIDES OF PARIKRAMA GROUP OF INSTITUTION MAIN GATE AT KASHTI ON AHMEDNAGAR DAUND ROAD ON RHS TOWARDS DAUND SH10(NH160)	AHMEDNAGAR	Regular	170	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
373	VILLAGE GAVHANEWADI ON AHMEDNAGAR PUNE ROAD ON LHS TOWARDS PUNE SH60(NH753F)	AHMEDNAGAR	Regular	170	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
374	FROM EKVEERA CHAWK TO MY CINEMA E SQUARE OF AHMEDNAGAR CITY ON PIPELINE ROAD	AHMEDNAGAR	Regular	180	OPEN	DC	20	25	500	25	60	DRAW OF LOTS	15	5
375	FROM DEVGAD PHATA UP TO 4 KM, TOWARDS AURANGABAD ON LHS ON NEW NH 753F (OLD SH 60)	AHMEDNAGAR	Regular	155	SC CC 1	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
376	VILLAGE DHAWALEWADI ON SH-148 (TISGAON- SHEVGAON ROAD)	AHMEDNAGAR	Regular	160	OPEN CC 2	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
377	WITHIN 1KM FROM CENTRAL ENTRANCE OF PROZONE MALL, ON THE MAIN ROAD	AURANGABAD	Regular	150	OBC CC 1	DC	22	22	484	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category	Type of Site *		num Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
	2	3	(Regular/Rural		SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN DH	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate	Draw of Lots/Biddi ng	-	12
378	VILLAGE KARANJI ON AHMEDNAGAR PATHARDI ROAD(NH-222) ON RHS TOWARDS PATHARDI	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
379	UPTO 3KM FROM KRISHI UTPANNA BAZAR SAMITI GATE, KUKANA ON LHS TOWARDS SHEVGAON ON SHEVGAON- NEWASA ROAD	AHMEDNAGAR	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
380	VILLAGE MIRAJGAON ON AHMEDNAGAR SOLAPUR ROAD NH-516A ON LHS TOWARDS SOLAPUR	AHMEDNAGAR	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
381	UPTO 4 KM FROM KM STONE 126 ON NH 60 TOWARDS NASIK ON LHS	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
382	UPTO 2 KM FROM RAHATA JUDICIAL COURT TOWARDS SHIRDI ON NH160	AHMEDNAGAR	Regular	170	OPEN	СС	45	60	2700	25	10	Bidding	30	5
383	WITHIN 3 KM FROM NEEL RESTAURENT TOWARDS PUNE ON AHMEDNAGAR PUNE ROAD SH60(NH753F)	AHMEDNAGAR	Regular	160	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
384	DABAKI ROAD (FROM AMBEDKAR GROUND UPTO 4 KMS TOWARDS SHEGAON)	AKOLA	Regular	135	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
385	UPTO 4 KM FROM SHIRDI POLICE STATION TOWARDS AHMEDNAGAR ON RHS ON NH160	AHMEDNAGAR	Regular	210	OPEN	CC	45	60	2700	25	10	Bidding	30	5
386	UPTO 4 KM FROM SHANI SHIGNAPUR PHATA TOWARDS AURANGABAD ON RHS ON NH-753F	AHMEDNAGAR	Regular	190	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
387	VILLAGE SAWARGAON ON AHMEDNAGAR KALYAN ROAD (NH-61)	AHMEDNAGAR	Regular	160	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
388	UPTO 4 KM FROM KM STONE 153 ON NH-60 TOWARDS NASHIK ON RHS	AHMEDNAGAR	Regular	150	SC	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
389	UPTO 4 KM FROM KM STONE 154 ON NH-60 TOWARDS NASHIK ON LHS	AHMEDNAGAR	Regular	180	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
390	VILLAGE SIDHNATH WADGAON, ON GANGAPUR-LASUR HIGHWAY	AURANGABAD	Regular	150	OPEN CC 1	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
391	UPTO 5 KM FROM BHABALESWAR CHOWK TOWARDS AHMEDNAGAR ON NH-160 ON RHS	AHMEDNAGAR	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
392	GABHANAWADI, TALUKA SANGAMNER ON NH- 60	AHMEDNAGAR	Regular	150	SC	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
393	NANDURA - MALKAPUR BYPASS, DIST BULDHANA	BULDHANA	Regular	170	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
394	BETWEEN 4 KM AND 8 KM FROM CHAUDHARI PETROLEUM, HPCL PETROL PUMP, ON RHS FROM BULDHANA TO MOTALA TOWARDS MOTALA	BULDHANA	Regular	154	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
395	WITHIN 4KMS FROM SHIRDI SAI BABA SAMADHI TEMPLE ON NH160 TOWARDS KOPARGAON ON RHS	AHMEDNAGAR	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (i		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of	11	12
396	WITHIN 3 KM STRETCH OF PARADISE HOTEL ON ITS BOTH SIDES, ON AHMEDNAGAR - PATHARDI ROAD NH-222 ON RHS TOWARDS PATHARDI.	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
397	URAL, ON SH-197, WITHIN 3 KM FROM URAL POLICE STATION.	AKOLA	Regular	140	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
398	VILLAGE DHOTRE BUDRUK ON NH- 61	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
399	FROM DABHADI VILLAGE MAIN CHOWK (ON OLD SH-180) UP TO 3 KM ON EITHER SIDE ON NEW NH 752H (OLD SH-180)	JALNA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
400	VILLAGE YESGAON TALUKA KOPERGAON ON NH 752G	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
401	IN VILLAGE KHAMGAON (TALUKA: KANNAD), ON THE STATE HIGHWAY	AURANGABAD	Regular	150	ST PH	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
402	ON AURANGABAD-AHMEDNAGAR ROAD, WITHIN 5 KM FROM CANTONMENT NAKA ON LHS	AURANGABAD	Regular	200	OBC PH	DC	30	30	900	25	75	DRAW OF LOTS	15	4
403	1.5 KM ON BOTH SIDES OF MARUTI SUZUKI SHOWROOM MIDC AHMEDNAGAR, ON AHMEDNAGAR SHIRDI ROAD (SH-10(NH-160).	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
404	UPTO 3 KM FROM AMBEDKAR CHOWK, KOLHAR TOWARDS AHMEDNAGAR ON RHS ON NH-160	AHMEDNAGAR	Regular	150	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
405	VILLAGE TALNI, TALUKA MANTHA, ON NEW NH-548C	JALNA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
406	ON ANY SIDE OF ROHILAGAD PHATA, WITHIN 5 KMS ON NH-211 (AURANGABAD-BEED HIGHWAY), ON LHS	AURANGABAD	Regular	180	SC	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
407	UPTO 4 KM FROM NEWASA PHATA TOWARDS AURANGABAD ON LHS	AHMEDNAGAR	Regular	185	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
408	1 KM FROM SAVEDI CHOWK TOWARDS SHIRDI ON AHMEDNAGAR SHIRDI ROAD ON RHS TOWARDS SHIRDI SH10(NH160)	AHMEDNAGAR	Regular	210	OPEN	CC	35	35	1225	25	10	Bidding	30	5
409	WITHIN 5 KM OF DHAD PHATA IN MAHORA ON MAHORA DHAD ROAD (NEW NH 753M)	JALNA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
410	ON PAITHAN-AURANGABAD ROAD, WITHIN 2 KM FROM BEST PRICE MALL TOWARDS AURANGABAD ON LHS	AURANGABAD	Regular	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
411	ON LHS OF AURANGABAD-JALNA HIGHWAY, WITHIN 2 KMS, ON BOTH SIDES OF KARMAD POLICE STATION.	AURANGABAD	Regular	180	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
412	AURANGABAD, WITHIN MUNCIPAL LIMITS (1) ON MAIN ROAD	AURANGABAD	Regular	150	OPEN	DC	22	19	418	25	60	DRAW OF LOTS	15	5
413	AURANGABAD, WITHIN MUNCIPAL LIMITS (2) ON MAIN ROAD	AURANGABAD	Regular	150	OPEN	СС	22	22	484	25	10	Bidding	30	5

SI No		Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
414	FROM ANANDRAO LAD CHOWK IN JALNA TOWARDS MONDHA UP TO 2 KM ON NEW NH 753	JALNA	Regular	150	OBC	CC	50	60	3000	25	10	Bidding	30	4
415	ON SH-207, BETWEEN 1 KM AND 4 KM FROM SHELU BAZAR JUNCTION OF SH-197 & SH-207 TOWARDS MALEGAON.	WASHIM	Regular	196	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
416	2 KM BOTH SIDES OF HOTEL JAY VIJAY ON AHMEDNAGAR SHIRDI ROAD ON LHS TOWARDS AHMEDNAGAR SH-10	AHMEDNAGAR	Regular	120	OPEN CC 1	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
417	UPTO 2 KM FROM TALEGAON DIGHE CHOWK TOWARDS NANDUR SHINGOTE ON NH-160D ON RHS	AHMEDNAGAR	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
418	ON PAITHAN-AURANGABAD ROAD, WITHIN 2 KM FROM BEST PRICE MALL TOWARDS AURANGABAD ON RHS	AURANGABAD	Regular	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
419	WITHIN 3 KMS FROM HPCL PETROL PUMP ANUSAYA PETROLEUM (BOTH SIDES), ON LHS FROM AURANGABAD TO BEED.	AURANGABAD	Regular	180	ST	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
420	ON AURANGABAD-JALGAON HIGHWAY, WITHIN 3 KMS FROM HPCL PETROL PUMP KHETESHWAR AUTOMOBILES TOWARDS SILLOD ON RHS	AURANGABAD	Regular	180	OPEN	CC	50	60	3000	25	10	Bidding	30	5
421	WITHIN 2 KM FROM GURUDWARA ON PARAS FATA NH-6, TOWARDS KHAMGAON ON RHS FROM AKOLA TO KHAMGAON ON NH-6.	AKOLA	Regular	193	OBC	CC	45	60	2700	25	10	Bidding	30	4
422	WITHIN 2 KM FROM DIGRISH PHATTA TOWARD SILLOD, ON DIGRISH- SILLOD ROAD	AURANGABAD	Regular	180	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
423	VILLAGE KENDHALI, TALUKA MANTHA ON NEW NH-548 C	JALNA	Regular	180	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
424	VILLAGE DAWARWADI, ON PAITHAN-PACHOD ROAD	AURANGABAD	Regular	150	SC CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
425	FROM INTERSECTION OF MUMBAI NAGPUR HIGHWAY AND SHAHJAPUR SHARNAPUR ROAD TOWARDS SHARNAPUR, UP TO 4 KM	AURANGABAD	Regular	150	OBC CC 1	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
426	FROM SHIVAJI CHOWK TO SUKHNA RIVER, ON NAREGAON MAIN ROAD	AURANGABAD	Regular	150	OPEN	DC	22	22	484	25	60	DRAW OF LOTS	15	5
427	BETWEEN 2 KM AND 6 KM FROM WASHIM POLICE STATION ON WASHIM MALEGAON ROAD	WASHIM	Regular	167	OPEN PH	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
428	VILLAGE NIMGAON KHAIRI, TALUKA SHRIRAMPUR ON SH-47	AHMEDNAGAR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
429	VILLAGE MOSAMBIWADI, ON NEW MEHKAR JANEPHAL NH- 548C	BULDHANA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
430	ON ANY SIDE OF ROHILAGAD PHATA, WITH IN 2 KMS, ON NH-211 (AURANGABAD-BEED HIGHWAY), ON RHS	AURANGABAD	Regular	330	OPEN	CC	50	60	3000	25	10	Bidding	30	5
431	WITHIN 3 KM FROM SHEGAON TEHSIL OFFICE, ON MAIN ROAD SHEGAON (NOT ON SH)	BULDHANA	Regular	163	OBC	DC	40	45	1800	25	45	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		oum Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
432	VILLAGE HIWARKHED, ON CHIKHLI- KHAMGAON NEW NH- 548C	BULDHANA	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
433	BETWEEN 1.5 KM AND 6 KM FROM NANDURA RAILWAY STATION ON NANDURA - JALGAON JAMOD ROAD	BULDHANA	Regular	200	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
434	VILLAGE BHALGAON ON PAITHAN PANDHARPUR ROAD NH- 752E	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
435	VILLAGE BANPIMPRI ON AHMEDNAGAR SOLAPUR ROAD NH-516A ON RHS TOWARDS SOLAPUR	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
436	VILLAGE NIMGAON JALLI ON LONI - SANGAMNER ROAD	AHMEDNAGAR	Regular	160	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
437	WITHIN 2 KMS FROM MAHAVEER STAMBH TOWARDS AURANGABAD ON AURANGABAD PAITHAN ROAD	AURANGABAD	Regular	180	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
438	2 KM BOTH SIDES OF KM STONE NUMBER 148 ON LHS TOWARD AHMEDNAGAR ON SH-10(NH-160)	AHMEDNAGAR	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
439	VILLAGE DAGADWADI, ON NEW DEULGAONRAJA CHIKHLI NH -753A	BULDHANA	Regular	150	OPEN CC 1	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
440	VILLAGE JAYAGUDE AKHADA, ON SHRIRAMPUR NEWASA ROAD ON SH- 44	AHMEDNAGAR	Regular	150	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
441	FROM DONGAON OLD PWD CIRCUIT HOUSE UP TO 7 KM TOWARDS MEHKAR ON NEW NH 753C	BULDHANA	Regular	150	SC	CFS	45	60	2700	0	0	DRAW OF LOTS	0	3
442	SANGAMNER, WITHIN MUNICIPAL LIMIT ON MAIN ROAD(NOT ON STATE HIGHWAY)	AHMEDNAGAR	Regular	140	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
443	KOPARGAON, WITHIN MUNICIPAL LIMIT (NOT ON ANY STATE HIGHWAY)	AHMEDNAGAR	Regular	140	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
444	UPTO 4 KM FROM NEWASA PHATA TOWARDS AHMEDNAGAR ON LHS ON NH-753F	AHMEDNAGAR	Regular	150	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
445	ON NEW BYPASS OF DEULGAON RAJA, ON NH-753 A	BULDHANA	Regular	150	OPEN	DC	45	60	2700	25	75	DRAW OF LOTS	15	5
446	WITHIN 3 KM ON LHS, FROM BHALGAON PHATA TOWARDS BEED ON NH. 211.	AURANGABAD	Regular	180	ST	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
447	VILLAGE KARNAWAL, TALUKA MANTHA ON NEW NH 752I	JALNA	Regular	150	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
448	VILLAGE PIMPARKHEDA, TALUKA PARTUR, ON NEW NH- 548C	JALNA	Regular	180	OPEN	CC	50	60	3000	25	10	Bidding	30	5
449	WITHIN 2 KM OF TARAKPUR BUS STAND ON TARAKPUR ROAD SH10(NH160)	AHMEDNAGAR	Regular	160	OPEN	CC	25	25	625	25	10	Bidding	30	5
450	VILLAGE VADZIRE ON PARNER ALKUTI ROAD SH- 69	AHMEDNAGAR	Regular	120	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
451	FROM SHRI SHIVAJI HIGH SCHOOL IN MEHKAR CITY UP TO 3 KM TOWARDS RISOD	BULDHANA	Regular	150	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4

SI No		Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		oum Dimension		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
452	AURANGABAD, WITHIN MUNCIPAL LIMITS (3) ON MAIN ROAD	AURANGABAD	Regular	150	OPEN	DC	22	22	484	25	60	DRAW OF LOTS	15	5
453	FROM SHARNAPUR PHATA TOWARDS CANTONMENT NAKA ON LHS	AURANGABAD	Regular	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
454	VILLAGE VADALA BAHIROBA ON NEW NH- 753F (OLD SH- 60)	AHMEDNAGAR	Regular	150	OBC	DC	50	60	3000	25	75	DRAW OF LOTS	15	4
455	WITHIN 3 KM OF INTERSECTION OF AURANGABAD-JALGAAON ROAD & RAJUR ROAD, TOWARDS RAJUR	AURANGABAD	Regular	100	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
456	WITHIN 3 KM FROM PISHORE POLICE STATION, ON PISHORE TO BHARAMA TANDA STATE HIGHWAY	AURANGABAD	Regular	130	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
457	WITHIN 3 KM FROM HPCL - RIDHORA, OUTLET (KRISHI KENDRA, RIDHORA) ON RHS FROM AKOLA TO VYALA ON NH-6.	AKOLA	Regular	150	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
458	ON AURANGABAD-PUNE HIGHWAY, WITHIN 4 KMS FROM WALLUJ POLICE STATION TOWARDS PUNE ON RHS	AURANGABAD	Regular	180	OBC	DC	45	60	2700	25	75	DRAW OF LOTS	15	4
459	LAMINGTON ROAD, MUMBAI CENTRAL	MUMBAI CITY	REGULAR	200	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
460	WORLI	MUMBAI CITY	REGULAR	300	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
461	WITHIN RADIUS OF 1000 MTRS OF MARATHA MANDIR CINEMA MUMBAI CENTRAL	MUMBAI CITY	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
462	BHAKTIPARK	MUMBAI SUBURBAN	REGULAR	700	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
463	EASTERN FREEWAY ON RHS GOING TOWARDS CST STATION	MUMBAI SUBURBAN	REGULAR	400	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
464	DADAR	MUMBAI CITY	REGULAR	250	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
465	ON WESTERN EXPRESS HIGHWAY, BETWEEN BORIVALI AND GOREGAON ON RIGHTHAND SIDE, TOWARDS GOREGAON	MUMBAI SUBURBAN	REGULAR	500	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
466	ON MAHUL ROAD CHEMBUR BETWEEN MAHUL TO CHEMBUR NAKA	MUMBAI SUBURBAN	REGULAR	250	OPEN CC 1	DC	25	25	625	25	60	DRAW OF LOTS	15	5
467	NAHUR	MUMBAI SUBURBAN	REGULAR	300	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
468	ON EASTERN EXPRESS HIGHWAY BETWEEN VIKROLI TO MULUND	MUMBAI SUBURBAN	REGULAR	450	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
469	BETWEEN BORIVALI AND DAHISAR ON L LINK ROAD	MUMBAI SUBURBAN	REGULAR	450	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
470	DEONAR	MUMBAI SUBURBAN	REGULAR	700	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
471	EASTERN FREEWAY ON LHS GOING TOWARDS TOWARDS CST STATION	MUMBAI SUBURBAN	REGULAR	400	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	required	Draw of Lots/Biddi	11	12
472	AAREY COLONEY GOREGAON	MUMBAI SUBURBAN	REGULAR	350	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
473	ON JOGESHWARI VIKROLI LINK ROAD ON RIGHT HAND SIDE TOWARDS JOGESHWARI	MUMBAI SUBURBAN	REGULAR	450	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
474	ON JOGESHWARI VIKROLI LINK ROAD ON LEFT HAND SIDE TOWARDS JOGESHWARI	MUMBAI SUBURBAN	REGULAR	450	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
475	BETWEEN BORIVALI AND DAHISAR ON LINK ROAD	MUMBAI SUBURBAN	REGULAR	350	OPEN CC 2	DC	25	25	625	25	60	DRAW OF LOTS	15	5
476	MULUND WEST	MUMBAI SUBURBAN	REGULAR	400	OBC CC 1	DC	25	25	625	25	60	DRAW OF LOTS	15	4
477	WADALA	MUMBAI CITY	REGULAR	350	ST CC 1	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
478	MULUND EAST	MUMBAI SUBURBAN	REGULAR	400	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
479	MANKHURD LINK ROAD BETWEEN GHATKOPAR AND MANKHURD	MUMBAI SUBURBAN	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
480	ON WESTERN EXPRESS HIGHWAY, BETWEEN BORIVALI AND GOREGAON ON LEFT HAND SIDE TOWARDS GOREGAON	MUMBAI SUBURBAN	REGULAR	500	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
481	DHARAVI	MUMBAI CITY	REGULAR	220	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
482	CHARKOP	MUMBAI SUBURBAN	REGULAR	450	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
483	VILLAGE GORAI	MUMBAI SUBURBAN	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
484	DAMUNAGAR (KANDIVALI EAST)	MUMBAI SUBURBAN	REGULAR	450	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
485	NEW LINK ROAD ANDHERI TO DAHISAR	MUMBAI SUBURBAN	REGULAR	300	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
486	ON JUHU TARA ROAD	MUMBAI SUBURBAN	REGULAR	200	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
487	ON ANDHERI GHATLOPAR LINK ROAD (AGLR)	MUMBAI SUBURBAN	REGULAR	300	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
488	VIKHROLI ON EASTERN EXPRESS HGHWAY	MUMBAI SUBURBAN	REGULAR	300	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
489	KANJUR ON EASTERN EXPRESS HIGHWAY	MUMBAI SUBURBAN	REGULAR	300	OPEN CC 1	DC	25	25	625	25	60	DRAW OF LOTS	15	5
490	BHANDUPESWAR KUND BHANDUP	MUMBAI SUBURBAN	REGULAR	300	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
491	GOREGAON MULUND LINK ROAD (GMLR)	MUMBAI SUBURBAN	REGULAR	300	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	4 (Regular/Rural)	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	d fund required for	Draw of Lots/Biddi	11	12
492	MULUND ON EASTERN EXPRESS HIGHWAY	MUMBAI SUBURBAN	REGULAR	300	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
493	MUMBAI CITY - WML	MUMBAI CITY	REGULAR	300	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
494	MUMBAI SUBURBAN - WML	MUMBAI SUBURBAN	REGULAR	300	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
495	YAVATMAL TOWN-MORE NAGAR, WITHIN 3 KMS FROM SHARDA CHOWK TOWARDS SAWADGAD ROAD	YAVATMAL	Regular	100	OPEN	СС	25	30	750	25	10	BIDDING	30	5
496	WANI TOWN-WITHIN 3KMS FROM WANI ST BUS STAND, TALUKA WANI NOT ON SH	YAVATMAL	Regular	100	OBC	DC	25	30	750	25	45	DRAW OF LOTS	15	4
497	DIGRAS TOWN-WITHIN 3KMS FROM DIGRAS ST BUS STAND, TALUKA DIGRAS, NOT ON SH	YAVATMAL	Regular	100	ST	CFS	25	30	750	0	0	DRAW OF LOTS	0	3
498	YAVATMAL TOWN WITHIN 3KMS OF VASANTRAO NAIK GOVT MEDICAL COLLEGE, TALUKA YAVATMAL	YAVATMAL	Regular	100	OPEN	СС	25	30	750	25	10	BIDDING	30	5
499	YAVATMAL TOWN-DARWAH ROAD, WITHIN YAVATMAL MUNICIPAL LIMITS	YAVATMAL	Regular	100	OPEN	DC	25	30	750	25	45	DRAW OF LOTS	15	5
500	MOUZA- WADGAON P, ON SH300, EITHER SIDE OF THE HIGHWAY, TALUKA-YAVATMAL	YAVATMAL	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
501	DHANGARWADI VILLAGE ON SH210, ON RHS WHILE TRAVELLING FROM DARWAH TO AARNI, TALUKA AARNI	YAVATMAL	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
502	WADKI ON NH-7, WITHIN 5KMS FROM WADKI POLICE STATION ON EITHER SIDE OF NH	YAVATMAL	Regular	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
503	NAGPUR-NANDED RING ROAD, ON NH-361, TALUKA-YAVATMAL	YAVATMAL	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
504	VEDABAI VILLAGE ON EITHER SIDE OF SH-234, TALUKA WANI	YAVATMAL	Regular	100	OBC PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
505	WITHIN 2KMS OF GUNJ PHATA ON SH-51, ON EITHER SIDE OF THE JUNCTION, TALUKA MAHAGAON	YAVATMAL	Regular	100	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
506	MAUJA DAWALPETH ON NH 361 ON LHS WHILE GOING FROM BUTIBORI TO WARDHA BETWEEN KM STONE 33 TO 36	NAGPUR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
507	CHILLI VILLAGE, RHS FROM MAHAGAON TOWARDS UMARKHED AT NH- 361. BETWEEN KM STONE 290 TO 295	YAVATMAL	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
508	ON SH-197 WITHIN 3KMS ON TRAVELLING FROM DIGRAS TOWARDS MANORA, TALUKA DIGRAS	YAVATMAL	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
509	WITHIN 3KMS OF KOPAMANDVI BUS STOP, TOWARDS PANDHARKAWADA, ON NH7	YAVATMAL	Regular	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
510	JODMOHA VILLAGE, ON EITHER SIDE OF MSH-14	YAVATMAL	Regular	100	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
511	CHANDRAPUR CITY-WITHIN 6 KMS FROM RAMNAGAR POLICE STATION ON CHANDRAPUR-NAGPUR ROAD, WHILE TRAVELLING TOWARDS NAGPUR ON EITHER SIDE OF THE ROAD	CHANDRAPUR	Regular	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
512	WITHIN 5KMS FROM LOHARA SQUARE YAVATMAL TOWARDS DARWHA ON EITHER SIDE OF SH-212	YAVATMAL	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
513	CHANDRAPUR CITY-WITHIN 2 KMS FROM CHANDA PUBLIC SCHOOL, ON DATALA-RAMNAGAR MAIN ROAD, WHILE TRAVELLING TOWARDS RAMNAGAR ON EITHER SIDE OF THE ROAD	CHANDRAPUR	Regular	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
514	WITHIN RAJURPHATA VILLAGE LIMITS TOWARDS YAVATMAL ON EITHER SIDE OF THE SH, TALUKA WANI	YAVATMAL	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
515	BHISHI VILLAGE, TALUKA CHIMUR WITHIN 4 KMS FROM STATE TRANSPORT BUS STOP NOT ON SH	CHANDRAPUR	Regular	100	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
516	BALHARSHAH CITY- WITHIN 3 KMS FROM TOWN ST BUS STAND WHILE TRAVELLING TOWARDS RAJURA ON LEFT HAND SIDE	CHANDRAPUR	Regular	100	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
517	AT TALODHI VILLAGE,IN NAGHBID TALUKA, ON MSH9	CHANDRAPUR	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
518	MENDHA VILLAGE, BRAHMAPURI TALUKA, ON NAGHBID- BRAHMAPURI MAIN ROAD ON EITHER SIDE OF THE ROAD.	CHANDRAPUR	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
519	DHANORA TOWN -WITHIN 4 KM FROM DHANORA PANCHAYAT SAMITI OFFICE, ON EITHER SIDE OF THE ROAD NOT ON SH	GADCHIROLI	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
520	BALHARSHAH CITY- WITHIN 3 KMS FROM TOWN ST BUS STAND WHILE TRAVELLING TOWARDS RAJURA ON RIGHT HAND SIDE NOT ON SH	CHANDRAPUR	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
521	BRAHMAPURI TOWN-WITHIN 5 KMS FROM BRAHMAPURI RAILWAY STATION NOT ON SH	CHANDRAPUR	Regular	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
522	GADCHIROLI TOWN - WITHIN 5 KMS FROM INDIRA GANDHI SQUARE,ON GADCHIROLI-CHAMORSHI ROAD WHILE TRAVELLING TOWARDS CHAMORSHI ON LEFT HAND SIDE	GADCHIROLI	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
523	GADCHIROLI TOWN - WITHIN 5 KMS FROM INDIRA GANDHI SQUARE,ON GADCHIROLI-CHAMORSHI ROAD WHILE TRAVELLING TOWARDS CHAMORSHI ON RIGHT HAND SIDE	GADCHIROLI	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
524	SIRONCHA TOWN, TALUKA SIRONCHA, ON NEW NH 63 (OLD NH NO : NH 16) ON EITHER SIDE OF THE HIGHWAY	GADCHIROLI	Regular	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
525	GONDIA CITY- WITHIN 6 KM FROM JAI STAMBH CHOWK ,ON GONDIA - AMGAON ROAD WHILE TRAVELLING TOWARDS AMGAON ON RIGHT HAND SIDE NOT ON SH	Gondia	Regular	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
526	ON NH6, LEFT HAND SIDE WHILE TRAVELLING FROM DEORI TO RAIPUR ROAD	Gondia	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi	11	12
527	VISORA VILLAGE, WADSA TALUKA ON NH353 C	GADCHIROLI	Regular	100	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
528	AAMGAON TOWN-WITHIN 3 KM FROM AMBEDKAR CHOWK ,ON AMGAON-LANJI ROAD, WHILE TRAVELLING TOWARDS LANJI ON EITHER SIDES	Gondia	Regular	100	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
529	SALEKASA TOWN - WITHIN 3 KM FROM AMBEDKAR SQUARE ON SH	Gondia	Regular	100	OPEN PH	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
530	ON SH-276, EITHER SIDE OF THE ROAD FROM DEORI TO AAMGAON (BALAGHAT), VILLAGE- KURATOLA	Gondia	Regular	100	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
531	ON NH6, BETWEEN KM STONE NO.427 TO KM STONE NO. 430 ON LEFT HAND SIDE WHILE TRAVELLING FROM DEORI TO RAIPUR	Gondia	Regular	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
532	WITHIN 3 KMS FROM BELORA ON SH24A (CHANDUR BAZAR - MAHULI JAHAGIR ROAD)	AMRAVATI	Regular	100	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
533	ON NH 548 C, WITHIN 4 KMS FROM PATHROT POLICE ST TOWARDS PARATWADA	AMRAVATI	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
534	WITHIN 10 KMS FROM HOTEL GATEWAY , ON GONDIA-BALAGHAT ROAD WHILE TRAVELLING TOWARDS BALAGHAT ON LEFT HAND SIDE	Gondia	Regular	100	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
535	ON NH6, WITHIN 4 KMS FROM TIWSA TOWARDS TALEGOAN ON LHS	AMRAVATI	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
536	ON NH 353 J, WITHIN 3 KMS FROM SHIRAJGAON BUS STOP TOWARDS PARATWADA	AMRAVATI	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
537	ON SH241, WITH IN 3 KMS FROM CHANDUR RAILWAY WHILE TRAVELLING FROM CHANDUR RAILWAY TO KURHA	AMRAVATI	Regular	100	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
538	WITHIN 10 KMS FROM HOTEL GATEWAY , ON GONDIA-BALAGHAT ROAD WHILE TRAVELLING TOWARDS BALAGHAT ON RIGHT HAND SIDE	Gondia	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
539	BHANDARA CITY WITHIN MUNICIPAL LIMIT	BHANDARA	Regular	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
540	ON SH241, WITH IN 3 KMS FROM DHANORA MHALI TOWARDS CHANDUR RAILWAY	AMRAVATI	Regular	100	OPEN CC 1	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
541	ON SH 199, WITHIN 4 KM FROM AMRAVATI - BADNERA NEW BY PASS BRIDGE TOWARDS BASLAPUR	AMRAVATI	Regular	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
542	ON SH 237, WITHIN 3 KMS FROM TIWSA WHILE TRAVELLING FROM TIWSA TO KURHA	AMRAVATI	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
543	BHUYAR TOWN ON NH 353 D (OLD SH 233) KM STONE BETWEEN 80 TO 83 ON RHS WHILE GOING TOWARDS CHANDRAPUR	BHANDARA	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (ii		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
544	NH - 6 (NEW NH- 53), JAWAHARNAGAR TO KHARBI, EITHER SIDE OF ROAD	BHANDARA	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
545	WITHIN 2 KM FROM RANALA VILLAGE ON KAMTEE - KALUMNA ROAD	NAGPUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
546	WITHIN 2 KMS FROM WARUD ON WARUD ASTHI ROAD (NH 347A)	AMRAVATI	Regular	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
547	PALANDUR TOWN NOT ON SH	BHANDARA	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
548	TUMSAR TOWN NOT ON SH	BHANDARA	Regular	100	OPEN	DC	40	40	1600	25	45	DRAW OF LOTS	15	5
549	WITHIN 7KMS FROM DHARNI TOWARDS HARISAL ON SH6	AMRAVATI	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
550	ON SH 200, WITHIN 4 KMS FROM KURHA VILLAGE TOWARDS AMRAVATI CITY	AMRAVATI	Regular	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
551	BELTARODI ROAD, FROM SOMALWADA-BESA ROAD TO T-POINT TOWARDS SHATABDI CHOWK	NAGPUR	Regular	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
552	HB TOWN SQUARE TO KAPSI ON LHS WHILE TRAVELLING TOWARDS KAPSI	NAGPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
553	WITHIN 4 KMS FROM JUNCTION OF DARYAPUR - ASEGAON PURANA ROAD (SH 201) & DARYAPUR - WALGAON ROAD (SH194), ON DARAYAPUR TO ASEGAON PURNA ROAD (SH201)	AMRAVATI	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
554	ON SH 212, WITHIN 3 KM FROM VILLAGE TAKALI WHILE TRAVELLING TOWARDS DARYAPUR	AMRAVATI	Regular	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
555	MAUZA JAMTHA ,OUTER RING ROAD OF NAGPUR	NAGPUR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
556	WITHIN 3 KMS FROM CHANDUR BAZZAR TOWARDS RIDHAPUR ON CHANDUR BAZAR - MORSHI ROAD (NH353J)	AMRAVATI	Regular	100	OBC	DC	20	30	600	25	75	DRAW OF LOTS	15	4
557	JARIPATKA RING ROAD FROM JARIPATKA POLICE STATION SQUARE TO KAMPTEE ROAD ON LHS	NAGPUR	Regular	150	OPEN	СС	20	30	600	25	10	BIDDING	30	5
558	KADHOLI VILLAGE, TALUKA - KAMPTEE ON NH-6, ON LHS WHILE TRAVELLING FROM NAGPUR TO BHANDARA	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
559	WITHIN 5 KMS FROM BHUGAON VILLAGE ON PARATWADA TO AMRAVATI ROAD (SH6)	AMRAVATI	Regular	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
560	ON SH-271 - FROM SIHORA - VILLAGE TO BAPERA VILLAGE	BHANDARA	Regular	100	ОВС	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
561	NAGPUR CITY - SOMALWADA RAILWAY CROSSING TO MANISH NAGAR T-POINT	NAGPUR	Regular	150	OPEN	СС	20	30	600	25	10	BIDDING	30	5
562	NAGPUR CITY, ITWARI	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
563	ON NH 6 MAUZA SOANGI ON LEFT HAND SIDE WHILE TRAVELLING TO SADAK ARJUNI.	GONDIA	Regular	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund	Draw of	1	12
564	WITHIN 8KM FROM VILLAGE METPANJRA ST BUS STAND ON SH 248	NAGPUR	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
565	NAGPUR RING ROAD - FROM DIGHORI CHOWK TO MALGI NAGAR SQUARE ON LHS WHILE TRAVELLLING TOWARDS MALGI NAGAR SQUARE	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
566	LHS ON SH -248 WITHIN 8 KM FROM JALALKHEDA ST BUS STAND TOWARDS KATOL	NAGPUR	Regular	100	OPEN CC 1	DC	20	30	600	25	60	DRAW OF LOTS	15	5
567	DEOLI TOWN WITHIN 4 KM FROM ST BUS STAND NOT ON SH	wardha	Regular	100	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
568	SEWAGRAM TOWN WITHIN 3 KM FROM SEWAGRAM ST BUS STAND TOWARDS MANDGAON VILLAGE	Wardha	Regular	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
569	ON NH 6 BETWEEN KM STONE 525 TO 535 ON LEFT HAND SIDE WHILE GOING TO NAGPUR FROM BHANDARA	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
570	ON LHS WHILE GOING FROM KALAMNA MARKET CHOWAK TO KALAMNA OVER BRIDGE CHOWK	NAGPUR	Regular	150	OPEN	CC	20	30	600	25	10	BIDDING	30	5
571	TALEGAON TO ARVI ON SH-244	Wardha	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
572	VILLAGE SAMUDRAPUR WITHIN 1 KM FROM ST BUS STAND NOT ON SH	Wardha	Regular	100	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
573	ON NEW OUTER RING ROAD NH-7, LHS TRAVELLING FROM KHAPRI VILLAGE TO TEKADI, FROM KM STONE NO. 752 TO KM STONE NO. 704	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
574	ON NH- 6, RHS WHILE TRAVELLING NAGPUR TO BHANDARA (WITHIN 1 KM FROM THE MAINGATE OF M/S SHWETAL INDUSTRIES)	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
575	VILLAGE ASHTI ON TALEGAON-ASHTI ROAD (SH -244)	Wardha	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
576	ON NH 7 BETWEEN KM STONES 712 TO 717 ON LEFT HAND SIDE WHILE GOING FROM NAGPUR TO MANSAR	NAGPUR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
577	YERLA ON KATOL ROAD	NAGPUR	Regular	100	SC CC 1	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
578	NER TOWN-WITHIN 3KMS FROM NER POST OFFICE TOWARDS YAVATMAL NOT ON SH	YAVATMAL	Regular	100	OPEN CC 2	DC	20	30	600	25	45	DRAW OF LOTS	15	5
579	CHANDRAPUR CITY-WITHIN 6 KMS FROM RAMNAGAR POLICE STATION ON CHANDRAPUR-DURGAPUR ROAD, WHILE TRAVELLING TOWARDS DURGAPUR ON EITHER SIDE OF THE ROAD	CHANDRAPUR	Regular	100	OBC CC 1	DC	20	30	600	25	45	DRAW OF LOTS	15	4
580	ON NH 7 ON LEFT HAND SIDE WHILE GOING TOWARDS MANSAR BETWEEN KANHAN TEKADI TO AMDI PHATA	NAGPUR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN BH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
581	CHANDRAPUR CITY-WITHIN 6 KMS FROM RAMNAGAR POLICE STATION ON CHANDRAPUR-MUL ROAD, WHILE TRAVELLING TOWARDS MUL ON EITHER SIDE OF THE ROAD	CHANDRAPUR	Regular	100	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
582	MUL TOWN, TALUKA MUL WITHIN 5KM FROM MUL ST BUS STAND, NOT ON SH	CHANDRAPUR	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
583	ON NH-6, FROM RABDIWALA RESTAURANT TO VILLAGE LAPKA ON LHS WHILE TRAVELLING FROM NAGPUR TO BHANDARA	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
584	ON NH-7, FROM MANSAR T-POINT TO ONE KM BEFORE MAHRASHTRA BORDER CHECK POST ON EITHER SIDE OF ROAD	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
585	WARORA TOWN-FROM RELIANCE PETROL PUMP TO VIDEOCON FACTORY, ON LEFT HAND SIDE WHILE TRAVELLING FROM WARORA TO NAGPUR NOT ON SH	CHANDRAPUR	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
586	ON NH930 FROM PADOLI CHOWK TO TADALI OLD TOLL NAKA ,ON LEFT HAND SIDE OF THE ROAD WHILE TRAVELLING TOWARDS NAGPUR	CHANDRAPUR	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
587	ON NH-7, RHS TRAVELLING FROM MANSAR TO DEOLAPAR, FROM KM STONE NO. 685 TO KM STONE NO. 652	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
588	ON SH - 249, FROM PARSEONI VILLAGE TO AMDI PHATA, ON EITHER SIDE OF ROAD	NAGPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
589	ON NH353C ,BETWEEN KM STONE NO 89 TO KM STONE NO. 93, ON LEFT HAND SIDE WHILE TRAVELLING FROM GADCHIROLI TO ARMORI	GADCHIROLI	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
590	WITHIN 3.0 KMS FROM ARMORI ST BUS STAND, ON NH 353C ,WHILE TRAVELLING TOWARDS GADDCHIROLI ON EITHER SIDE OF THE ROAD.	GADCHIROLI	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
591	SOMALWADA-BESA-PIPLA ROAD ON EITHER SIDE FROM INTERSECTION AT PURSHOTTAM BAZAR SIDE TO JUNCTION WITH HUDKESHWAR ROAD	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
592	ON NH548C, WITHIN 4 KMS FROM ANJANGAON WHILE TRAVELLING FROM ANJANGAON TO PARATWADA	AMRAVATI	Regular	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
593	IN BETWEEN D MART & WAL-MART, ON AMRAVATI TO BANDNERA ROAD , NOT ON SH	AMRAVATI	Regular	150	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
594	ON NHG IN BETWEEN NANDGAONPETH & SAWARDI ON LHS WHILE TRAVELING TOWARDS NAGPUR	AMRAVATI	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
595	WADODA ON NH-6, ON EITHER SIDE WHILE TRAVELLING FROM NAGPUR TO BHANDARA	NAGPUR	Regular	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
596	KANHAN TOWN ON NAGPUR - JABALPUR ROAD NOT ON SH OR NH	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
597	ON AMRAVATI OLD BY PASS ROAD	AMRAVATI	Regular	150	ОВС	DC	20	30	600	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		oum Dimension		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	d fund required for	Draw of Lots/Biddi	11	12
598	NAGPUR CITY - FROM MANEWADA SQUARE TO BESA CHOWK ON EITHER SIDE OF ROAD	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
599	WITHIN 3 KMS FROM RIDHAPUR VILLAGE ON CHANDUR BAZAR - MORSHI ROAD (NH 353J)	AMRAVATI	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
600	ON LEFT HAND SIDE WHILE GOING FROM WATHODA SQUARE TO PRAJAPATI SQUARE	NAGPUR	Regular	150	OPEN	CC	20	30	600	25	10	BIDDING	30	5
601	CHATRAPATI SQUARE TO HINGNA T POINT	NAGPUR	Regular	150	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
602	ON RAMESHWARI ROAD FROM SHATABDI NAGAR SQUARE TO RIDGE ROAD T POINT	NAGPUR	Regular	150	OPEN	CC	20	30	600	25	10	BIDDING	30	5
603	NAVSARI VILLAGE TO CHANGAPUR PHATA WITHIN MINCIPAL LIMT, NOT ON SH	AMRAVATI	Regular	150	ST PH	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
604	FROM TUKDUJEE PUTLA TO MANEWADA SQUARE	NAGPUR	Regular	150	OBC PH	DC	20	30	600	25	60	DRAW OF LOTS	15	4
605	ADDITIONAL MIDC BUTIBORI NOT ON SH	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	45	DRAW OF LOTS	15	5
606	DEENDAYAL NAGAR IN NAGPUR WML	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
607	ON NH6, IN BETWEEN SAWARDI & PIMPALVIHIR ON LHS TOWARDS NAGPUR	AMRAVATI	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
608	NAGPUR CITY - TELEPHONE SQUARE ON UMRED ROAD TO NARSALA	NAGPUR	Regular	150	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
609	FROM KHAMLA TO JAITALA IN NAGPUR CITY	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
610	KALMESHWAR (WML)	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	45	DRAW OF LOTS	15	5
611	ON OLD NH-7 LHS, KAPSI TO KANHAN, WITHIN 10 KM FROM KAPSI	NAGPUR	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
612	BAJAJNAGAR IN NAGPUR WML	NAGPUR	Regular	150	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
613	RHS ON NH-6 FROM NBP TOLL PLAZA TO WELA VILLAGE	NAGPUR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
614	LHS ON NH-6 FROM GONDKHERI TO WADI LHS ON NH-6 WHILE TRAVELLING FROM KONDALI TO GONDKHERI	NAGPUR NAGPUR	Regular Regular	150 150	OPEN OPEN	CC DC	45 45	45 45	2025 2025	25 25	10 75	DRAW OF	30 15	5 5
616	FROM DINSHAW FACTORY TO GOREWADA SQUARE IN NAGPUR CITY	NAGPUR	Regular	150	OBC	DC	20	30	600	25	60	DRAW OF	15	4
617	FROM LAXMI NAGAR TO KHAMLA IN NAGPUR CITY	NAGPUR	Regular	150	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
618	JARIPATKA IN NAGPUR WML	NAGPUR	Regular	150	OPEN CC 1	DC	20	30	600	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
619	ARVI TOWN NOT ON SH	Wardha	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
620	LHS ON NH-69 FROM KORADI TEMPLE TO SAONER	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
621	LHS ON NH-6 WHILE TRAVELLING FROM PALORA TO KARANJA (GHADGE)	Wardha	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
622	HINGHANGHAT ON NH-7 WITHIN 5 KM FROM NANDGAON SQUARE CHOWK ON LHS TOWARDS JAMB	Wardha	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
623	MIDC BUTIBORI	NAGPUR	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
624	HINGHANGHAT ON NH-7 WITHIN 5 KM FROM NANDGAON SQUARE CHOWK ON LHS TOWARDS PANDARKAWDA	Wardha	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
625	ON LHS FROM VILLAGE KARANJA GHADGE TO TALEGAON ON NH -6	Wardha	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
626	ON NH 361 LEFT HAND SIDE TOWARDS YEOTMAL ON VILLAGE RATNAPUR	WARDHA	Regular	150	SC CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
627	ON NH 7 LEFT HAND SIDE TOWARDS CHNANDRAPUR BETWEEN KM STONE 45 TO 47	WARDHA	Regular	150	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
628	ON NH-7 FROM BOTHLI TO KHAPRI TOWARDS NAGPUR ON LHS	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
629	PULGAON TOWN WITHIN MUNCIPAL LIMIT NOT ON SH OR NH	Wardha	Regular	100	OPEN PH	DC	20	30	600	25	45	DRAW OF LOTS	15	5
630	ON NH 353 J, BETWEEN KM STONE 45 TO 50 ON LEFT HAND SIDE WHILE GOING TO KATOL FROM NAGPUR	NAGPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
631	PAGALKHANA SQUARE TO KORADI ON LHS WHILE GOING TOWARDS KORADI, NOT ON SH	NAGPUR	Regular	150	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
632	ON NH-7 FROM KHAPRI TO BOTHLI TOWARDS BUTIBORI ON LHS	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
633	SAONER TOWN, NOT ON SH	NAGPUR	Regular	100	OBC	DC	40	40	1600	25	45	DRAW OF LOTS	15	4
634	ON NH 361 BETWEEN KM STONE 487 TO 490 ON RIGHT HAND SIDE WHILE TRAVELING FROM NAGPUR TO WARDHA	Wardha	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
635	ZINGABAITAKLI IN NAGPUR WML	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
636	LHS ON NH-69 FROM SAONER TO KORADI TEMPLE	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
637	LHS 3 KM FROM FETRI TO WARDHAMANA NEW OUTER RING ROAD	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
638	WADI JUNCTION TO LAW COLLEGE SQUARE IN NAGPUR CITY ON EITHER SIDE	NAGPUR	Regular	150	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		num Dimension of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for	Draw of Lots/Biddi ng	#	12
639	WITHIN 4 KM FROM VILLAGE KANDHLI ON NH-7 WHILE TRAVELLING TOWARDS JAMB	Wardha	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
640	ON NH 6 MAUZA NANDAGON PETH BHAG 2 BETWEEN KM STONE 143 TO 145 ON LEFT HAND SIDE WHILE GOING FROM NANDGAON PETH TO AMRAVATI	AMRAVATI	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
641	ON NARI ROAD, DIST. NAGPUR, WML BETWEEN RENAISSANCE COLLEGE & NARI VILLAGE	NAGPUR	Regular	150	OPEN CC 1	DC	20	30	600	25	60	DRAW OF LOTS	15	5
642	DARWHA CITY WITHIN 3KMS FROM DARWHA CENTRAL ST BUS STAND, TALUKA DARWAH, NOT ON SH	YAVATMAL	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
643	LHS ON NH-69 IN MANEGAON FROM NAGPUR TO SAONER	NAGPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
644	ON AMRAVATI NEW BY PASS ROAD	AMRAVATI	Regular	100	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
645	RALEGAON TOWN-WITHIN 3KMS FROM RALEGAON ST BUS STAND, TALUKA RALEGAON NOT ON SH	YAVATMAL	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
646	ON NH 6 BETWEEN KM STONE 505 TO 520 ON RIGHT HAND SIDE WHILE GOING TO NAGPUR FROM BHANDARA	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
647	ON NH-6(NEW NH53) ON LHS WHILE GOING FROM BHANDARA TO RAIPUR BETWEEN KM STONE 475 TO 480.	BHANDARA	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
648	AKOLA BAZAR, WITHIN 3KM OF HANUMAN MANDIR ON AKOLA BAZAR ROAD NOT ON SH	YAVATMAL	Regular	100	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
649	WITHIN 3 KMS FROM UMARKHED TOWN TOWARDS HADGAON ON NH- 361	YAVATMAL	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
650	FROM WARDHAMAN NAGAR SQUARE TO SHITLA MATA MANDIR ON EITHER SIDE OF THE ROAD	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
651	WHILE GOING FROM UMRED TO BUTOBORI ON LHS WITHIN 3 KM RANGE FROM MAKARDHOKALA CITY	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
652	DHANODA VILLAGE, TALUKA MAHAGAON, ON LHS WHILE TRAVELLING FROM ARNI TO MAHAGAON ON NH-361	YAVATMAL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
653	UMARKHED TOWN, ON UMARKHED-PUSAD ROAD, TALUKA UMARKHED. NOT ON SH	YAVATMAL	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
654	WITHIN 1 KM RANGE FROM KALAMANA MARKET SQUARE	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
655	ON NH -6, WITHIN KM STONE 497 TO 502 ON BOTH SIDE.	BHANDARA	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
656	WITHIN 5 KMS FROM JUNCTION OF NH548C (ANJANGAON - AKOT ROAD) & SH212 (ANJANGOAN - DARYAPUR ROAD) IN ANJANGAON TOWARDS AKOT ON NH548C	AMRAVATI	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN RH	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund	Draw of		12
657	WITIN 2 KMS FROM HANUMANJI TEMPLE SAWALI, ON LHS WHILE TRAVELING FROM PARATWADA TO ANAJANGAON ON NH548C [PARATWADA - ANJANGAON ROAD]	AMRAVATI	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
658	RHS ON NH-69 IN MOUZA: MANEGAON FROM NAGPUR TO SAONER	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
659	WITHIN TWO KMS EITHER SIDE FROM SUNFLAG STEEL WARTHI, BHANDARA ON SH 271	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
660	WITHIN 3 KMS FROM ESSAR LAXMI PETROL PUMP TOWARDS MORSHI ON NH353J (MORSHI - WARUD ROAD)	AMRAVATI	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
661	WITHIN 3 KMS FROM BENODA POLICE STATION ON NH353J (MORSHI - WARUD ROAD)	AMRAVATI	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
662	LHS ON NH-7 BETWEEN KM STONE 47 TO 57 FROM NAGPUR TO JAMB	Wardha	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
663	RHS IN MOUZA : CHIMNAZARI ON NH-7 FROM NAGPUR TO JAMB	NAGPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
664	WITHIN 3 KMS FROM JUNCTION OF NH6 & NH353K IN NANDGAONPETH, ON LHS WHILE TRAVELING FROM NANDGAONPETH TO MORSHION NH353K (NANDGAONPETH - MORSHI ROAD)	AMRAVATI	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
665	WITHIN 8KM OF JAMIA MASJID MOHADA ON RHS WHILE TRAVELLING FROM WANI TO YAVATMAL, MSH-14	YAVATMAL	Regular	100	OPEN	СС	40	40	1600	25	10	BIDDING	30	5
666	WITHIN MUNICIPAL LIMITS OF DHAMANGAON TOWN, NOT ON SH	AMRAVATI	Regular	100	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
667	WITHIN MUNICIAPAL LIMITS OF CHANDUR RAILWAY TOWN, NOT ON SH	AMRAVATI	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
668	WITHIN MUNICIPAL LIMITS OF WARUD TOWN, NOT ON SH	AMRAVATI	Regular	100	OPEN CC 1	DC	20	30	600	25	45	DRAW OF LOTS	15	5
669	PANDHARKAWDA ON SH 7	CHANDRAPUR	Regular	100	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
670	WITHIN MUNICIPAL LIMITS OF CHANDUR BAZAR TOWN, NOT ON SH	AMRAVATI	Regular	100	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
671	WITHIN MUNICIPAL LIMITS OF DHARNI TOWN, NOT ON SH	AMRAVATI	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
672	AT TALODHI VILLAGE, TALUKA : NAGHBID ON MSH 9	CHANDRAPUR	Regular	100	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
673	IN VISAPUR VILLAGE, ON SH - 264, BETWEEN KM STONE NO.97 TO KM STONE NO. 99,WHILE GOING TOWARDS BALLARSHAH	CHANDRAPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
674	WITHIN MUNICIPAL LIMITS OF MORSHI TOWN, NOT ON SH	AMRAVATI	Regular	100	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		num Dimensi of the site (ii 8		arrange App	e to be	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of	-11	12
675	WITHIN MUNICIPAL LIMITS OF DARYAPUR TOWN, NOT ON SH	AMRAVATI	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
676	GADCHIROLI TOWN- WITHIN 10 KMS FROM INDIRA GANDHI SQUARE, ON GADCHIROLI-ARMORI ROAD,WHILE TRAVELLING TOWARDS ARMORI ON LEFT HAND SIDE	GADCHIROLI	Regular	100	OPEN	СС	40	40	1600	25	10	BIDDING	30	5
677	WITHIN MUNICIPAL LIMITS OF ANJANGAON SURJI TOWN, NOT ON SH	AMRAVATI	Regular	100	OPEN CC 2	DC	20	30	600	25	45	DRAW OF LOTS	15	5
678	WITHIN MUNICIPAL LIMTS OF NANDGAON KHANDESHWAR TOWN, NOT ON SH	AMRAVATI	Regular	100	OBC CC 1	DC	20	30	600	25	45	DRAW OF LOTS	15	4
679	ON SH 199, WITHIN 2 KMS FROM HIWRA BUDRUK TOWARDS KAMARGAON	AMRAVATI	Regular	100	ST CC 1	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
680	ON NH-7 BETWEEN GHATSAWLI TO DARODA ON LEFT HAND SIDE WHILE GOING FROM HINGANGHAT TO PANDARKAWDA	Wardha	Regular	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
681	ON SH 251 BETWEEN VILLAGE CHINCHOLI TO GOBERVAHI ON EITHER SIDE OF THE ROAD.	BHANDARA	Regular	100	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
682	WITHIN 4 KMS FROM SARFAPUR VILLAGE ON SHIRAJGAON KASBA TO KARANJA BAHIRAM ROAD (SH24A)	AMRAVATI	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
683	GADCHIROLI TOWN- WITHIN 5 KMS FROM INDIRA GANDHI SQUARE, ON GADCHIROLI-DHANORA ROAD, WHILE TRAVELLING TOWARDS DHANORA ON RIGHT HAND SIDE	GADCHIROLI	Regular	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
684	ON SH-271 - VILLAGE KARDHA UP TO 20 KMS FROM KARDHA VIILAGE ON ADYAL ROAD	BHANDARA	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
685	RUYAD- PAONI ROAD, WITHIN 3 KM OF MAHA SAMADHI SQUARE	BHANDARA	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
686	GADCHIROLI TOWN- WITHIN 10 KMS FROM INDIRA GANDHI SQUARE, ON GADCHIROLI-ARMORI ROAD,WHILE TRAVELLING TOWARDS ARMORI ON RIGHT HAND SIDE	GADCHIROLI	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
687	ON SH 262 FROM UMRED TO KUHI ON RHS WHILE GOING TO KUHI BETWEEN KM STONES 4 TO 10	NAGPUR	Regular	100	OPEN	СС	40	40	1600	25	10	BIDDING	30	5
688	GADCHIROLI TOWN - WITHIN 6 KMS FROM INDIRA GANDHI SQUARE,ON GADCHIROLI-CHANDRAPUR ROAD WHILE TRAVELLING TOWARDS CHANDRAPUR ON LEFT HAND SIDE	GADCHIROLI	Regular	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
689	ON SH-253, EITHER SIDE OF TARSA-RAMTEK ROAD, WITHIN 3 KM FROM CHACHER RAILWAY CROSSING NEAR ULTRATECH PLANT	NAGPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
690	GADCHIROLI TOWN - WITHIN 6 KMS FROM INDIRA GANDHI SQUARE,ON GADCHIROLI-CHANDRAPUR ROAD WHILE TRAVELLING TOWARDS CHANDRAPUR ON RIGHT HAND SIDE	GADCHIROLI	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
691	AMGAON VILLAGE, WADSA TALUKA ON SH	GADCHIROLI	Regular	100	OPEN CC 1	DC	40	40	1600	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (i		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
692	MALEWADA VILLAGE IN KURKHEDA TALUKA ON KURKHEDA-DHANORA HIGHWAY	GADCHIROLI	Regular	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
693	UMRED - MAKARDHOKDA ROAD, WITHIN 5 KM FROM UMRED	NAGPUR	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
694	ON SH-261 FROM KUHI VILLAGE TO UMRED TOWN, ON EITHER SIDE OF KUHI-UMRED ROAD	NAGPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
695	DAHEGAON -KHAPARKHEDA ROAD ON SH 267	NAGPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
696	VILLAGE SAWARGAON WITHIN 10 KM ON SH 324 WHILE TRAVELLING TOWARDS KATOL	NAGPUR	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
697	WITHIN 3KM FROM VILLAGE MOHPA ON SH250	NAGPUR	Regular	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
698	FROM KALMESHWAR TO SAONER ON SH-250 ON EITHER SIDE	NAGPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
699	FROM VILLAGE KHAPA TO SAONER ON SH 249	NAGPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
700	LAXMI NAGAR WITHIN NAGPUR CITY	NAGPUR	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
701	ON LHS FROM SALOD -HIRPUR JUNCTION TO DAHEGAON ON SH 243	Wardha	Regular	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
702	LHS ON GONDKHERI -KALMESHWAR BYEPASS WHILE TRAVELLING TOWARDS KALMESHWAR	NAGPUR	Regular	150	OPEN	DC	45	45	1600	25	60	DRAW OF LOTS	15	5
703	ON LHS WHILE TRAVELLING FROM FETRI VILLAGE TO DAHEGAON VILLAGE ON SH 248	NAGPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
704	BORGAON VILLAGE, WITHIN 1KM FROM BORGAON ST BUS-STAND ON WARDHA -WAIGAON ROAD NOT ON SH	Wardha	Regular	100	OBC PH	DC	20	30	600	25	45	DRAW OF LOTS	15	4
705	WITHIN 3KM FROM INZAPUR VILLAGE TOWARDS WAIGAON ON SH 253	Wardha	Regular	100	SC PH	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
706	ON LHS WITHIN 8 KM STRETCH FROM BUTIBORI Y JUNCTION TOWARDS WARDHA ON SH 3	NAGPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
707	ON RHS WITHIN 8 KM STRETCH FROM BUTIBORI Y JUNCTION TOWARDS WARDHA ON SH-3	NAGPUR	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
708	ON RINGROAD (SH-260) FROM WADI TO MANKAPUR CHOWK	NAGPUR	Regular	150	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
709	VILLAGE KAJALI ON SH- 247	Wardha	Regular	100	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
710	ON SH 258 MAUZA MANDGAON TALUKA SAMUDRA PUR DIST WARDHA ON EITHER SIDE OF GREAT NAGPUR ROAD, BETWEEN ASHOKA SQUARE	Wardha	Regular	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS DRAW OF	0	3
711	AND KDK COLLEGE SQUARE	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	d fund	Draw of Lots/Biddi	11	12
712	ON SH 253 , WHILE GOING FROM MOHADA TO RAMTEK ON RHS BETWEEN KM STONE 10 TO 20	NAGPUR	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
713	WITHIN 3 KM FROM HINGNA POLICE STN ON EITHER SIDE OF ROAD TOWRDS KANOLI BARA	NAGPUR	Regular	150	OPEN	CC	20	30	600	25	10	BIDDING	30	5
714	WITHIN 4 KMS FROM SHEGAON SQUARE, NOT ON SH	AMRAVATI	Regular	150	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
715	MOUZA-DAHISAWALI, ON NH-361, EITHER SIDE OF THE ROAD, TALUKA MAHAGAON	YAVATMAL	Regular	100	OBC	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
716	ON LHS WHILE TRAVELLING FROM MAHINDRA PLANT,HINGNA TO HINGNA T-POINT ON MAIN ROAD	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
717	ON AMRAVATI RING ROAD	AMRAVATI	Regular	100	OPEN CC 1	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
718	IN BETWEEN RAJAPETH POLICE STATION & DMART ON AMRAVATI - BADNERA ROAD	AMRAVATI	Regular	150	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
719	BHANDARA CITY SHITALA MATA MANDIR TO RAJIV GANDHI CHOWK	BHANDARA	Regular	100	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
720	IN BETWEEN IRWIN SQUARE & PANCHAWATI SQUARE	AMRAVATI	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
721	WITHIN 2KMS FROM BADNERA ON BADNERA AMRAVATI ROAD	AMRAVATI	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
722	TUMASAR -GOBARWAHI BY PASS ROAD, BETWEEN OLD BUS STAND AND MSEB POWER HOUSE CHOWK	BHANDARA	Regular	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
723	ON NH 6 (NEW NH 53) ON RHS WHILE GOING FROM BHANDARA TO RAIPUR BETWEEN KM STONE NO. 475 TO 480	BHANDARA	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
724	WITHIN 3 KMS FROM CHITRA SQUARE IN AMRAVATI TOWN AND NOT ON SH	AMRAVATI	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
725	NAGPUR CITY - DIGHORI CHOWK TO BHANDE PLOT SQUARE	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
726	PUSAD TOWN-WITHIN 4KMS FROM PUSAD ST BUS STAND, TALUKA PUSAD NOT ON SH	YAVATMAL	Regular	100	OPEN	DC	20	30	600	25	45	DRAW OF LOTS	15	5
727	SAVARI, TAL -BHANDARA. NOT ON SH	BHANDARA	Regular	100	OBC CC 1	DC	20	30	600	25	45	DRAW OF LOTS	15	4
728	CHANDRAPUR CITY WITHIN 5 KM FROM BUS STAND, NOT ON SH	CHANDRAPUR	Regular	100	ST CC 1	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
729	WARORA TOWN- WITHIN 3 KMS RADIUS FROM BUS STAND, NOT ON SH	CHANDRAPUR	Regular	100	OPEN PH	DC	20	30	600	25	45	DRAW OF LOTS	15	5
730	WITHIN 3 KMS ON EITHER SIDE OF ROAD FROM MAIN GATE OF ASHOK LEYLAND ON NH 6	BHANDARA	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
731	WITHIN ONE KILOMETER FROM COTTAN MARKET SQUARE OF YEOTMAL, NOT ON SH TALUKA YEOTMAL	YAVATMAL	Regular	100	OPEN	DC	20	30	600	25	45	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		of the site (in		arrange App	e to be	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of		12
732	BHADRAWATI TOWN- WITHIN 3 KMS RADIUS FROM MAIN BUS STAND NOT ON SH	CHANDRAPUR	Regular	100	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
733	FROM ORANGE CITY HOSPITAL SQUARE TO HINGNA T POINT IN NAGPUR CITY	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
734	ON NH 353 D, BETWEEN BRAHMAPURI TO NAGBHIR WHILE TRAVELLING TOWARDS ON EITHER SIDE OF THE ROAD	CHANDRAPUR	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
735	NAGPUR CITY -MANEWADA ROAD, FROM OMKAR NAGR CHOWK TO SOMALWADA BESA ROAD T POINT, ON EITHER SIDE.	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
736	MALGI NAGAR SQUARE TO OUTER RING ROAD VIA HUDKESHWAR ROAD ON EITHER SIDE OF ROAD	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
737	DHANORA TOWN- WITHIN 5 KMS RADIUS FROM BUS STAND, NOT ON SH	CHANDRAPUR	Regular	100	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
738	SINDEWAHI TOWN- WITHIN 3 KMS FROM MAIN BUS STAND, NOT ON SH	CHANDRAPUR	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
739	FROM HB TOWN SQUARE TO SHARDA CHOWK ON NAGPUR - KAMPTEE ON EITHER SIDE OF ROAD	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
740	NAGBHIR TOWN- WITHIN 3 KMS FROM MAIN BUS STAND, NOT ON SH	CHANDRAPUR	Regular	100	OPEN CC 1	DC	20	30	600	25	45	DRAW OF LOTS	15	5
741	NAGPUR CITY -FROM SHANTI NAGAR TO KAMPTEE ROAD WITHIN MUNCIPAL LIMIT	NAGPUR	Regular	150	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
742	BETWEEN BAMANWADA TO ASIFABAD WHILE TRAVELLING TOWARDS ASIFABAD ON RIGHT HAND SIDE	CHANDRAPUR	Regular	100	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
743	NAGPUR CITY - MIRCHIBAZAAR SQUARE TO LAKADGANJ TELEPHONE EXCHANGE SQUARE (ON NANDANVAN ROAD)	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
744	NH-6 9NEW NH 53) BETWEEN MAHALGAON & MOUDA EITHER SIDE OF ROAD	NAGPUR	Regular	150	OPEN	CC	20	30	600	25	10	BIDDING	30	5
745	NAGPUR CITY, SITABULDI TO AMBAZARI	NAGPUR	Regular	150	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
746	BETWEEN BAMANWADA TO ASIFABAD WHILE TRAVELLING TOWARDS ASIFABAD ON LEFT HAND SIDE	CHANDRAPUR	Regular	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
747	ON NH 353B, BETWEEN BAMANWADA TO ADILABAD WHILE TRAVELLING TOWARDS ADILABAD ON LEFT HAND SIDE	CHANDRAPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
748	ON NH 353B, BETWEEN BAMANWADA TO ADILABAD WHILE TRAVELLING TOWARDS ADILABAD ON RIGHT HAND SIDE	CHANDRAPUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
749	ON RHS, GADCHIROLI TO CHAMORSHI ON NH-353C	GADCHIROLI	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
750	VILLAGE- THANEGAON, ON RHS GOING FROM ARMORI TO GADCHIROLI ON NH-353C	GADCHIROLI	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
751	AUTOMOTIVE SQUARE TO VILLAGE YERKHADA ON BOTH SIDE OF THE ROAD	NAGPUR	Regular	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi	11	12
752	ON NH6, IN BETWEEN PALLA & NAGZARI ON LHS WHILE TRAVELING FROM AMRAVATI TOWARDS AKOLA	AMRAVATI	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
753	CHAMORSHI TOWN- WITHIN 3 KMS RADIUS FROM MAIN BUS STAND, NOT ON SH	GADCHIROLI	Regular	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
754	ARMORI TOWN- WITHIN 3 KMS FROM MAIN BUS STOP, NOT ON SH	GADCHIROLI	Regular	100	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
755	ON SH237, WITHIN 5 KMS FROM VILLAGE ANJANSINGI TOWARDS DATTAPUR	AMRAVATI	Regular	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
756	DHULE CITY WITHIN MUNICIPAL CORPORATION LIMITS.	DHULE	REGULAR	100	OBC	DC	26	26	676	25	45	DRAW OF LOTS	15	4
757	FROM PRAKASH CINEMA TALKIES CIRCLE UPTO AND TOWARDS JALGAON CHAUFULLY ON LHS ON PAROLA ROAD	DHULE	REGULAR	100	OPEN	DC	26	26	676	25	45	DRAW OF LOTS	15	5
758	ON CHALISGAON ROAD IN DHULE CITY ,FROM LOKMANYA HOSPITAL SQUARE TO CHALISGAON CHAUFULLY	DHULE	REGULAR	100	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
759	VILLEGE -NER, ON NH-53(OLD NH-6) ,ON LHS FROM DHULE TOWARDS SURAT	DHULE	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
760	VILLEGE-JUNAWANE ON NH-211 ,FROM DHULE TO CHALISGAON ON LHS.	DHULE	REGULAR	150	OBC	CC	40	45	1800	25	10	BIDDING	30	4
761	WITHIN 2 KM FROM LOKMANYA HOSPITAL,ON 80 FEET ROAD TOWARDS PRAKASH CINEMA TALKIES	DHULE	REGULAR	100	OPEN	DC	26	26	676	25	45	DRAW OF LOTS	15	5
762	ON NEHARU NAGAR LINK ROAD, FROM JUNCTION OF NEHARU NAGAR LINK ROAD AND OLD AGRA ROAD TOWARDS WADIBHOKAR ROAD	DHULE	REGULAR	100	OPEN	DC	26	26	676	25	45	DRAW OF LOTS	15	5
763	ON EKVIRA DEVI TEMPLE ROAD ,FROM EKVIRA DEVI TEMPLE TO JUNCTION OF BILADI ROAD AND EKVIRA DEVI TEMPLE ROAD.	DHULE	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
764	ON NAKANE ROAD ,FROM VEDANT MANGAL KARYALAYA UPTO AND TOWARDS SAIBABA MANGAL KARYALAYA ON RHS	DHULE	REGULAR	100	OBC	DC	18	20	360	25	45	DRAW OF LOTS	15	4
765	VILLEGE-SAVALDE , ON MUMBAI AGRA NATIONAL HIGHWAY(NH-52),ON RHS FROM DHULE TOWARDS INDORE BETWEEN KM STONE 211 TO 214	DHULE	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
766	VILLAGE -GHOTANE, TALUKA -NANDURBAR , ON NH-753 B	NANDURBAR	REGULAR	150	OPEN CC 1	CC	40	45	1800	25	10	BIDDING	30	5
767	VILLAGE-PIMPARKHEDA, TALUKA -SINDHKHEDA ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY) , ON LHS ,FROM INDORE TOWARDS DHULE.	DHULE	REGULAR	150	OBC	DC	50	50	2500	25	75	DRAW OF LOTS	15	4
768	ON GONDUR AIRPORT ROAD FROM DHULE STADIUM TO JUNCTION OF GONDUR ROAD AND WADIBHOKAR ROAD	DHULE	REGULAR	100	SC	CFS	18	24	432	0	0	DRAW OF LOTS	0	3
769	VILLAGE -GORANE, ON NH-52(OLD NH-3,MUMBAI AGRA NATIONAL HIGHWAY) ,ON LHS , FROM INDORE TOWARDS DHULE	DHULE	REGULAR	150	OPEN	CC	40	40	1600	25	10	BIDDING	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi ng	11	12
770	VILLAGE-GHODADE, ON NH-53(OLD NH-6) FROM SAKRI TOWARDS DAHIVEL ON LHS	DHULE	REGULAR	150	OPEN	CC	60	60	3600	25	10	BIDDING	30	5
771	BETWEEN KM STONE 244 TO 246 ON MUMBAI AGRA NATIONAL HIGHAY(NH-52) FROM INDORE TOWARDS DHULE ON LHS	DHULE	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
772	VILLAGE -KHAMBALE,ON STATE HIGHWAY, FROM SANGVI TOWARDS MADHYA PRADESH BORDER ON LHS,TALUKA-SHIRPUR	DHULE	REGULAR	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
773	VILLAGE-TARAWADE , BETWEEN KM STONE 428 TO 431,ON NH-211, FROM CHALISGAON TOWARDS DHULE ON LHS.	DHULE	REGULAR	150	OPEN	CC	80	50	4000	25	10	BIDDING	30	5
774	VILLAGE-GHULI, ON NH 753B ON RHS, FROM NANDURBAR TOWARDS PRAKASHA	NANDURBAR	REGULAR	150	OPEN	DC	40	60	2400	25	75	DRAW OF LOTS	15	5
775	VILLAGE-BAMHANE , ON SH-6 FROM DONDIACHA TOWARDS SINDKHEDA ON RHS .	DHULE	REGULAR	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
776	FROM SH -11 AND KUMREJ ROAD JUNCTION WITHIN 1 KM TOWARDS KUMREJ ON RHS ,ON KUMREJ ROAD,TALUKA -SINDHKHEDA	DHULE	REGULAR	100	OPEN	DC	40	40	1600	25	45	DRAW OF LOTS	15	5
777	BETWEEN RANGAWALI RIVER BRIDGE(NAVAPUR) TO RAILWAY CROSSING(GANGAPUR) ON SURAT -NAGPUR NATIONAL HIGHWAY NH- 53(OLD NH-6)	NANDURBAR	REGULAR	150	SC CC 1	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
778	VILLAGE-NANDANE, ON SH-12	DHULE	REGULAR	100	OPEN CC 2	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
779	VILLAGE-AKLAD,TALUKA -DHULE,ON NH-53(NH-6)	DHULE	REGULAR	150	OBC CC 1	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
780	FROM DHULE STADIUM UPTO AND TOWARDS DATTMANDIR CHOWK ON LHS ,ON GONDUR AIRPORT ROAD ,TALUKA -DHULE	DHULE	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
781	WITHIN 1 KM FROM DR BABASAHEB AMBEDKAR CHOWK TOWARDS NAVAPUR CHAUFULLY ,WITHIN NANDURBAR MUNICIPAL LIMITS	NANDURBAR	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
782	ON KHETIYA ROAD, FROM JUNCTION OF TIKHORE ROAD AND KHETIA ROAD UPTO JUNCTION OF KHETIA ROAD AND SH-1 ,SHAHADA	NANDURBAR	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
783	VILLAGE- LAMBOLA,ON SH-4(NEW NH),FROM SHAHADA TOWARDS PRAKASHA ON RHS	NANDURBAR	REGULAR	100	OPEN	DC	55	50	2750	25	60	DRAW OF LOTS	15	5
784	BETWEEN PRAKASHA BUS STOP AND FIRST BORDER OF GUJARAT STATE, FROM PRAKASHA TOWARDS TALODA, ON RHS	NANDURBAR	REGULAR	100	OPEN	DC	50	50	2500	25	60	DRAW OF LOTS	15	5
785	VILLAGE-SONDALE , ON SH-1 ON LHS FROM SONGIR TOWARDS DONDIACHA, BETWEEN KM STONE 21 TO 23	DHULE	REGULAR	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
786	VILLAGE-PATONDA , ON NH-753B, TALUKA -NANDURBAR	NANDURBAR	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimension of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	d fund required for	Draw of Lots/Biddi	11	12
787	VILLAGE- KALAMBU ,ON SHIRPUR SHAHADA ROAD ON SH-4 (NEW NH)	NANDURBAR	REGULAR	150	OPEN	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
788	VILLAGE-VARUL,TALUKA -SHIRPUR,FROM SHAHADA TOWARDS SHIRPUR ON LHS (NEW NH)	DHULE	REGULAR	150	OPEN	DC	60	50	3000	25	75	DRAW OF LOTS	15	5
789	VILLAGE-ASTHE,ON NANDURBAR SAKRI ROAD ON SH-17	NANDURBAR	REGULAR	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
790	SHAHADA WITHIN MUNICIPAL LIMITS,TALUKA-SHAHADA	NANDURBAR	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
791	NANDURBAR CITY WITHIN MUNICIPAL LIMITS	NANDURBAR	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
792	VILLAGE- NARDANA ,ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY) , ON LHS FROM INDORE TOWARDS DHULE	DHULE	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
793	VILLAGE-DASWAD,ON SH-4,ON LHS FROM SHAHADA TOWARDS TALODA,TALUKA-TALODA	NANDURBAR	REGULAR	100	OBC	DC	35	40	1400	25	60	DRAW OF LOTS	15	4
794	VILLEGE -BADHANE,TALUKA- DHULE ,ON NH-53(OLD NH-6)	DHULE	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
795	ON VADJAI ROAD ,FROM JUNCTION OF VADJAI ROAD AND 80 FEET ROAD UPTO NH-52(MUMBAI AGRA NATIONAL HIGHWAY)	DHULE	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
796	VILLAGE-FES,ON SH-4, FROM SHIRPUR TOWARDS SHAHDA, ON LHS.	NANDURBAR	REGULAR	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
797	FROM CB RAGHUVANSHI PETROL PUMP UPTO AND TOWARDS PODAR INTERNATIONAL SCHOOL ON LHS ON TALODA ROAD	NANDURBAR	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
798	PALASNER ,ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY), ON LHS FROM INDORE TOWARDS DHULE.	DHULE	REGULAR	150	OPEN	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
799	ON NH-53 (NAGPUR SURAT NATIONAL HIGHWAY) ,FROM GUJARAT BORDER UPTO AND TOWARDS NEHARU GARDAN (NAVAPUR) ON LHS.	NANDURBAR	REGULAR	150	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
800	FROM SONGIR PHATA TOWARDS AND UPTO GORANE PHATA ON LHS, ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY)	DHULE	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
801	VILLAGE -TANDE, ON SHIRPUR TO CHOPADA ROAD (SH-4)	DHULE	REGULAR	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
802	FROM GORANE PHATA UPTO AND TOWARDS TAPI RIVER BRIDGE ON LHS, ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY)	DHULE	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
803	ON SH -14 BETWEEN KMS STONE NO. 24 AND 26	DHULE	REGULAR	100	ST PH	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
804	VILLAGE-AJNALE, ON SH-10 FROM KUSUMBE TO MALEGAON	DHULE	REGULAR	100	OBC PH	CC	40	40	1600	25	10	BIDDING	30	4
805	ON SAKRI ROAD ,FROM SANTOSHI MATA CHOWK UPTO AND TOWARDS HOTEL KRISHANAI ON LHS	DHULE	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	,,	Estimate d monthly Sales	Category	Type of Site *		num Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
806	ON 100 FEET ROAD IN DHULE CITY, CONNECTING MALEGAON ROAD AND CHALISGAON ROAD, FROM MALEGAON ROAD TOWARDS CHALISGAON ROAD ON RHS.	DHULE	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5
807	VILLAGE-BHATANE,ON SH-4 ON LHS FROM SHIRPUR TOWARDS SHAHADA	DHULE	REGULAR	100	OBC	DC	50	50	2500	25	60	DRAW OF LOTS	15	4
808	JALGAON CHAUFULLY TO KARANJA CIRCLE,TALUKA- DHULE, ON NH- 52(MUMBAI AGRA NATIONAL HIGHWAY) INCLUDING SERVICE ROAD	DHULE	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
809	VILLAGE-KHED-DIGAR ON SH-5 ,TALUKA-SHAHADA	NANDURBAR	REGULAR	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
810	ON VEER SAVARKAR MARG (DHULE CITY), FROM JYOTI TALKIES UP TO SWASTIK TALKIES	DHULE	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
811	VILLAGE-ARAVE, ON SH-11, FROM CHIMTHANA TOWARDS SAKRI ROAD ON RHS	DHULE	REGULAR	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
812	WITHIN 2 KM FROM NAVAPUR CHAUFULY(NANDURBAR) TOWARDS KHANDBARA ON LHS .	NANDURBAR	REGULAR	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
813	ON MALEGAON ROAD FROM DASARA MAIDAN CHOWK UP TO NH- 52(MUMBAI AGRA NATIONAL HIGHWAY) FLYOVER, WITHIN DHULE MUNICIPAL LIMITS	DHULE	REGULAR	150	OPEN	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
814	VILLAGE -KORIT, ON PATONDA TO PRAKASHA ROAD	NANDURBAR	REGULAR	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
815	FROM MAHADEV TEMPLE(NAGAON) UPTO AND TOWARDS SARVAD PHATA,ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY) ON LHS	DHULE	REGULAR	150	OPEN	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
816	MUKTI, TALUKA- DHULE, ON NH-53 (NAGPUR SURAT NATIONAL HIGHWAY)	DHULE	REGULAR	150	OBC	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
817	VILLAGE-BHOKAR,TALUKA -DHULE,ON SH-14	DHULE	REGULAR	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
818	VILLLEGE -ICCHAPUR, ON NH-53 (NAGPUR SURAT NATIONAL HIGHWAY) , FROM DHULE TOWARDS SURAT	DHULE	REGULAR	150	OPEN CC 1	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
819	MOHADI UPNAGAR ON NH-211	DHULE	REGULAR	150	OBC	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
820	FROM JALGAON CHAUFULLY UPTO AND TOWARDS CHALISGAON CHAUFULLY, ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY)INCLUDING SERVICE ROADS, ON LHS	DHULE	REGULAR	150	OPEN	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
821	NAWAPUR TOWN WITHIN MUNICIPAL LIMITS	NANDURBAR	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
822	FROM CHALISGAON CHOUFULLY UPTO AND TOWARDS MOHADI ROAD UNDERPASS (NH52), ON RHS OF NH52 ON SERVICE ROAD , WITHIN DHULE MUNICIPAL CORPORATION LIMITS	DHULE	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category 6	Type of Site *		um Dimension of the site (in		arrange App	e to be	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	-11	12
823	ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY) , FROM SARVAD PHATA UPTO AND TOWARDS SONGIR PHATA ON LHS	DHULE	REGULAR	150	OBC	СС	40	40	1600	25	10	BIDDING	30	4
824	ON NAKANE ROAD ,FROM SAMBHAJI PARK UP TO SAIBABA MANGAL KARYALAYA ON BOTH SIDES, WITHIN DHULE MUNICIPAL CORPORATION LIMITS	DHULE	REGULAR	100	OPEN	DC	26	26	676	25	45	DRAW OF LOTS	15	5
825	NAVAPUR CHAUFULLY TO DHULE CHAUFULLY ON BOTH SIDES ,NANDURBAR	NANDURBAR	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
826	SAKRI,ON NH-53(NAGPUR SURAT NATIONAL HIGHWAY)	DHULE	REGULAR	100	SC CC 1	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
827	VILLAGE -DHAMANE, ON SH-6 FROM DONDIACHA TO SINDKHEDA .	DHULE	REGULAR	100	OBC CC 1	DC	40	50	2000	25	60	DRAW OF LOTS	15	4
828	SINDHKHEDA TOWN,WITHIN NAGAR PANCHYAT LIMITS	DHULE	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
829	ON NEW NH-53 (NAGPUR SURAT NATIONAL HIGHWAY) ,FROM INTERSECTION OF NH-211 & NEW NH-53 (NEAR SAVALDE,DIST-DHULE) UP TO OLD NH-6 (NAGPUR SURAT NATIONAL HIGHWAY)	DHULE	REGULAR	150	OPEN PH	CC	40	45	1800	25	10	BIDDING	30	5
830	ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY) , FORM CHALISGAON CHAUFULLY UP TO AND TOWARDS LALING TOLL PLAZA ON LHS	DHULE	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
831	FROM JALGAON CHAUFULLY UPTO AND TOWARDS CHALISGAON CHAUFULLY ON NH-52 (MUMBAI AGRA NATIONAL HIGHWAY) INCLUDING SERVICE ROADS ON LHS	DHULE	REGULAR	150	OBC	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
832	SHIRPUR TOWN, WITHIN MUNICIPAL LIMITS	DHULE	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
833	FROM KARANJA CIRCLE UPTO AND TOWARDS PODAR INTERNATIONAL SCHOOL ON LHS ,ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY) INCLUDING SERVICE ROADS	DHULE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
834	ON WADIBHOKAR ROAD ,BETWEEN AGRA ROAD CROSSING AND GONDUR AIRPORT ROAD CROSSING	DHULE	REGULAR	100	SC	CFS	26	26	676	0	0	DRAW OF LOTS	0	3
835	ON NH-53 (DHULE SURAT NATIONAL HIGHWAY), FROM GUJRAT BORDER UPTO AND TOWARDS NEHARU GARDAN(NAWAPUR) ON RHS.	NANDURBAR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
836	FROM PODAR INTERNATIONAL SCHOOL UPTO AND TOWARDS MAHADHEV TEMPLE(NAGAON) ON LHS, ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY)	DHULE	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
837	UP TO 10 KM FROM LALING TOLL PLAZA TOWARDS NASHIK ON LHS, WITHIN DHULE DISTRICT, ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY)	DHULE	REGULAR	150	OPEN	CC	30	30	900	25	10	BIDDING	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
838	BETWEEN DATTMANDIR CHOWK AND KARANJA CIRCLE ,ON OLD AGRA ROAD OF DHULE CITY IN DHULE MUNICIPAL CORPORATION LIMITS	DHULE	REGULAR	100	OBC	CC	30	30	900	25	10	BIDDING	30	4
839	SAKRI WITHIN MUNICIPAL LIMITS	DHULE	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
840	ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY) FROM DAHIWAD PHATA UPTO AND TOWARDS SHIRPUR TOLL PLAZA ON LHS	DHULE	REGULAR	150	OPEN	СС	40	45	1800	25	10	BIDDING	30	5
841	VILLAGE -NIMDALE , TALUKA -DHULE,ON SH -14	DHULE	REGULAR	100	OPEN CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	5
842	TALODA TOWN , WITHIN MUNICIPAL LIMITS	NANDURBAR	REGULAR	100	OBC	CC	26	26	676	25	10	BIDDING	30	4
843	ON SH-14 , WITHIN 10 KM FROM JUNCTION OF FAGNE - AMALNER ROAD AND NH-53(OLD NH-6) CROSSING TOWARDS AMALNER(WITHIN DHULE DISTRICT)	DHULE	REGULAR	100	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
844	ON STATION ROAD (IN DHULE CITY), BETWEEN DASARA MAIDAN CHOWK AND LENIN CHOWK	DHULE	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
845	ON DHULE BYPASS FROM JUNCTION OF DHULE BYPASS & NH-53 (DHULE SURAT NATIONAL HIGHWAY) UPTO NH-52(MUMBAI AGRA NATIONAL HIGHWAY JUNCTION.	DHULE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
846	FROM RACHANA HALL UP TO AND TOWARDS JALGAON CHAUFULLY ON RHS ON DHULE PAROLA ROAD	DHULE	REGULAR	100	OPEN	CC	18	20	360	25	10	BIDDING	30	5
847	FROM JUNCTION OF NH-53 (NAGPUR SURAT NATIONAL HIGHWAY) AND DHULE BYPASS UPTO AND TOWARDS ICCHAPURTI GANESH MANDIR ON RHS,ON NH-53 (NAGPUR SURAT NATIONAL HIGHWAY)	DHULE	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
848	ON MODEL ROAD (OF DHULE CITY) ,BETWEEN LENIN CHOWK AND SANTOSHI MATA CHOWK	DHULE	REGULAR	100	ST	CFS	26	26	676	0	0	DRAW OF LOTS	0	3
849	ON NH-53(NAGPUR SURAT NATIONAL HIGHWAY) ,FROM RAILWAY CROSSING (GANGAPUR)UPTO AND TOWARDS JUNCTION OF NH-52 AND SH-8 (NEAR VISARWADI) ON LHS	NANDURBAR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
850	VILLAGE- KAULI,TALUKA -AKKALKUA, ON NH-753 B	NANDURBAR	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
851	VILLAGE-DAHIVAD, ON NH-53(MUMBAI AGRA NATIONAL HIGHWAY) ,ON LHS FROM DHULE TOWRDS INDORE	DHULE	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
852	DHULE CHAUFULLY TO KARAN CHAUFULLY,NANDURBAR	NANDURBAR	REGULAR	100	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
853	BETWEEN VISARWADI BUS STAND AND JUNCTION OF NH-53 (NAGPUR SURAT NATIONAL HIGHWAY) AND SH-12,ON NH-53 (NAGPUR SURAT NATIONAL HIGHWAY)	NANDURBAR	REGULAR	150	OBC	CC	40	45	1800	25	10	BIDDING	30	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (ir		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OBEN PH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi	11	12
854	UP TO 10 KM FROM JUNCTION OF NH-52(MUMBAI AGRA NATIONAL HIGHWAY) AND SH-15,ON LHS FROM DHULE TOWARDS NASHIK, WITHIN DHULE DISTRICT, ON NH-52(MUMBAI AGRA NATIONAL HIGHWAY)	DHULE	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
855	FROM JUNCTION OF NH-53 (NAGPUR SURAT NATIONAL HIGHWAY) AND DHULE BYPASS UP TO AND TOWARDS ICCHAPURTI GANESH MANDIR ON LHS,ON NH-53 (NAGPUR SURAT NATIONAL HIGHWAY)	DHULE	REGULAR	150	OPEN	CC	40	60	2400	25	10	BIDDING	30	5
856	AMALNER, WITHIN 1 KM OF AMALNER BUS STAND, ON BOTH SIDE OF AMALNER BUS STAND, ON DHULE-DHARANGAON ROAD, WITHIN MUNICIPAL LIMITS	JALGAON	REGULAR	100	OBC	CC	17	24	408	25	10	BIDDING	30	4
857	WITHIN 3 KMS OF ERANDOL BUS STAND TOWARDS DHARANGAON ON ERANDOL-DHARANGAON ROAD	JALGAON	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
858	AMALNER (ON KACHERI ROAD)	JALGAON	REGULAR	100	OPEN	DC	20	30	600	25	45	DRAW OF LOTS	15	5
859	BHADGAON TOWN, WITHIN MUNICIPAL LIMITS	JALGAON	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
860	SAVKHEDA(TALUKA AMALNER), ON SH	JALGAON	REGULAR	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
861	WITHIN 1 KMS OF AMALGAON BUS STOP, ON BOTH SIDE OF AMALGAON BUS STOP (TALUKA-AMALNER), ON AMALNER - JALOD RD	JALGAON	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
862	BHUSAWAL TOWN (WITHIN MUNICIPAL LIMITS)	JALGAON	REGULAR	100	OPEN	CC	21	21	441	25	10	BIDDING	30	5
863	WITHIN 5 KMS OF HS FUELS-IOCL PETROL PUMP, ON BOTH SIDE OF HS FUELS-IOCL PETROL PUMP, ON MUKTAINAGAR-JALGAON HIGHWAY.	JALGAON	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
864	WITHIN 5 KMS FROM SAFE EXPRESS PRIVATE LIMITED (NEAR MODHALE) TOWARDS DHULE, ON LHS SIDE ON JALGAON-DHULE HIGHWAY (WITHIN JALGAON DISTRICT)	JALGAON	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
865	WITHIN 5 KMS FROM JAVAHAR NAVODAYA VIDYALA (BHUSAWAL), ON NAGPUR-DHULE NATIONAL HIGHWAY TOWARDS JALGAON ON LHS.	JALGAON	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
866	WITHIN 4 KMS OF ERANDOL BUS STAND, ON ERANDOL-PAROLA ROAD, TOWARDS PAROLA	JALGAON	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
867	PIMPARKHED (BHADGAON TALUKA), ON STATE HIGHWAY	JALGAON	REGULAR	100	ОВС	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
868	AMALNER, ON AMALNER-PAROLA ROAD (WITHIN MUNICIPAL LIMIT)	JALGAON	REGULAR	100	OPEN CC 1	DC	30	30	900	25	45	DRAW OF LOTS	15	5
869	WITHIN 2 KMS FROM BODWAD BUS STAND TOWARDS MUKTAINAGAR ON BODWAD-MUKTAINAGAR ROAD	JALGAON	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi ng	11	12
870	WITHIN 4 KMS FROM RAILWAY CROSSING (NEAR BODWAD), ON BODWAD-MUKTAINAGAR ROAD, TOWARDS MUKTAINAGAR	JALGAON	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
871	WITHIN 2 KMS FROM BHADGAON BUS STAND ON BHADGAON-ROAD TOWARDS PAROLA	JALGAON	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
872	WITHIN 2 KM OF VARIKILA BUS STOP, ON BOTH SIDE OF VARIKILA BUS STOP, ON JAMNER-BODVAD ROAD.	JALGAON	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
873	WITHIN 2 KMS FROM CHALISGAON TEHSIL OFFICE, ON CHALISGAON- AURANGABAD ROAD, TOWARDS AURANGABAD	JALGAON	REGULAR	100	OPEN	DC	26	26	676	25	45	DRAW OF LOTS	15	5
874	VILLAGE - MAMURABAD, ON STATE HIGHWAY (TALUKA- JALGAON)	JALGAON	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
875	WITHIN 3 KM ON GOANDGAON BUS STOP, ON BOTH SIDE ON GOANDGAON BUS STOP, ON GOANDGAON-PAROLA ROAD	JALGAON	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
876	VILLAGE-WAGHALI , ON CHALISGAON-JALGAON ROAD (CHALISGAON TALUKA)	JALGAON	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
877	WITHIN 2 KMS FROM BODWAD BUS STAND TOWARDS BHUSAWAL ON BODWAD-BHUSAWAL ROAD (SH190)	JALGAON	REGULAR	100	OPEN CC 2	CC	35	35	1225	25	10	BIDDING	30	5
878	WITHIN 3 KMS OF HIRAPUR BUS STOP, ON BOTH SIDE OF HIRAPUR BUS STOP, ON CHALISGAON - NANDGAON ROAD (STRETCH WITHIN CHALISGAON TALUKA)	JALGAON	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
879	SAVKHEDE MARATH, ON JALGAON-DHULE NATIONAL HIGHWAY	JALGAON	REGULAR	150	ST CC 1	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
880	WITHIN 10 KMS FROM BPCL RP PUNSHI PETROL PUMP, ON CHALISGAON DHULE ROAD (NH211) TOWARDS DHULE	JALGAON	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
881	TALEGAON, ON CHALISGAON-NANDGAON ROAD (CHALISGAON TALUKA)	JALGAON	REGULAR	150	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
882	WITHIN 5 KMS FROM FEKARI TOLL PLAZA TOWARDS VARANGAON ON BHUSAWAL-VARANGAON ROAD	JALGAON	REGULAR	150	OBC	DC	50	50	2500	25	75	DRAW OF LOTS	15	4
883	VILLAGE- TONDAPUR (TALUKA-JAMNER), ON STATE HIGHWAY	JALGAON	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
884	CHALISGAON, WITHIN MUNICIPAL LIMITS	JALGAON	REGULAR	100	OPEN	DC	26	26	676	25	45	DRAW OF LOTS	15	5
885	CHOPDA, WITHIN MUNICIPAL LIMITS	JALGAON	REGULAR	100	OPEN	DC	21	21	441	25	45	DRAW OF LOTS	15	5
886	BETWEEN KM STONE 417 TO 422 ON NH 211	JALGAON	REGULAR	150	OBC	DC	60	60	3600	25	75	DRAW OF LOTS	15	4
887	VILLAGE - PIMPRI BUDRUK, FROM JALGAON TOWARDS DHULE, ON JALGAON-DHULE NATIONAL HIGHWAY ON RHS	JALGAON	REGULAR	150	OPEN	CC	50	50	2500	25	10	BIDDING	30	5
888	WADGAON BUDRUK, ON BHADGAON-KAJGAON RD	JALGAON	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (i		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
889	VILLAGE - PIMPRI BUDRUK, FROM JALGAON TOWARDS DHULE, ON JALGAON-DHULE NATIONAL HIGHWAY ON LHS	JALGAON	REGULAR	150	OPEN	CC	50	50	2500	25	10	BIDDING	30	5
890	WITHIN 3 KMS FROM CHOPDA GRAMIN POLICE STATION TOWARDS VARAD ON CHOPDA-KHARGONE ROAD	JALGAON	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
891	VILLAGE:- MONDHALE (TALUKA - BHUSAWAL) ON SH190	JALGAON	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
892	WITHIN 3 KMS FROM JUNCTION OF BHADGAON-PAHUR ROAD AND PACHORA-JALGAON ROAD TOWARDS JALGAON (ON PACHORA-JALGAON ROAD)	JALGAON	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
893	WITHIN 2 KMS FROM CHOPDA BUS STAND TOWARDS SHIRPUR VIA CHOPDA GRAMIN POLICE STATION, ON CHOPDA-SHIRPUR ROAD	JALGAON	REGULAR	100	OBC	DC	21	21	441	25	45	DRAW OF LOTS	15	4
894	ERANDOL, WITHIN MUNICIPAL LIMITS	JALGAON	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
895	RAVER, WITHIN MUNICIPAL LIMITS	JALGAON	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
896	WITHIN 8 KMS FROM BORDER OF MP, TOWARDS CHOPDA ON KHARGONE-CHOPDA RD	JALGAON	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
897	WITHIN 5 KMS FROM CHALISGAON BUS STAND, ON CHALISGAON - JALGAON ROAD TOWARDS JALGAON	JALGAON	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
898	FAIZPUR, WITHIN MUNICIPAL LIMITS WITHIN 1 KMS FROM KALIKA MATA MANDIR (JALGAON), TOWARDS	JALGAON	REGULAR	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
899	BHUSAWAL ON JALGAON-BHUSAWAL ROAD.	JALGAON	REGULAR	150	OPEN	CC	21	21	441	25	10	BIDDING	30	5
900	WITHIN 5 KMS FROM TARSOD PHATTA, ON DHULE-NAGPUR NATIONAL HIGHWAY TOWARDS BHUSAWAL	JALGAON	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
901	VIVARE KHURD, ON SH-4 (RAVER TALUKA)	JALGAON	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
902	WITHIN 2 KMS FROM D-MART (JALGAON), ON MOHADI ROAD	JALGAON	REGULAR	150	OPEN	DC	18	20	360	25	60	DRAW OF LOTS	15	5
903	WITHIN 2 KMS OF GOVT POLYTECHNIC COLLEGE (JALGAON CITY), ON BOTH SIDE OF GOVT POLYTECHNIC COLLEGE (JALGAON CITY) ON JALGAON-DHULE RD	JALGAON	REGULAR	150	OPEN	DC	18	18	324	25	60	DRAW OF LOTS	15	5
904	WITHIN 2 KMS FROM THE CROSSING OF PAROLA-KAJGAON ROAD AND SHIRUD-BHADGAON ROAD , ON SHIRUD-BHADGAON ROAD	JALGAON	REGULAR	100	OBC PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
905	DANGAR BUDRUK, ON AMALNER-DHULE HIGHWAY (AMALNER TALUKA)	JALGAON	REGULAR	100	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
906	WITHIN 4 KMS FROM AJANTA CHOWFALLY (OF JALGAON), TOWARDS AURANGABAD ON JALGAON-AURANGABAD ROAD	JALGAON	REGULAR	150	OPEN	CC	21	21	441	25	10	BIDDING	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		num Dimension of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
	_	-	(Regular/Rural)		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for	Draw of		
907	JALGAON CITY, WITHIN CORPORATION LIMITS	JALGAON	REGULAR	150	OPEN	DC	21	21	441	25	60	DRAW OF LOTS	15	5
908	JAMNER, WITHIN MUNICIPAL LIMITS	JALGAON	REGULAR	100	OBC	CC	30	30	900	25	10	BIDDING	30	4
909	WITHIN 3 KMS FROM AKASHWANI CHOWK, ON MAHABAL ROAD (JALGAON)	JALGAON	REGULAR	150	OPEN	DC	21	21	441	25	60	DRAW OF LOTS	15	5
910	WITHIN 2 KMS FROM SUPREME FACTORY (GADEGAON) ON JALGAON- AURANGABAD ROAD TOWARDS JALGAON ON RHS.	JALGAON	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
911	NASHIRABAD, ON NAGPUR-DHULE NATIONAL HIGHWAY	JALGAON	REGULAR	150	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
912	WITHIN 4 KMS FROM JAMNER BUS STAND TOWARDS BODWAD ON JAMNER-BODWAD ROAD	JALGAON	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
913	PALDHI, ON JALGAON-AURANGABAD HIGHWAY	JALGAON	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
914	WITHIN 2 KMS FROM FATTEPUR BUS STOP, ON FATTEPUR-JAMNER RD TOWARDS JAMNER	JALGAON	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
915	MUKTAINAGAR, (TALUKA-MUKTAINAGAR)	JALGAON	REGULAR	100	OBC	CC	30	30	900	25	10	BIDDING	30	4
916	WITHIN 1 KMS OF HDPL STARCH FACTORY, ON BOTH SIDE OF HDPL STARCH FACTORY, ON BODWAD JAMNER ROAD	JALGAON	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS DRAW OF	15	5
917	JAMATHI VILLAGE, ON BODVAD-FATTEPUR ROAD	JALGAON	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	LOTS	15	5
918	WITHIN 2 KMS FROM THE CROSSING OF NAGPUR-DHULE NATIONAL HIGHWAY & MUKTAINAGAR-BODWAD ROAD TOWARDS BODWAD, RHS ON MUKTAINAGAR-BODWAD ROAD	JALGAON	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
919	HANMANTKHEDE (TAL-PAROLA), ON PAROLA-KAJGAON ROAD	JALGAON	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
920	VILLAGE-KARKI, ON MUKTAINAGAR-BURHANPUR HIGHWAY	JALGAON	REGULAR	150	OPEN	CC	60	60	3600	25	10	BIDDING	30	5
921	PACHORA, WITHIN MUNICIPAL LIMITS	JALGAON	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
922	WITHIN 6 KMS OF ERANDOL BUS STAND, ON DHULE-JALGAON HIGHWAY TOWARDS JALGAON	JALGAON	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
923	BETWEEN GHODGAON BUS STOP TO GALANGI BUS STOP (TALUKA CHOPDA)	JALGAON	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
924	WITHIN 5 KMS FROM PAROLA BUS STAND, ON JALGAON-DHULE NATIONAL HIGHWAY TOWARDS DHULE	JALGAON	REGULAR	150	OPEN	DC	45	50	2250	25	75	DRAW OF LOTS	15	5
925	WITHIN 2 KMS FROM ESSAR PETROL PUMP JUNGLEEPEER (RAVER TALUKA) TOWARDS BURHANPUR, ON RAVER-BURHANPUR HIGHWAY	JALGAON	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
926	ON LHS OF SH 30 BETWEEN KM STONE NO.:-170 AND KM STONE NO.:- 166 FROM NIPHAD TOWARDS NASHIK , TALUKA:- NIPHAD	NASHIK	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		3	(Regular/Rural		SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate	Draw of Lots/Biddi ng	1	12
927	FROM CHITEGAON VILLAGE BUS STOP TOWARDS AND UPTO LAKHALGAON VILLAGE BUS STOP ON SH 30 ON LHS, TAL:- NIPHAD	NASHIK	REGULAR	100	OBC CC 1	DC	40	35	1400	25	60	DRAW OF LOTS	15	4
928	ON RHS, BETWEEN KM STONE NO.:- 153 AND KM STONE NO.:- 155, ON SH 30. TALUKA:- NASIK	NASHIK	REGULAR	100	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
929	BETWEEN JALGAON(NI) VILLAGE AND CHONDI VILLAGE ON SH 10 ON LHS FROM MANMAD TOWARDS MALEGAON, TAL:- MALEGAON	NASHIK	REGULAR	100	OPEN PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
930	ON LHS, FROM CHITEGAON VILLAGE BUS STOP TOWARDS & UPTO CHANDORI VILLAGE BUS STOP ON SH 30, TAL:- NIPHAD	NASHIK	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
931	VILLAGE AHERGAON BETWEEN KM STONE NO.:- 53 AND KM STONE NO 55 ON STATE HIGHWAY (PIMPALGAON - NIPHAD ROAD)	NASHIK	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
932	ON RHS OF SH 30 FROM BOKKADDARE VILLAGE TOWARDS VINCHUR VILLAGE BETWEEN KM STONE NO. 195 AND KM STONE NO. 198, TALUKA - NIPHAD	NASHIK	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
933	WITHIN 2 KM FROM NANDUR NAKA POLICE CHOWKI TOWARDS LAKHALGAON ON STATE HIGHWAY STRETCH IN NASIK MUNICIPAL LIMIT	NASHIK	REGULAR	150	OPEN	DC	17	20	340	25	60	DRAW OF LOTS	15	5
934	BETWEEN KM STONE NO.:-173 AND KM STONE NO.: 178 ON SH 08 (MALEGAON AJANG ROAD), TAL: MALEGAON	NASHIK	REGULAR	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
935	CHANDGIRI SHIVAR VILLAGE ON SH 37, TAL:- NIPHAD	NASHIK	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
936	BETWEEN KM STONE NO.:- 403 AND 409 ON LHS FROM NASIK TOWARDS CHANDWAD ON MUMBAI AGRA NATIONAL HIGHWAY	NASHIK	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
937	BETWEEN KM STONE NO.:- 48 AND KM STONE NO.:- 52 ON STATE HIGHWAY FROM PIMPALGAON TOWARDS NIPHAD, TALUKA:- NIPHAD	NASHIK	REGULAR	100	ST	CFS	40	35	1400	0	0	DRAW OF LOTS	0	3
938	ON RHS OF SH 7 BETWEEN KM STONE NO.:-193 AND KM STONE NO.:- 196 IN DIRECTION FROM VINCHUR VILLAGE TOWARDS LASALGAON VILLAGE , TALUKA :-NIPHAD	NASHIK	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
939	WITHIN 2 KM FROM GURU GOBIND SINGH COLLEGE OF ENGINEERING AND RESEARCH CENTRE(GGSCOE & RC) ON EITHER SIDE OF GGSCOE & RC IN NASIK MUNICIPAL LIMIT	NASHIK	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
940	WITHIN 5 KM FROM WANI CHOWK ON PIMPALGAON BASWANT - WANI ROAD (NEW NATIONAL HIGHWAY 953) TOWARDS WANI, TAL:- NIPHAD	NASHIK	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		•	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN RH	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund	Draw of	"	12
941	ON LHS FROM VINCHUR TOWARDS BHARWAS VILLAGE BETWEEN KM STONE: 199 AND KM STONE NO.:-203 ON SH30 , TALUKA:- NIPHAD	NASHIK	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
942	FROM LAKHALGAON TOWARDS SHINDE AT VILLAGE HINGANWEDHE ON RHS OF SH 37 BETWEEN KM STONE NO.:- 12 AND 15 , TALUKA:-NASHIK	NASHIK	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
943	VILLAGE GIRNARE ON SH 20 (MANMAD-UMRANE ROAD), TALUKA: DEOLA	NASHIK	REGULAR	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
944	FROM UPNAGAR POLICE CHOWKI TOWARDS & UPTO BYTCO CHOWK ON RHS ON NATIONAL HIGHWAY STRETCH IN NASIK MUNICIPAL LIMIT.	NASHIK	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
945	VILLAGE ANDARSHUL ON SH 30, TALUKA:- YEOLA	NASHIK	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
946	BETWEEN KM STONE NO.:- 125 AND 131 ON SH 16 . TAL:-MALEGAON	NASHIK	REGULAR	100	SC	CFS	40	35	1400	0	0	DRAW OF LOTS	0	3
947	BETWEEN KM STONE NO.:-401 AND 407 ON RHS FROM NASIK TOWARDS PIMPALGAON ON MUMBAI AGRA NATIONAL HIGHWAY	NASHIK	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
948	ON LHS BETWEEN KM STONE NO.:- 288 AND 293 ON MUMBAI AGRA NATIONAL HIGHWAY FROM ZODAGE VILLAGE TOWARDS VILLAGE CHANDANPURI , TAL: MALEGAON	NASHIK	REGULAR	150	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
949	BETWEEN KM STONE NO.:- 380 AND 388 ON LHS FROM OZAR TOWARDS CHANDWAD ON MUMBAI AGRA NATIONAL HIGHWAY. TAL: NIPHAD	NASHIK	REGULAR	160	OBC	DC	50	50	2500	25	75	DRAW OF LOTS	15	4
950	ON LHS OF SH30 FROM PIMPLAS VILLAGE TOWARDS & UPTO NIPHAD VILLAGE , TAL:- NIPHAD	NASHIK	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
951	ON NH160 FROM TINGREE VILLAGE TO VADGAON VILLAGE. TAL: MALEGAON	NASHIK	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
952	ON LHS FROM MAYUR AUTO PARK TOWARDS & UPTO NANDI SIZING IN MALEGAON MUNICIPAL LIMIT.	NASHIK	REGULAR	150	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
953	BETWEEN KM STONE NO.:- 395 AND 390 ON RHS FROM OZAR TOWARDS CHANDWAD ON MUMBAI AGRA NATIONAL HIGHWAY, TAL:- NIPHAD	NASHIK	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
954	VILLAGE VADNER BHAIRAV ON STATE HIGHWAY, TALUKA:- NIPHAD	NASHIK	REGULAR	100	SC	CFS	40	35	1400	0	0	DRAW OF LOTS	0	3
955	BETWEEN KM STONE 303 AND KM STONE 310 ON LHS FROM ZODAGE TOWARDS CHANDANPURI ON MUMBAI AGRA NATIONAL HIGHWAY. TAL: MALEGAON	NASHIK	REGULAR	165	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
956	ON ROAD CONNECTING ATHORE BAAZAR & NH752G , MANMAD	NASHIK	REGULAR	150	ОВС	DC	24	18	432	25	45	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	,,	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi	11	12
957	BETWEEN KM STONE NO.:- 390 AND 395 ON LHS FROM OZAR TOWARDS CHANDWAD ON MUMBAI AGRA NATIONAL HIGHWAY, TAL:- NIPHAD	NASHIK	REGULAR	160	OPEN	DC	45	40	1800	25	75	DRAW OF LOTS	15	5
958	ON RHS BETWEEN KM STONE NO.:-306 AND 311 FROM ZODAGE VILLAGE TOWARDS CHANDWAD VILLAGE ON MUMBAI AGRA NATIONAL HIGHWAY. TAL:- MALEGAON	NASHIK	REGULAR	150	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
959	BETWEEN KM STONE NO.:- 43 AND 47 ON PIMPALGAON- NIPHAD ROAD ON STATE HIGHWAY, TAL:- NIPHAD	NASHIK	REGULAR	100	ST	CFS	40	35	1400	0	0	DRAW OF LOTS	0	3
960	BETWEEN KM STONE NO.:- 365 AND 371 ON RHS FROM PIMPALGAON TOWARDS MALEGAON ON MUMBAI AGRA NATIONAL HIGHWAY.	NASHIK	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
961	BETWEEN KM STONE NO.:- 403 AND 408 ON LHS FROM NASIK TOWARDS CHANDWAD ON MUMBAI AGRA NATIONAL HIGHWAY	NASHIK	REGULAR	150	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
962	ON NH752G, BETWEEN HOTEL PUNJAB NATIONAL AMRITSAR AND HOTEL RAMDEO BABA ON LHS FROM MANMAD TOWARDS YEOLA. TAL: YEOLA	NASHIK	REGULAR	150	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
963	FROM BHARWAS PHATA TOWARDS & UPTO VILLAGE DEOGAON BUS STOP ON STATE HIGHWAY, TAL: NIPHAD	NASHIK	REGULAR	100	SC	CFS	40	35	1400	0	0	DRAW OF LOTS	0	3
964	FROM BYTCO CHOWK TOWARDS AND UPTO SINNAR PHATA POLICE CHOWKI ON RHS ON NATIONAL HIGHWAY STRETCH IN NASIK MUNICIPAL LIMIT	NASHIK	REGULAR	160	OBC	СС	27	30	810	25	10	BIDDING	30	4
965	ON NH752G, FROM HOTEL MANAS TOWARDS & UPTO APMC MARKET YEOLA ON LHS. TAL: YEOLA	NASHIK	REGULAR	150	OPEN	CC	50	50	2500	25	10	BIDDING	30	5
966	ON ROAD CONNECTING IQBAL ROAD AND PAWARWADI VIA NAYAPURA IN MALEGAON MUNICIPAL CORPORATION LIMIT.	NASHIK	REGULAR	150	OPEN CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	5
967	ON RHS FROM MALEGAON NEW BUS STAND TOWARDS & UPTO HOTEL TAJ WITHIN MALEGAON MUNICIPAL CORPORATION LIMIT	NASHIK	REGULAR	160	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
968	BETWEEN OLD ADAGAON NAKA AND PODDAR INTERNATIONAL SCHOOL IN NASIK MUNICIPAL LIMITS.	NASHIK	REGULAR	155	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
969	FROM APMC MARKET YEOLA TOWARDS AND UPTO APEX HOTEL ON LHS ON NH752G. TAL: YEOLA	NASHIK	REGULAR	150	OPEN	CC	50	50	2500	25	10	BIDDING	30	5
970	FROM DWARKA CIRCLE TOWARDS & UPTO UPNAGAR POLICE STATION ON LHS ON NATIONAL HIGHWAY STRETCH IN NASIK MUNICIPAL LIMIT, TAL: NASIK	NASHIK	REGULAR	160	OPEN	CC	25	25	625	25	10	BIDDING	30	5
971	ON LHS FROM NANDUR NAKA PHATA TOWARDS & UPTO SHILAPUR TOLL PLAZA ON SH30, TAL:- NASHIK	NASHIK	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
972	ON SAIKHEDA BENDALI ROAD WITHIN 7 KM FROM SAIKHEDA CHATORI PHATA TOWARDS BENDALI VILLAGE ON SH 35	NASHIK	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		num Dimension of the site (in		arrange	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
	-	J	(Regular/Rural)		SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for	Draw of		
973	FROM DWARKA CIRCLE TO GANDHI NAGAR BUS STOP ON RHS ON NATIONAL HIGHWAY STRETCH IN NASIK MUNICIPAL LIMIT, TAL: NASIK	NASHIK	REGULAR	160	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
974	FROM UPNAGAR POLICE CHOWKI UPTO BYTCO CHOWK ON LHS TOWARDS SINNAR IN NATIONAL HIGHWAY STRETCH IN NASIK MUNICIPAL LIMIT	NASHIK	REGULAR	160	OPEN	CC	15	25	375	25	10	BIDDING	30	5
975	ON LHS FROM AURANGABAD NAKA TOWARDS & UPTO NANDUR NAKA PHATA WITHIN NASHIK MUNICIPAL LIMIT, TALUKA NASHIK	NASHIK	REGULAR	150	OBC	CC	20	20	400	25	10	BIDDING	30	4
976	BETWEEN BYTCO CHOWK AND JANALAXMI COOPERATIVE BANK FROM DEOLALI TOWARDS JAIL ROAD ON LHS WITHIN NASHIK MUNICIPAL CORPORATION LIMIT.	NASHIK	REGULAR	160	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
977	ON LHS FROM LASALGAON BUS STAND TOWARDS & UPTO CHANDWAD BUS STAND ON SH-7.	NASHIK	REGULAR	100	SC CC 1	CFS	40	35	1400	0	0	DRAW OF LOTS	0	3
978	FROM CHANDWAD VILLAGE TOWARDS AND UPTO SHIRSANE VILLAGE ON LHS ON MUMBAI AGRA NATIONAL HIGHWAY.	NASHIK	REGULAR	150	OPEN CC 2	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
979	BETWEEN KM STONE NO.:- 342 AND 332 ON MUMBAI AGRA NATIONAL HIGHWAY	NASHIK	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
980	BETWEEN SHAAN CARS WORKSHOP AND REHNUMA SCHOOL ON 30 METERS WADALA ROAD IN NASIK MUNICIPAL LIMIT.	NASHIK	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
981	FROM CHANDWAD VILLAGE TOWARDS AND UPTO SHIRSANE VILLAGE ON RHS ON MUMBAI AGRA NATIONAL HIGHWAY.	NASHIK	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
982	UPTO 2 KM FROM INDIRAGANDHI CHOWK ON TAKALI ROAD TOWARDS RAMDAS SWAMI MATH IN MUNICIPAL LIMIT	NASHIK	REGULAR	160	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
983	FROM JATRA HOTEL TOWARDS AND UPTO NANDUR NAKA PHATA ON RHS WITHIN NASHIK MUNICIPAL CORP .LIMIT, TAL: NASHIK	NASHIK	REGULAR	155	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
984	FROM JATRA HOTEL TOWARDS AND UPTO SHEWANTA LAWNS ON LHS WITHIN NASHIK MUNICIPAL CORP	NASHIK	REGULAR	155	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
985	VILLAGE DUGAON ON NH752G,TAL:- CHANDWAD	NASHIK	REGULAR	150	OBC	CC	40	45	1800	25	10	BIDDING	30	4
986	ON LHS FROM SHINDE TOLL PLAZA UPTO HP PAALSSE PETROL PUMP TOWARDS NASHIK ON NATIONAL HIGHWAY.	NASHIK	REGULAR	150	ST	CFS	50	50	2500	0	0	DRAW OF LOTS	0	3
987	FROM BYTCO CHOWK TOWARDS AND UPTO SINNAR PHATA POLICE CHOWKI ON LHS ON NATIONAL HIGHWAY STRETCH IN NASIK MUNICIPAL LIMIT	NASHIK	REGULAR	160	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
988	UPTO 1.5 KMS FROM AMRUTDHAM CHOWK, ON DR. NANASAHEB DHARMADHIKARI MARG, WITHIN NASHIK MUNICIPAL CORPORATION LIMIT	NASHIK	REGULAR	160	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
989	VILLAGE SHINDE ON NATIONAL HIGHWAY. TALUKA:- NASHIK	NASHIK	REGULAR	150	ОВС	DC	40	45	1800	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		oum Dimension		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in Kls	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
990	ON ASHOKA MARG CONNECTING WADALA ROAD AND INOX CINEMA WITHIN NASHIK MUNICIPAL LIMIT	NASHIK	REGULAR	150	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
991	BETWEEN KM STONE NO.:- 363 AND 353 FROM PIMPALGAON TOWARDS MALEGAON ON MUMBAI AGRA NATIONAL HIGHWAY	NASHIK	REGULAR	150	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
992	ON LHS, FROM MALEGAON NEW BUS STAND TOWARDS & UPTO DAREGAON NAKA WITHIN MALEGAON CORPORATION LIMIT.	NASHIK	REGULAR	150	OPEN CC 1	DC	25	10	250	25	45	DRAW OF LOTS	15	5
993	FROM S.N.D. ENGINEERING COLLEGE-YEOLA UPTO PATODA BUS STOP ON SH 25, TAL: YEOLA	NASHIK	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
994	ON RHS FROM CHURCH, MANMAD UPTO FAUJI DHABA TOWARDS YEOLA ON NH752G	NASHIK	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
995	BETWEEN KM STONE NO.:- 333 AND 323 ON MUMBAI AGRA NATIONAL HIGHWAY	NASHIK	REGULAR	150	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
996	BETWEEN KM STONE NO.:- 407 AND 410 ON RHS FROM DWARKA CIRCLE TOWARDS PIMPALGAON ON HIGHWAY STRETCH IN NASIK MUNICIPAL LIMIT.	NASHIK	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
997	WITHIN 1 KM FROM BSNL OFFICE ON 60 FT SATANA MALEGAON CAMP ROAD TOWARDS MALEGAON CAMP	NASHIK	REGULAR	150	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
998	BETWEEN KM STONE 365 AND 371 ON RHS FROM PIMPALGAON TOWARDS MALEGAON ON MUMBAI AGRA NATIONAL HIGHWAY.	NASHIK	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
999	BETWEEN KM STONE NO.:- 5 TO 9 ON UMRANE- DEOLA ROAD (SH 22), TAL:- DEOLA	NASHIK	REGULAR	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
1000	VILLAGE JAULKHE VANI ON PIMPALGAON VANI ROAD (NEW NH), TAL:- DINDORI	NASHIK	REGULAR	150	OPEN	DC	60	80	4800	25	75	DRAW OF LOTS	15	5
1001	ON LHS FROM PAPAYA NURSERY CIRCLE TOWRADS AMBAD UPTO AMBAD ON AMBAD SATPUR LINK ROAD	NASHIK	REGULAR	150	OBC	СС	50	50	2500	25	10	BIDDING	30	4
1002	FROM GOVIND NAGAR TO CITY CENTRE MALL TOWARDS CITY CENTRE MALL ON RHS, NASHIK CITY	NASHIK	REGULAR	150	OPEN	DC	30	40	1200	25	60	DRAW OF LOTS	15	5
1003	VILLAGE GOLSHI ON NASHIK PETH HIGHWAY NH848	NASHIK	REGULAR	150	ST PH	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
1004	VILLAGE MULLER ON SH16, TAL SATANA	NASHIK	REGULAR	120	OBC PH	CC	40	50	2000	25	10	BIDDING	30	4
1005	ON LHS ON SINNER BYPASS WHILE GOING FROM NASHIK TOWARDS PUNE	NASHIK	REGULAR	250	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
1006	WITHIN 3 KM ON RHS FROM PATHARDI PHATA TOWARDS DEOLALI ON MAIN ROAD	NASHIK	REGULAR	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
1007	WITHIN 2 KMS ON LHS FROM SANDIP FOUNDATION TOWARDS NASIK ON SH30	NASHIK	REGULAR	100	OBC	CC	25	30	750	25	10	BIDDING	30	4
1008	BETWEEN GARWARE AND XLO POINT ON AMBAD SATPUR LINK ROAD	NASHIK	REGULAR	150	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	,,	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi	11	12
1009	FROM ITI CIRCLE UPTO AND TOWARDS SAKAL CIRCLE ON LHS OF TRIMBAK ROAD	NASHIK	REGULAR	150	OPEN	DC	30	50	1500	25	60	DRAW OF LOTS	15	5
1010	WITHIN 1 KM FROM MAULI SUPER MARKET TOWARDS VRINDAVAN GARDEN IN KAMATWADA	NASHIK	REGULAR	150	OPEN	DC	25	30	750	25	60	DRAW OF LOTS	15	5
1011	VILLAGE CHACHADGAON ON NASIK PETH ROAD NH 848	NASHIK	REGULAR	150	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1012	FROM SURGANA TEHSIL OFFICE UPTO KM STONE 1 ON SH 22,VILLAGE SURGANA	NASHIK	REGULAR	100	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1013	ON ROAD CONNECTING TRIMBAK ROAD AND GANGAPUR ROAD VIA MAHINDRA AND MAHINDRA PLANT	NASHIK	REGULAR	200	OPEN	DC	25	45	1125	25	60	DRAW OF LOTS	15	5
1014	ON PIPELINE ROAD CONNECTING GANGAPUR ROAD AND PERFECT CIRCLE,NASHIK CITY	NASHIK	REGULAR	150	OPEN	DC	20	35	700	25	60	DRAW OF LOTS	15	5
1015	WITHIN 5 KM ON LHS FROM BORGAON BUS STOP TOWARDS NASHIK ON VANI SAPUTARA ROAD (NEW NH)	NASHIK	REGULAR	150	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
1016	WITHIN 3 KMS FROM SINNER APMC MARKET TOWARDS SAIKHEDA ON SINNER SAIKHEDA ROAD	NASHIK	REGULAR	100	OBC	DC	40	50	2000	25	60	DRAW OF LOTS	15	4
1017	VILLAGE PANGRI ON NH160	NASHIK	REGULAR	150	SC	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
1018	VILLAGE MUNDEGAON ON MUMAI AGRA ROAD (NH)	NASHIK	REGULAR	150	OPEN CC 1	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
1019	ON ROAD FROM PATHARDI PHATA TO CITY CENTRE MALL THROUGH UNTWADI	NASHIK	REGULAR	150	OBC	DC	25	30	750	25	60	DRAW OF LOTS	15	4
1020	FROM OLD GANGAPUR NAKA CIRCLE TO RAKKA LAWNS ON HANUMANWADI LINK ROAD	NASHIK	REGULAR	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
1021	WITHIN 4 KMS FROM NANDUR SHINGOTE BUS STOP TOWARDS SHRIDI AIR PORT ON STATE HIGHWAY	NASHIK	REGULAR	100	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1022	VILLAGE HATGAD, ON SAPUTARA VANI ROAD, ON RHS FROM SAPUTARA TOWARDS VANI (NEW NH)	NASHIK	REGULAR	150	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1023	ON LHS FROM SAPKAL KNOWLEDGE HUB TO TRIMBAKESHWAR TEMPLE TOWARDS TRIAMBAKESHWAR TEMPLE	NASHIK	REGULAR	100	OBC	СС	40	50	2000	25	10	BIDDING	30	4
1024	ON LHS UPTO 2 KM FROM PATHARDI PHATA TOWARDS MUMBAI ON SERVICE ROAD	NASHIK	REGULAR	175	OPEN	DC	30	40	1200	25	60	DRAW OF LOTS	15	5
1025	WITHIN 3 KMS ON LHS FROM JAWHARLAL NEHRU BOTANICAL GARDEN TOWARDS IGATPURI ON MUMBAI AGRA ROAD (NH)	NASHIK	REGULAR	300	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1026	VILLAGE LONARWADI ON GHOTI SINNER HIGHWAY (NEW NH160)	NASHIK	REGULAR	150	SC CC 1	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1027	ON LHS OF MAIN ROAD FROM XLO POINT UPTO AND TOWARDS PAPAYA NURSURY CIRCLE	NASHIK	REGULAR	150	OBC CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	4
1028	VILLAGE LOHNER ON DEOLA SATANA ROAD ON SH7	NASHIK	REGULAR	120	OPEN	DC	50	60	3000	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OBEN PH	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
1029	WITHIN 2 KMS FROM WADNER GATE TOWARDS PATHARDI GAON ON MAIN ROAD IN NASIK CITY	NASHIK	REGULAR	150	OPEN PH	CC	30	40	1200	25	10	BIDDING	30	5
1030	WITHIN 5KMS ON LHS FROM WANI HOSPITAL TOWARDS SAPUTARA ON WANI SAPUTARA ROAD	NASHIK	REGULAR	180	SC	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
1031	BETWEEN MAHINDRA CIE AUTOMOTIVE AND LITTLE FLOWER SCHOOL ON AMBAD KAMATWADA ROAD IN NASHIK CITY	NASHIK	REGULAR	150	OBC	CC	20	35	700	25	10	BIDDING	30	4
1032	WITHIN 2 KMS ON RHS FROM DHAKAMBE TOLL PLAZA TOWARDS DINDORI ON SH17	NASHIK	REGULAR	150	OPEN	CC	50	60	3000	25	10	BIDDING	30	5
1033	VILLAGE GONDE ON NASIK PUNE HIGHWAY (NH)	NASHIK	REGULAR	150	OBC	DC	50	60	3000	25	75	DRAW OF LOTS	15	4
1034	WITHIN 3 KMS FROM ST BUS STOP OF LAKHMAPUR TOWARDS NIMBOLA ON LAKHMAPUR NIMBOLA ROAD	NASHIK	REGULAR	100	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1035	WITHIN 2 KMS ON RHS FROM PATHARDI GAON CIRCLE TOWARDS VILLAGE WADNER	NASHIK	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
1036	WITHIN 3 KMS ON LHS FROM PATHARDI GAON CIRCLE TOWARDS VILLAGE WADNER	NASHIK	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
1037	FROM GOVIND NAGAR TO CITY CENTRE MALL TOWARDS CITY CENTRE MALL ON LHS, NASHIK CITY	NASHIK	REGULAR	150	OPEN	DC	30	40	1200	25	60	DRAW OF LOTS	15	5
1038	BETWEEN MUMBAI NAKA AND DWARKA CIRCLE	NASHIK	REGULAR	200	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
1039	VILLEGE PETH ON NH 848	NASHIK	REGULAR	150	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1040	WITHIN 3 KM ON LHS FROM PATHARDI PHATA TOWARDS DEOLALI ON MAIN ROAD	NASHIK	REGULAR	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
1041	VILLAGE PATHARE ON NH160	NASHIK	REGULAR	150	OPEN CC 1	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
1042	WITHIN 3 KMS ON LHS FROM DHAKAMBE TOLL PLAZA TOWARDS DINDORI ON SH17	NASHIK	REGULAR	120	ОВС	DC	40	50	2000	25	60	DRAW OF LOTS	15	4
1043	VILLAGE KARANJALI ON NASIK PETH HIGHWAY NH848	NASHIK	REGULAR	150	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1044	WITHIN 3 KMS FROM RAO HOTEL TOWARDS MHASRUL ON MHASRUL MAKMALABAD LINK ROAD	NASHIK	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
1045	VILLAGE AVANKHED ON SH7, TAL- SATANA	NASHIK	REGULAR	100	ОВС	DC	40	50	2000	25	60	DRAW OF LOTS	15	4
1046	WITHIN 3 KMS FROM MAKMALABAD ST BUS STOP TOWARDS GIRNARE	NASHIK	REGULAR	200	OPEN	DC	50	50	2500	25	60	DRAW OF LOTS	15	5
1047	WITHIN 2 KMS FROM ADIVASI ASHRAMSALA OF PARDESHVADI SHIVAR TOWARDS BHANDARDARA ON STATE HIGHWAY	NASHIK	REGULAR	100	OPEN	CC	40	50	2000	25	10	BIDDING	30	5
1048	VILLAGE KHOPDI ON NH160	NASHIK	REGULAR	150	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OBEN PH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
1049	WITHIN 5 KMS FROM DEOLA COLLEGE ON DEOLA SATANA ROAD ON SH7, TAL-DEOLA	NASHIK	REGULAR	150	ОВС	DC	40	50	2000	25	60	DRAW OF LOTS	15	4
1050	VILLAGE VANOLI SHIVAR ON SATANA TAHRABAD ROAD	NASHIK	REGULAR	120	OPEN	DC	40	50	2000	25	60	DRAW OF LOTS	15	5
1051	FROM MAULI LAWNS IN KAMATWADA TO SUNITA ENGINEERING CORPORTION ON AMABAD KAMATWADA ROAD	NASHIK	REGULAR	150	OPEN	DC	18	17	306	25	60	DRAW OF LOTS	15	5
1052	ON LHS FROM BPCL SHIVAJI TUNGAR PETROL PUMP TOWARDS SAPKAL KNOWLEDGE HUB UPTO SAPKAL KNOWLEDGE HUB, TAL- TRIMBAKESHWAR	NASHIK	REGULAR	100	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1053	ON RHS ON SINNER BYPASS WHILE GOING FROM NASHIK TOWARDS PUNE	NASHIK	REGULAR	200	OBC	DC	60	60	3600	25	75	DRAW OF LOTS	15	4
1054	WITHIN 4 KMS ON LHS WHILE GOING FROM NAMPUR APMC MARKET TOWARDS SAKRI ON NAMPUR SAKRI ROAD	NASHIK	REGULAR	120	OPEN	DC	30	40	1200	25	60	DRAW OF LOTS	15	5
1055	ON LHS,FROM VITTHAL RUKHAMANI MANDIR UPTO AND TOWARDS JUNCTION OF GHOTI SINNAR HIGHWAY AND MUMBAI AGRA NATIONAL HIGHWAY,ON MUMBAI AGRA NATIONAL HIGHWAY (NH)	NASHIK	REGULAR	200	OPEN	CC	50	60	3000	25	10	BIDDING	30	5
1056	WITHIN 3 KM FROM DEOLA APMC MARKET TOWARDS KALWAN ON SH	NASHIK	REGULAR	100	OBC	СС	40	50	2000	25	10	BIDDING	30	4
1057	WITHIN 2 KMS ON LHS FROM NASHIK RTO TOWARDS PETH ON NH 848.	NASHIK	REGULAR	150	SC	CFS	45	50	2250	0	0	DRAW OF LOTS	0	3
1058	WITHIN 4KM FROM DINDORI BUS STAND TOWARDS WANI ON SH17, TAL- DINDORI	NASHIK	REGULAR	200	OPEN	DC	50	60	3000	25	60	DRAW OF LOTS	15	5
1059	ON ROAD CONNECTING BPCL PETROL PUMP AT OLD ADGAON NAKA AND MUMBAI AGRA HIGHWAY VIA PANCHAVATI BUS DEPOT	NASHIK	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
1060	BETWEEN MUMBAI NAKA AND TRIMBAK NAKA NASIK CITY	NASHIK	REGULAR	150	OBC	DC	25	30	750	25	60	DRAW OF LOTS	15	4
1061	VILLAGE SAWALGHAT ON NH848	NASHIK	REGULAR	150	ST	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
1062	WITHIN 2 KMS ON RHS FROM NASHIK RTO ON NH 848 TOWARDS PETH.	NASHIK	REGULAR	150	OPEN	DC	20	40	800	25	60	DRAW OF LOTS	15	5
1063	WITHIN 2 KMS FROM MAKHMALABAD BUS STOP TOWARDS NASHIK	NASHIK	REGULAR	150	OPEN	DC	24	30	720	25	60	DRAW OF LOTS	15	5
1064	BETWEEN GHOTI TOLL PLAZA AND MAHINDRA PLANT ON LHS FROM GHOTI TOWARDS NASHIK ON NH .	NASHIK	REGULAR	150	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1065	WITHIN 3 KMS FROM JEHAN CIRCLE TOWARDS SOMESHWAR TEMPLE ON GANGAPUR ROAD	NASHIK	REGULAR	180	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
1066	WITHIN 3 KMS FROM SOMESHWAR TEMPLE ON GANGAPUR ROAD TOWARDS GIRNARE	NASHIK	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi ng	11	12
1067	VILLAGE BHAVALI BUDRUK ON GHOTI TRIMBAK ROAD ON SH	NASHIK	REGULAR	100	OBC	DC	40	50	2000	25	60	DRAW OF LOTS	15	4
1068	WITHIN 3 KMS OF LHS ON NASIK PUNE HIGHWAY (NH) FROM DODI APMC MARKET TOWARDS PUNE	NASHIK	REGULAR	150	OPEN CC 1	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
1069	VILLAGE TISGAON ON PIMPALGAON VANI ROAD (NEW NH), TAL:- DINDORI	NASHIK	REGULAR	150	OPEN	CC	40	50	2000	25	10	BIDDING	30	5
1070	FROM BHUMKAR CHOWK TO MARUNJI PHATA	PUNE	Regular	300	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1071	AUNDH WITHIN PMC LIMITS	PUNE	Regular	350	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1072	SHIVAJIWADI ROAD NO 02 AT MOSHI	PUNE	Regular	250	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1073	FROM MASALA KATA(WEIGH BRIDGE) UPTO 1KM TOWARDS SWAMI SAMARTH SCHOOL ON LHS ON INDRAYANI NAGAR ROAD	PUNE	Regular	350	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1074	ON PAUD ROAD FROM CHANDNI CHOWK UP TO GOTAWADE PHATA ON LHS	PUNE	Regular	220	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1075	KIWALE ON NH WITHIN MUNICIPAL LIMITS	PUNE	Regular	350	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1076	WALHEKARWADI IN PCMC LIMITS	PUNE	Regular	200	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1077	PASHAN TO SUS ON EITHER SIDE	PUNE	Regular	220	OPEN CC 2	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1078	RAHATNI IN PCMC LIMITS	PUNE	Regular	200	OBC CC 1	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1079	PIRANGUT TO BHUGAON ON MULSHI ROAD	PUNE	Regular	150	ST CC 1	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1080	ON KALEWADI- RAHATANI ROAD BETWEEN GODAMBE CHOWK AND RAHATANI CHOWK	PUNE	Regular	200	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1081	FROM INFOSYS CIRCLE UPTO RAJIV GANDHI CHOWK (HINJEWADI PHASE 2 ROAD)	PUNE	Regular	300	OPEN	CC	20	20	400	25	10	Bidding	30	5
1082	FROM DANGE CHOWK UPTO WAKAD	PUNE	Regular	300	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1083	FROM BHUMKAR CHOWK UPTO LAXMI CHOWK ON EITHERSIDE	PUNE	Regular	300	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1084	CHANDANI CHOWK TO WARJE FLYOVER ON EITHER SIDE	PUNE	Regular	300	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1085	BALAJI CHOWK TO SAI CHOWK ON SUS ROAD ON EITHER SIDE	PUNE	Regular	200	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1086	MARUNJI	PUNE	Regular	220	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1087	FROM THERMEX CHOWK TO YAMUNA NAGAR CHOWK ON RHS IN PCMC LIMITS	PUNE	Regular	300	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1088	FROM SANT TUKARAM BRIDGE UPTO DANGE CHOWK ON BRTS ROAD	PUNE	Regular	300	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1089	KALEWADI IN PCMC LIMITS	PUNE	Regular	300	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1090	RAVET IN PCMC LIMITS	PUNE	Regular	300	OBC	CC	24	26	624	25	10	Bidding	30	4
1091	SHIVANE IN PMC LIMITS	PUNE	Regular	250	OPEN CC 1	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1092	TALVADE ON DEHU ALANDI ROAD	PUNE	Regular	250	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1093	FROM LAXMI CHOWK UPTO INTERSECTION OF HINJEWADI KASARSAI ROAD WITH HINJEWADI PHASE 2 ROAD	PUNE	Regular	220	OBC	CC	24	26	624	25	10	Bidding	30	4
1094	FROM TALVADE CHOWK UPTO 1.8 KMS ON RHS ON DEHU ALANDI ROAD TOWARDS CHIKHALI	PUNE	Regular	250	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1095	CHANDNI CHOWK TO PASHAN -SUS BRIDGE ON NH WITHIN PMC LIMITS	PUNE	Regular	200	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1096	ON MULSHI ROAD, FROM PIRANGUT UPTO 3 KMS TOWARDS CHANDNI CHOWK	PUNE	Regular	280	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1097	THERGAON IN PCMC LIMTS	PUNE	Regular	200	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1098	FROM WANJLE BRIGDE UPTO AMBEDKAR CHOWK ON LHS AT WARJE	PUNE	Regular	250	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1099	FROM BAIRAVNATH TEMPLE UPTO BAPDEV MANDIR IN MOSHI ON NH WITHIN PCMC LIMITS	PUNE	Regular	250	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1100	CHINCHWAD WITHIN PCMC LIMITS	PUNE	Regular	250	OBC	CC	20	20	400	25	10	Bidding	30	4
1101	KASARWADI IN PCMC LIMITS	PUNE	Regular	250	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1102	WAKAD (WITHIN MUNICIPAL LIMITS)	PUNE	Regular	250	OPEN	CC	20	20	400	25	10	Bidding	30	5
1103	PASHAN SUTARWADI LINK RD. (CONNECTING SUS ROAD TO SUTARWADI RD)	PUNE	Regular	300	OPEN	СС	24	26	624	25	10	Bidding	30	5
1104	SANE CHOWK TO CHIKLI ON CHIKLI AKURDI ROAD	PUNE	Regular	300	OBC PH	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1105	BHOSARI WITHIN PCMC LIMITS	PUNE	Regular	300	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1106	BHONDVE CHOWK TO CHATRAPATI SHIVAJI CHOWK ON EITHER SIDE OF ROAD IN PCMC LIMITS	PUNE	Regular	250	OPEN	СС	20	20	400	25	10	Bidding	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		num Dimensi of the site (ii 8		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		•	(Regular/Rural)		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund	Draw of	1	12
1107	FROM ADITYA BIRLA CHOWK UPTO CHAFEKAR CHOWK IN PCMC LIMITS	PUNE	Regular	300	OPEN	СС	20	20	400	25	10	Bidding	30	5
1108	VILLAGE CHANDE ON NANDE- PIRANGUT ROAD	PUNE	Regular	300	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1109	ON NH-4: TOWARDS MUMBAI BETWEEN SUS-PASHAN BRIDGE AND WAKAD BRIDGE ON LHS	PUNE	Regular	300	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1110	ON SPINE ROAD IN PCMC AREA	PUNE	Regular	250	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1111	ON TAPOVAN MANDIR ROAD FROM JHAMTAHI CORNER CHOWK TO KAPSE CHOWK	PUNE	Regular	200	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1112	DEHU GAON, TAL HAVELI	PUNE	Regular	160	OBC	DC	24	26	624	25	45	DRAW OF LOTS	15	4
1113	FROM RAJIV GANDHI BRIDGE AT AUNDH TO DANGE CHOWK ON EITHER SIDE OF THE ROAD WITHIN PMC/PCMC LIMITS	PUNE	Regular	250	OPEN	CC	24	24	576	25	10	Bidding	30	5
1114	MAHALUNGE ON NANDE BALEWADI ROAD	PUNE	Regular	300	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1115	ON NEW AIRPORT ROAD WITHIN 2 KM OF YERWADA POST OFFICE ON LHS GOING TOWARDS AIRPORT	PUNE	Regular	250	OBC	СС	24	26	624	25	10	Bidding	30	4
1116	ON NORTH MAIN ROAD ON RHS TOWARDS KOREGAON PARK WITHIN 1 KM OF GAIKWAD CNG FILLING STATION	PUNE	Regular	250	OPEN	CC	20	20	400	25	10	Bidding	30	5
1117	ON NH4 (PUNE-BANGALORE ROAD) BETWEEN NEW KATRAJ TUNNEL AND NAVALE BRIDGE ON RHS WHILE GOING TOWARDS PUNE	PUNE	Regular	200	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1118	ON LHS ON WAGHOLI KESNAND ROAD WITHIN 3 KM OF KESNAND PHATA	PUNE	Regular	155	OBC	DC	24	26	624	25	45	DRAW OF LOTS	15	4
1119	ON OLD MUNDHWA ROAD WITHIN 1 KM OF MAHA E-SEVA KENDRA	PUNE	Regular	165	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1120	WITHIN 1 KM OF MUNDHWA RAILWAY FLYOVER ON THE RHS WHILE GOING TOWARDS KHARADI	PUNE	Regular	150	OPEN	CC	24	26	624	25	10	Bidding	30	5
1121	ON GHORPADI ROAD ON LHS WHILE GOING TOWARDS KOREGAON PARK WITHIN 2 KM OF MUNDHWA CHOWK	PUNE	Regular	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
1122	ON CHATRAPATI SHIVAJI MAHRAJ RASTA ROAD WITHIN 1 KM OF UMARJI HOSPITAL ON RHS GOING TOWARDS SWARGATE	PUNE	Regular	150	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1123	WITHIN 1KM OF NAVALE BRIDGE TOWARDS WARJE	PUNE	Regular	180	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1124	WITHIN 1KM OF KATRAJ BUS DEPOT ON KATRAJ AMBEGAON ROAD	PUNE	Regular	170	OPEN	CC	24	26	624	25	10	Bidding	30	5
1125	WITHIN 0.5KM OF DORABJEE,S ROYALE HERITAGE MALL, IN NIBM	PUNE	Regular	200	OPEN	CC	24	26	624	25	10	Bidding	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1126	ON MAMASAHEB BADADE ROAD WITHIN 1 KM OF HOTEL SHANTAI ON EITHER SIDE WITHIN PMC (RASTA PETH)	PUNE	Regular	280	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1127	ON ALANDI MARKAL ROAD WITHIN 2 KM FROM TULAPUR VILLAGE ON EITHER SIDE	PUNE	Regular	125	OBC CC 1	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1128	WITHIN VADGAON BUDRUK ON VADGAON BUDRUK NARHE ROAD	PUNE	Regular	190	ST CC 1	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1129	WITHIN 3 KM OF SHINDEWADI PHATA ON RHS WHILE GOING FROM PUNE TO BANGALORE ON NH-4	PUNE	Regular	200	OPEN PH	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1130	WITHIN 1 KM OF SHINDE HIGH SCHOOL GROUND ON PADMAVATI SHANKER ROAD ROAD ON LHS GOING TOWARDS CITY PRIDE	PUNE	Regular	150	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1131	ON KATRAJ GHAT ROAD WITHIN 1 KM OF KATRAJ CHOWK ON LHS WHILE GOING TOWARDS SATARA	PUNE	Regular	280	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1132	WITHIN 3KM FROM KHADI MACHINE CHOWK TOWARDS KATRAJ ON KONDHWA KATRAJ ROAD	PUNE	Regular	165	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1133	ON SERVICE ROAD OF MUMBAI PUNE BYPASS ROAD WITHIN 3 KM OF NAVALE BRIDGE ON RHS WHILE GOING TOWARDS KATRAJ CHOWK	PUNE	Regular	290	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1134	ON SHIKRAPUR DHAMARI ROAD WITHIN 1 KM OF VILLAGE DHAMARI	PUNE	Regular	150	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1135	ON PUNE NAGAR ROAD WITHIN 1.5KM OF INORBIT MALL IN VADGAON SHERI	PUNE	Regular	250	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1136 1137	WITHIN 2 KM OF DIGHI ON SAI PARK ROAD ON PUNE NAGAR ROAD BETWEEN KOREGAON BHIMA AND SHIKRAPUR ON LHS WHILE TRAVELING FROM SHIRUR TO PUNE	PUNE PUNE	Regular Regular	200	OPEN ST	CC CFS	24 40	26 45	624 1800	25 0	10 0	Bidding DRAW OF LOTS	30 0	5 3
1138	ON TANAJI MALUSARE ROAD JAYDEO NAGAR WITHIN 5 KM OF RAJARAM CHOWK	PUNE	Regular	210	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1139	ON MOLEDINA ROAD WITHIN 1 KM OF MAHESH LUNCH HOME	PUNE	Regular	250	OPEN	CC	24	26	624	25	10	Bidding	30	5
1140	ON MARKET YARD ROAD WITHIN ONE KM OF MARKET YARD-GULTEKDI ON EITHIR SIDE	PUNE	Regular	190	OPEN CC 1	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1141	FROM GAIKWAD WASTI CHOWK TOWARDS VIBGYOR SCHOOL ON LHS ON HCMTR ROAD	PUNE	Regular	240	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1142	WITHIN 1 KM OF HOTEL RADISSON BLUE ON KHARADI WAGHOLI ROAD ON THE LHS	PUNE	Regular	240	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1143	WITHIN 3 KM OF RANJANGAON LG PLANT ON PUNE NAGAR HIGHWAY ON LHS WHILE GOING TOWARDS PUNE FROM SHIRUR	PUNE	Regular	200	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1144	ON EITHER SIDE ON GANGADHAM SHRUTANJAY ROAD WITHIN 1 KM OF KAKDE CHOWK	PUNE	Regular	160	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OBEN PH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
1145	ON PUNE AHMEDNAGAR HIGHWAY WITHIN 3 KM OF VIMAN NAGAR TRAVELLING TOWARDS AHMEDNAGAR	PUNE	Regular	150	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1146	ON RHS ON BIBWEWADI KONDHWA ROAD, WITHIN 1 KM OF KONDHWA CHOWK	PUNE	Regular	155	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1147	ON NH4 BETWEEN NEW KATRAJ TUNNEL AND NAVALE BRIDGE ON LHS WHILE GOING TOWARDS PUNE	PUNE	Regular	200	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1148	ON NARHE TO AMBEGAON ROAD ON LHS WHILE GOING TOWARDS AMBEGAON WITHIN 1KM OF NARHE BRIDGE	PUNE	Regular	150	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1149	ON SHIRUR SANGHVI ROAD WITHIN SHIRUR CITY WITHIN 1 KM OF MSEB SUB STATION	PUNE	Regular	130	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1150	ON RHS ON PARVATI ROAD WITHIN 1 KM OF KONDHWA CHOWK	PUNE	Regular	160	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1151	WITHIN ONE KM OF SEVEN LOVES CHOWK TRAVELLING TOWARDS EPFO OFFICE	PUNE	Regular	200	OPEN	CC	24	26	624	25	10	Bidding	30	5
1152	ON RHS ON WAGHOLI TO KESNAND ROAD WITHIN 3 KM OF KESNAND PHATA	PUNE	Regular	170	OPEN	DC	24	26	624	25	45	DRAW OF LOTS	15	5
1153	ON WANOWRIE FATIMA NAGAR ROAD	PUNE	Regular	150	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1154	ON VIMANNAGAR DORABJEE'S ROAD WITHIN 2KM OF GANPATI CHOWK	PUNE	Regular	200	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1155	ON SINHAGAD ROAD WITHIN 1KM OF NANDED CITY MAIN GATE ON RHS WHILE GOING TOWARDS KHADAKWASLA	PUNE	Regular	250	OPEN	CC	24	26	624	25	10	Bidding	30	5
1156	ON NOBEL HOSPITAL TO MUNDHWA ROAD WITHIN 2 KM OF AMANORA MALL ON RHS WHILE GOING TOWARDS MUNDHWA	PUNE	Regular	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1157	ON ALANDI MARKAL ROAD WITHIN 2 KM FROM PHULGAON VILLAGE ON EITHER SIDE	PUNE	Regular	125	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1158	ON NAVALE BRIDGE TO SINHAGAD ROAD ON LHS WITHIN 1KM OF NAVALE BRIDGE WHILE GOING TOWARDS SINHAGAD	PUNE	Regular	190	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1159	ON PUNE AHMEDNAGAR HIGHWAY ON LHS WHILE GOING TOWARDS AHMEDNAGAR WITHIN 5 KM OF KUKADI RIVER	PUNE	Regular	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1160	ON CHOUFULLA VADHUBUDRUK ROAD WITHIN 1 KM OF VILLAGE CHOUFULLA	PUNE	Regular	115	ОВС	DC	36	40	1440	25	45	DRAW OF LOTS	15	4
1161	WITHIN 1 KM OF CHOUDHARI WASTI IN KHARADI	PUNE	Regular	250	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1162	WITHIN 3 KM FROM VILLAGE AMBLE ON LHS ON SHIRUR-NHAVARE ROAD	PUNE	Regular	150	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1163	WITHIN 5 KM OF KATRAJ CHOWK ON LHS WHILE TRAVELLING TOWARDS KATRAJ ON KATRAJ DEHU BYEPASS ROAD	PUNE	Regular	250	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1164	WITHIN 3 KM FROM RUBY HALL CLINIC, WANOWRIE TOWARDS PUNE CANTONMENT ON KEDARI NAGAR ROAD	PUNE	Regular	150	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1165	IN DHAYARI VILLAGE WITHIN 1 KM OF KHADEWADI	PUNE	Regular	290	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1166	WITHIN 10 KM OF BHOR ON BHOR KAPURHOL ROAD	PUNE	Regular	155	OPEN CC 1	DC	36	40	1440	25	45	DRAW OF LOTS	15	5
1167	ON KALYANI NAGAR VIMANNAGAR ROAD ON LHS WITHIN 3 KM OF THE AIRPORT	PUNE	Regular	165	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1168	WITHIN 6 KM OF ASHTAPUR ON URULI ASHTAPUR ROAD ON LHS WHILE GOING FROM ASHTAPUR TO BHVRAPUR PULL	PUNE	Regular	160	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1169	WITHIN 2 KM CHARHOLI BUDRUK ON CHARHOLI ROAD ON LHS WHILE GOING TOWARDS ALANDI	PUNE	Regular	160	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1170	ON BANGALORE- PUNE HIGHWAY (NH4) WITHIN 5 KM FROM NASRAPUR PHATA TOWARDS PUNE ON LHS	PUNE	Regular	160	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1171	ON SITARAM THAKARE ROAD ON RHS GOING TOWARDS KONDHWA	PUNE	Regular	165	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1172	WITHIN 5KM OF DIGHI ON ALANDI ROAD	PUNE	Regular	170	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1173	ON DHAYARI PHATA ROAD WITHIN NARHEGAON	PUNE	Regular	210	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1174	ON SHIRUR SANGHVI ROAD, WITHIN 1 KM FROM JUNCTION OF PUNE NAGAR ROAD	PUNE	Regular	150	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1175	FROM MARVEL GANGA BOULEVARD, MOHAMMEDWADI TO NIBM JUNCTION ON NIBM ROAD	PUNE	REGULAR	240	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1176	BETWEEN RAHEJHA VISTAS PREMIERE, MOHAMMED WADI AND NIBM POST OFFICE ON SHANKARRAO MADHUKAR GHULE PATIL ROAD	PUNE	REGULAR	160	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1177	WIHTIN 1 KM FROM SHIVAJI CHOWK, SASWAD TOWARDS PARGAON MEMANE ON SASWAD PARGAON MEMANE ROAD	PUNE	REGULAR	150	SC CC 1	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1178	WITHIN 2 KM FROM JEJURI MUNCIPAL FIRE STATION TOWARDS SASWAD ON PUNE PANDHARPUR ROAD	PUNE	REGULAR	150	OPEN CC 2	DC	36	40	1440	25	45	DRAW OF LOTS	15	5
1179	BETWEEN 1 KM AND 10 KM FROM PATAS TOLL PLAZA TOWARDS SHOLAPUR ON RHS PUNE SHOLAPUR HIGHWAY, NH65	PUNE	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1180	K RAHEJAVISTA CHOWK TO NIBM ROAD	PUNE	REGULAR	160	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1181	SHETPHALGADE VILLAGE ON BARAMATI BHIGWAN ROAD ON SH 54	PUNE	REGULAR	100	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1182	WITHIN 2 KM FROM RUBY HALL CLINIC, WANOWRIE TOWARDS MOHAMMADWADI HADAPSAR ROAD	PUNE	REGULAR	210	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1183	WITHIN 2 KM FROM MEGA CENTRE, HADAPSAR TOWARDS PUNE CITY ON LHS ON PUNE SHOLAPUR HIGHWAY, NH65	PUNE	REGULAR	190	OPEN	CC	20	20	400	25	10	Bidding	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		num Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
			(Regular/Rural)		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for	Draw of		
1184	WITHIN 3.5 KM FROM NOBLE HOSPITAL TOWARDS MUNDHWA ON MAGARPATTA ROAD ON LHS	PUNE	REGULAR	240	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1185	FROM SP INFOTECH CITY TO SAYKARWADI ON FURSUNGI SAYKARWADI ROAD	PUNE	REGULAR	150	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1186	WITHIN 4 KM FROM PUNE SHOLAPUR HIGHWAY (NH 65) TOWARDS THEUR ON SH58	PUNE	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1187	WITHIN 5 KM FROM MEGA CENTRE, HADAPSAR TOWARDS LONI ON LHS ON PUNE SHOLAPUR HIGHWAY, NH 65	PUNE	REGULAR	190	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1188	WITHIN 5 KM FROM MUNDHWA CHOWK TOWARDS MANJARI KHURD ON MUNDHWA MANJARI ROAD	PUNE	REGULAR	210	OPEN	CC	20	20	400	25	10	Bidding	30	5
1189	WITHIN 5 KM FROM ADARSH SCHOOL, KANGAON TOWARDS PATAS ON PATAS KANGAON ROAD	PUNE	REGULAR	100	OBC	DC	36	40	1440	25	45	DRAW OF LOTS	15	4
1190	AT UNDRI	PUNE	REGULAR	220	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1191	WITHIN 5 KM FROM SASANE NAGAR RAILWAY CROSSING TOWARDS UNDRI CHOWK ON MOHAMMADWADI HADAPSAR ROAD	PUNE	REGULAR	210	OPEN	СС	20	20	400	25	10	Bidding	30	5
1192	BETWEEN 1 KM AND 10 KM FROM PATAS TOLL PLAZA TOWARDS SHOLAPUR ON LHS PUNE SHOLAPUR HIGHWAY, NH65	PUNE	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1193	WITHIN 1 KM FROM SASWAD COURT TOWARDS NARAYANPUR ON SASWAD BHOR ROAD	PUNE	REGULAR	150	OBC	DC	24	26	624	25	45	DRAW OF LOTS	15	4
1194	AT SHEWALEWADI NOT ON NH 65	PUNE	REGULAR	150	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1195	WITHIN 7 KM FROM KHADI MACHINE CHOWK TOWARDS MANTARWADI CHOWK ON LHS ON KATRAJ URULI DEVACHI ROAD	PUNE	REGULAR	240	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1196	WITHIN 7 KM FROM KHADI MACHINE CHOWK TOWARDS MANTARWADI CHOWK ON RHS ON KATRAJ URULI DEVACHI ROAD	PUNE	REGULAR	240	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1197	WITHIN 4 KM FROM SILVER JUBILEE MOTORS, MAHINDRA & MAHINDRA, INDAPUR TOWARDS SHOLAPUR ON OLD PUNE SOLAPUR ROAD	PUNE	REGULAR	150	OBC	DC	24	26	624	25	45	DRAW OF LOTS	15	4
1198	WITHIN 5 KM FROM MANTARWADI PHATA ON FURSUNGI SASWAD ROAD TOWARDS SASWAD	PUNE	REGULAR	170	OPEN	DC	36	40	1440	25	45	DRAW OF LOTS	15	5
1199	BETWEEN 1 KM AND 8 KM FROM INDAPUR TOLL GATE TOWARDS PUNE ON NH 65, BYPASS ROAD	PUNE	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1200	FROM PIAGGEO VEHICLES PVT LTD, BARAMATI TO MIDC FIRE STATION, BARAMATI ON LHS ON AIRPORT ROAD, BARAMATI MIDC	PUNE	REGULAR	150	OPEN	CC	24	26	624	25	10	Bidding	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category	Type of Site *		of the site (in		arrange App	e to be	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
	2	3	(Regular/Rural		G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng		12
1201	BETWEEN 1 KM AND 4 KM FROM INDAPUR TOLL GATE TOWARDS SHOLAPUR ON LHS ON PUNE SHOLAPUR NH 65	PUNE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1202	WITHIN 5 KM FROM MAYURESHWAR WILDLIFE SANCTUARY TOWARDS MORGAON ON SUPE MORGAON ROAD	PUNE	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1203	BETWEEN 1KM AND 12KM FROM MORGAON CHOWK TOWARDS NIRA ON MORGAON NIRA ROAD	PUNE	REGULAR	150	ST PH	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1204	WITHIN 12 KM FROM DALAJ TOWARDS WALCHANDNAGAR POLICE STATION ON DALAJ WALCHANDNAGAR ROAD SH124	PUNE	REGULAR	120	OBC PH	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1205	WITHIN A 0.5KM RADIUS OF GRAM PANCHAYAT OFFICE, URULI KANCHAN	PUNE	REGULAR	100	OPEN	DC	36	40	1440	25	45	DRAW OF LOTS	15	5
1206	WITHIN KM STONE NO. 10 TO KM STONE NO. 12 FROM CHOPDAJ PHATA TOWARDS MORGAON ON LHS	PUNE	REGULAR	100	OPEN	CC	36	40	1440	25	10	Bidding	30	5
1207	BETWEEN 1KM AND 25KM FROM RAIMATA AHILYADEVI HOLKAR CHOWK TOWARDS SHOLAPUR ON LHS ON PUNE SHOLAPUR HIGHWAY NH 65	PUNE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1208	FROM BHIGWAN CHOWK TO PENCIL CHOWK, BARAMATI	PUNE	REGULAR	150	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1209	WITHIN 3 KM FROM JUBILANT LIFE SCIENCE LTD ON NIRA MORGAON ROAD	PUNE	REGULAR	150	OPEN	DC	30	35	1050	25	75	DRAW OF LOTS	15	5
1210	WITHIN 1KM AND 10 KM TOWARDS SUPE ON SHIRUR SATARA ROAD, FROM THE INTERSECTION POINT OF CHOUFULA AND NH 65	PUNE	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1211	WITHIN 13 KM FROM RAVANGAON POLICE STATION TOWARDS SHOLAPUR ON LHS ON PUNE SHOLAPUR HIGHWAY, NH65	PUNE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1212	WITHIN 2 KM FROM PRAJ INDUSTRIES, JEJURI MIDC TOWARDS JEJURI ON PUNE PANDHARPUR ROAD, SH 120	PUNE	REGULAR	100	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1213	BETWEEN KM STONE 30 AND KM STONE 23 WHILE GOING FROM SHOLAPUR TO PUNE ON LHS ON PUNE SHOLAPUR HIGHWAY NH 65	PUNE	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1214	FROM KHANDOBA NAGAR CHOWK TO KARBHARI CHOWK ON RHS ON BARAMATI MORGAON ROAD, SH120	PUNE	REGULAR	100	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1215	WITHIN 1 KM FROM DAUND RAILWAY FLYOVER JUNCTION TOWARDS PATAS ON LHS ON SH 123	PUNE	REGULAR	100	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1216	WITHIN 3 KM FROM SHIVAJI CHOWK DAUND TOWARDS KURKUMBH ON DAUND KURKUMBH ROAD	PUNE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1217	FROM DORLEWADI TO ZARGAWADI VILLAGE ON BARAMATI SONGAON ROAD, SH 120	PUNE	REGULAR	100	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1218	BETWEEN 1 KM AND 10 KM FROM RAJMATA AHILYADEVI HOLKAR CHOWK TOWARDS SHOLAPUR ON RHS ON PUNE SHOLAPUR HIGHWAY NH 65	PUNE	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		of the site (in		arrange App	te to be do by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
	-	J	(Regular/Rural)		SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for	Draw of		12
1219	WITIHIN 14KM FROM PUNE SHOLAPUR HIGHWAY NH 65 TOWARDS BARAMATI ON PATAS BARAMATI ROAD	PUNE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1220	WITHIN 3 KM FROM SURYA LAWNS MANGAL KARYALAY, MALSHIRAS TOWARDS YAWAT ON MALSHIRAS ROAD, SH119	PUNE	REGULAR	100	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1221	WITHIN 1KM AND 6 KM FROM PATAS TOLL PLAZA (DESHMUKH WASTI), BARAMATI TOWARDS PATAS ON BARAMATI PATAS ROAD	PUNE	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1 1222 1	WITHIN 4 KM FROM NH 65 PUNE SHOLAPUR TOWARDS MANJARI BUDRUK ON MANJARI ROAD	PUNE	REGULAR	190	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1223	WITHIN 5 KM FROM SHRI CHHATRAPATI SAHAKARI SAKHAR KARKHANA LTD TOWARDS INDAPUR ON BARAMATI INDAPUR ROAD, SH 121	PUNE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
	WITHIN 10 KM FROM CHINTAMANI HOSPITAL & RESEARCH CENTRE, URULI KNACHAN TOWARDS SHOLAPUR ON LHS ON PUNE SHOLAPUR ROAD, NH 65	PUNE	REGULAR	180	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1225	WITHIN 3 KM FROM KHADI MACHINE CHOWK TOWARDS SASWAD ON PUNE SASWAD ROAD	PUNE	REGULAR	170	OPEN	DC	36	40	1440	25	45	DRAW OF LOTS	15	5
1776	BETWEEN 1KM AND 7 KM FROM PATAS TOLL PLAZA TOWARDS PUNE ON RHS ON PUNE SHOLAPUR HIGHWAY, NH65	PUNE	REGULAR	150	SC CC 1	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1227	WITHIN 7 KM FROM KEDGAON CHOUFULA JUNCTION TOWARDS SHOLAPUR ON RHS ON PUNE SHOLAPUR HIGHWAY NH 65	PUNE	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1228	WITHIN 2 KM FROM PUNE SHOLAPUR HIGHWAY NH 65 TOWARDS KOREGAON MUL	PUNE	REGULAR	100	OPEN	DC	36	40	1440	25	45	DRAW OF LOTS	15	5
1229	WITHIN 4 KM FROM PODAR INTERNATIONAL SCHOOL, BANDALWADI TOWARDS INDAPUR ON BARAMATI INDAPUR ROAD	PUNE	REGULAR	150	OPEN PH	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1230	BETWEEN 1 KM AND 2 KM FROM BIGWAN ROAD TOLL PLAZA TOWARDS BHIGWAN ON BARAMATI BHIGWAN ROAD, SH 54	PUNE	REGULAR	100	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1231	WITHIN 12 KM FROM BAWDA POLICE STATION TOWARDS INDAPUR ON BAWDA INDAPUR ROAD	PUNE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1232	BETWEEN 1 KM AND 3 KM FROM LONI TOLL PLAZA TOWARDS SHOLAPUR ON RHS ON PUNE SHOLAPUR HIGHWAY, NH65	PUNE	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1233	AT SONGAON VILLAGE, ON BARAMATI DAHIGAON ROAD, SH 120	PUNE	REGULAR	100	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1234	WITHIN 13 KM FROM RAVANGAON POLICE STATION TOWARDS SHOLAPUR ON RHS ON PUNE SHOLAPUR HIGHWAY, NH65	PUNE	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1235 1236	LONAVALA, WITHIN MUNICIPAL LIMIT FROM LONAVALA TO KARLA ON PUNE MUMBAI HIGHWAY (NH -4)	PUNE PUNE	Regular Regular	150 150	OPEN OPEN	CC DC	20 40	20 45	400 1800	25 25	10 75	Bidding DRAW OF	30 15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (i		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
1237	FROM KARLA TO KAMSETH ON MUMBAI PUNE HIGHWAY (NH-4) , LHS WHILE TRAVELLING FROM MUMBAI TO PUNE	PUNE	Regular	150	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1238	LHS ON TALEGAON MIDC MAIN ROAD , FROM L & T CIRCLE TO JUNCTION AT PUNE MUMBAI HIGHWAY (NH-4)	PUNE	Regular	150	OBC	DC	40	45	1800	25	45	DRAW OF LOTS	15	4
1239	WITHIN KM STONE 129 TO 133, ON KALYAN NAGAR HIGHWAY(NH -61)	PUNE	Regular	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1240	FROM KAMSETH TO VADGAON ON MUMBAI PUNE HIGHWAY (NH-4) , LHS WHILE TRAVELLING FROM MUMBAI TO PUNE	PUNE	Regular	150	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1241	MALEGAON, ON MOSHI DIGHEBANDAR ROAD, PUNE	PUNE	Regular	150	OPEN CC 1	DC	40	45	1800	25	45	DRAW OF LOTS	15	5
1242	AT MINDEWADI, ON LHS WHILE MOVING FROM TALEGAON TO CHAKAN ON NEW MIDC ROAD	PUNE	Regular	150	OBC	DC	40	45	1800	25	45	DRAW OF LOTS	15	4
1243	FROM TALEGAON DHABADE TO KARLA ON MUMBAI PUNE HIGHWAY (NH-4), LHS WHILE TRAVELLING FROM PUNE TO MUMBAI	PUNE	Regular	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1244	FROM VADGAON TO TALEGAON DHABADE ON MUMBAI PUNE HIGHWAY(NH-4) , LHS WHILE TRAVELLING FROM MUMBAI TO PUNE	PUNE	Regular	200	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1245	FROM KHALUMBRE TO MAHALUNGE ON TALEGAON CHAKAN HIGHWAY	PUNE	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1246	WITHIN 2 KM FROM SOMATNE PHATA ON MUMBAI PUNE HIGHWAY(NH- 4), RHS WHILE TRAVELLING FROM PUNE TO MUMBAI	PUNE	Regular	200	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1247	WITHIN 3 KM FROM SOMATNE PHATA TOWARDS PUNE ON MUMBAI PUNE HIGHWAY (NH-4)	PUNE	Regular	200	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1248	ON MUMBAI PUNE EXPRESSWAY FROM LONAVLA TO PUNE ON LHS WHILE MOVING FROM MUMBAI TO PUNE	PUNE	Regular	450	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1249	VILLAGE NIGOJE IN MIDC PHASE -4 , ON MIDC MAIN ROAD	PUNE	Regular	200	OBC	DC	40	45	1800	25	45	DRAW OF LOTS	15	4
1250	AT MINDEWADI, ON RHS WHILE MOVING FROM TALEGAON TO CHAKAN ON NEW MIDC ROAD	PUNE	Regular	150	OPEN	DC	40	45	1800	25	45	DRAW OF LOTS	15	5
1251	VILLAGE MALEWADI ON TALEGAON CHAKAN HIGHWAY, LHS WHILE TRAVELLING FROM TALEGAON TO CHAKAN	PUNE	Regular	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1252	FROM MOSHI TOLL PLAZA TO KURULI ON LHS WHILE MOVING FROM PUNE TO NASIK ON NH-60	PUNE	Regular	250	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1253	WITHIN 3KM FROM CHAKAN CIRCLE (JUNCTION OF PUNE NASIK & TALEGAON SHIKRAPUR HIGHWAY) ON TALEGAON SHIKRAPUR ROAD , RHS WHILE TRAVELLING FROM TALEGAON TO SHIKRAPUR	PUNE	Regular	200	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (i		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi ng	11	12
1254	WITHIN 1 KM FROM TOLANI MARITIME INSTITUTE TOWARDS TALEGAON, ON TALEGAON CHAKAN HIGHWAY, LHS WHILE TRAVELLING FROM CHAKAN TO TALEGAON	PUNE	Regular	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1255	FROM MAHALUNGE TO KHARABWADI ON TALEGAON CHAKAN HIGHWAY	PUNE	Regular	200	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1256	WITHIN 1KM FROM IOCL LPG PLANT ON CHAKAN SHIKRAPUR HIGHWAY, LHS WHILE TRAVELLING FROM CHAKAN TO SHIKRAPUR	PUNE	Regular	200	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1257	WITHIN 1 KM FROM CHIMBLI PHATA (ON PUNE NASIK HIGHWAY) TOWARDS MOI	PUNE	Regular	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1258	WITHIN 1 KM FROM VOLKSWAGEN DISPATCH GATE ON CHAKAN MIDC MAIN ROAD TOWARDS PUNE NASIK HIGHWAY (NH-60)	PUNE	Regular	200	OPEN	DC	40	45	1800	25	45	DRAW OF LOTS	15	5
1259	WITHIN 1 KM FROM MERCEDES BENZ PLANT ON MIDC ROAD	PUNE	Regular	150	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1260	FROM CHAKAN TO KURULI ON LHS WHILE TRAVELLING FROM NASIK TO PUNE ON NH-60	PUNE	Regular	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1261	IN MAHALUNGE NOT ON SH/NH	PUNE	Regular	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1262	WITHIN 2KM FROM CHAKAN CIRCLE (JUNCTION OF PUNE NASIK & TALEGAON SHIKRAPUR HIGHWAY) ON TALEGAON SHIKRAPUR ROAD , LHS WHILE TRAVELLING FROM TALEGAON TO SHIKRAPUR	PUNE	Regular	200	OPEN	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1263	FROM MOSHI TOLL PLAZA TO CHIMBLI PHATA ON PUNE NASIK HIGHWAY(NH-60), RHS WHILE TRAVELLING FROM PUNE TO NASIK	PUNE	Regular	260	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1264	WITHIN 3 KM FROM CHIMBLI PHATA (ON PUNE NASIK HIGHWAY) TOWARDS ALANDI	PUNE	Regular	150	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1265	FROM KURULI TO CHAKAN ON LHS WHILE MOVING FROM PUNE TO NASIK ON PUNE NASIK HIGHWAY (NH-60)	PUNE	Regular	150	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1266	WITHIN RAJGURUNAGAR MUNICIPAL LIMIT	PUNE	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1267	DHANE VILLAGE ON RAJGURUNAGAR - BHIMASHANKAR ROAD (SH -103)	PUNE	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1268	WITHIN 4KM FROM CHAKAN CIRCLE (JUNCTION OF PUNE NASIK & TALEGAON SHIKRAPUR HIGHWAY) ON PUNE NASIK HIGHWAY (NH-60)	PUNE	Regular	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1269	VILLAGE MARKAL ON ALANDI KESNAND ROAD	PUNE	Regular	100	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (i		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1270	VILLAGE SHINOLI ON MANCHAR BHIMASHANKAR ROAD	PUNE	Regular	120	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1271	FROM MANCHAR TO RAJGURUNAGAR ON PUNE NASIK HIGHWAY(NH- 60), RHS WHILE TRAVELLING FROM PUNE TO NASIK	PUNE	Regular	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1272	WITHIN KM STONE 36 TO 39 ON PUNE NASIK HIGHWAY(NH-60), LHS WHILE MOVING FROM NASIK TO PUNE	PUNE	Regular	200	OPEN	СС	40	45	1800	25	10	Bidding	30	5
1273	VILLAGE MANJERWADI ON RAJGURUNAGAR - PABAL ROAD	PUNE	Regular	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1274	FROM KALAMB TO EKLAHRE, ON PUNE NASIK HIGHWAY(NH-60), LHS WHILE TRAVELLING FROM NASIK TO PUNE	PUNE	Regular	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1275	FROM EKLAHRE TO NARAYANGAON ON PUNE NASIK HIGHWAY(NH-60) , LHS WHILE TRAVELLING FROM PUNE TO NASIK	PUNE	Regular	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1276	BETWEEN KM STONE 217 -219 ON RAJGURUNAGAR BHIMASHANKAR ROAD (SH-103)	PUNE	Regular	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1277	RANJANI VILLAGE ON MANCHAR - BELHE ROAD	PUNE	Regular	100	OPEN CC 2	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1278	FROM NARAYANGAON TO JUNNER ON SH-111, RHS WHILE TRAVELLING FROM NARAYANGAON TO JUNNER	PUNE	Regular	100	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1279	WITHIN NARAYANGAON MUNICIPAL LIMIT	PUNE	Regular	150	ST CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1280	BETWEEN KM STONE 56 TO 58 ON PUNE NASIK HIGHWAY(NH-60), LHS WHILE TRAVELLING FROM PUNE TO NASIK	PUNE	Regular	200	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1281	FROM NARAYANGAON TO JUNNER ON SH-111, LHS WHILE TRAVELLING FROM NARAYANGAON TO JUNNER	PUNE	Regular	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1282	PUNE NASIK HIGHWAY (NH-60)ON NARAYANGAON BYPASS	PUNE	Regular	150	ОВС	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1283	PUNE NASIK HIGHWAY(NH-60) ON RAJGURUNAGAR BYPASS	PUNE	Regular	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1284	WITHIN JUNNER MUNICIPAL LIMIT	PUNE	Regular	150	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1285	ALEPHATA TO NARAYANGAON ON PUNE NASIK HIGHWAY(NH-60), LHS WHILE TRAVELLING FROM NASIK TO PUNE	PUNE	Regular	150	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1286	WITHIN 2 KM FROM ALEPHATA CIRCLE	PUNE	Regular	150	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1287	ON PUNE MUMBAI EXPRESSWAY WITHIN 10 KM FROM URSE TOLL NAKA, LHS WHILE MOVING TOWARDS MUMBAI	PUNE	Regular	350	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1288	WITHIN 2 KM ON RAJGURUNAGAR PABAL ROAD FROM JUNCTION OF PUNE NASIK HIGHWAY	PUNE	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (i		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1289	IN SOMATNE ON EXPRESSWAY CONNECTING ROAD , TALUKA - MAWAL	PUNE	Regular	150	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1290	RAJURI VILLAGE ON NAGAR KALYAN HIGHWAY(NH-61), RHS WHILE TRAVELLING FROM KAYLAN TO NAGAR	PUNE	Regular	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1291	WITHIN CHAKAN MUNICIPAL LIMIT	PUNE	Regular	150	OPEN CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1292	ON CONNECTING ROAD TO EXPRESSWAY FROM JUNCTION OF CHAKAN TALEGAON HIGHWAY & PUNE MUMBAI HIGHWAY	PUNE	Regular	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1293	WITHIN KM STONE 109 TO 112, ON NH -61, RHS WHILE TRAVELLING FROM KALYAN TO AHMADNAGAR	PUNE	Regular	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1294	WITHIN TALEGAON MUNICIPAL LIMIT	PUNE	Regular	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
1295	SHENDURJANE ON WAI- SURUR ROAD (SH 119)	SATARA	Regular	130	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1296	KALETECH ON PACHWAD- KALE ROAD (SH 144)	SATARA	Regular	130	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1297	NIGDI IN PCMC LIMITS	PUNE	Regular	250	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1298	VANZOLE ON KARAD CHIPLUN ROAD (NH 166 E)	SATARA	Regular	155	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1299	MALHARPETH, ON KARAD CHIPLUN ROAD (NH 166E)	SATARA	Regular	150	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1300	AT SHENOLI, KARAD TASGAON HIGHWAY	SATARA	Regular	155	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1301	DHAVALPATI CHOUK TO ZHADAKBAICHI WADI ON PHALTAN PUSEGAON RD (SH 147)	SATARA	Regular	120	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1302	VILLAGE CHAREGAON,ON UMBRAJ CHIPLUN ROAD (SH 143)	SATARA	Regular	120	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1303	VILLAGE BHOSE, ON MAHABALESHWAR WAI ROAD (SH 139)	SATARA	Regular	155	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1304	PIMPLE GURAV IN PCMC LIMITS	PUNE	Regular	200	OBC PH	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1305	ON SENAPATI BAPAT ROAD WITHIN PMC LIMIT	PUNE	Regular	280	SC PH	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1306	PHALTAN (WITHIN MUNICIPAL LIMITS)	SATARA	Regular	150	OPEN	DC	24	26	624	25	45	DRAW OF LOTS	15	5
1307	ON NH4, WITHIN KM STONE 682 TO KM STONE 686, ON LHS WHILE TRAVELLING FROM KARAD TOWARDS SATARA	SATARA	Regular	165	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1308	NAGTHANE, ON NH4 ON LHS WHILE TRAVELLING FROM SATARA TOWARDS KARAD	SATARA	Regular	180	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1309	ON NH4, WITHIN KM STONE 689 TO KM STONE 694, ON LHS WHILE TRAVELLING FROM KARAD TOWARDS SATARA	SATARA	Regular	170	OPEN	CC	40	45	1800	25	10	Bidding	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		oum Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
1310	UNIVERSITY CHOWK TO BANER ON MAIN ROAD WITHIN PMC LIMIT	PUNE	Regular	280	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1311	KHANDALA, ON NH4, ON LHS WHILE TRAVELLING FROM SATARA TOWARDS PUNE	SATARA	Regular	160	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1312	GOLEWADI ON SATARA PANDHARPUR ROAD, OLD SH 141(NEW NH 548C)	SATARA	Regular	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1313	KHANDALA, ON NH4, ON LHS WHILE TRAVELLING FROM PUNE TOWARDS SATARA	SATARA	Regular	175	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1314	MAHAGAON ON SATARA KOREGAON ROAD, OLD SH 141(NEW NH 548C)	SATARA	Regular	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1315	VADOLI BHIKESHWAR ON MASUR-UMBRAJ ROAD (SH 143)	SATARA	Regular	110	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1316	SHIRWAL, ON NH4,ON LHS WHILE TRAVELLING FROM PUNE TOWARDS SATARA	SATARA	Regular	155	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1317	FROM LONAND BUS STAND, WITHIN 5 KM ON LONAND-SHIRWAL ROAD	SATARA	Regular	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1318	KESURDI, ON NH4, ON LHS WHILE TRAVELLING FROM PUNE TOWARDS SATARA	SATARA	Regular	160	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1319	SHAMGAON ON KARAD PUSESAWALI ROAD (SH 124)	SATARA	Regular	120	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1320	ON NH4, WITHIN KM STONE 739 TO KM STONE 735, ON LHS WHILE TRAVELLING FROM PUNE TOWARDS SATARA	SATARA	Regular	160	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1321	ON NH4, WITHIN KM STONE 686 TO KM STONE 689 , ON LHS WHILE TRAVELLING FROM SATARA TOWARDS KARAD	SATARA	Regular	180	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1322	KESURDI, ON NH4, ON LHS WHILE TRAVELLING FROM SATARA TOWARDS PUNE	SATARA	Regular	160	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1323	FROM INTERSECTION OF MULSHI ROAD, UPTO 1 KM ON TEMGAR LAVASA ROAD	PUNE	Regular	160	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1324	ON NH4, WITHIN KM STONE 675 TO KM STONE 669, ON LHS WHILE TRAVELIING FROM KARAD TOWARDS KOLHAPUR	SATARA	Regular	165	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1325	ON NH4, WITHIN KM STONE 720 TO KM STONE 725, ON LHS WHILE TRAVELLING FROM KARAD TOWARDS SATARA	SATARA	Regular	180	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1326	MALKAPUR CITY, 3 KM FROM DHEBEVADI PHATA (MALKAPUR) TOWARDS KOLHAPUR ROAD ON RHS OF NH4.	SATARA	Regular	160	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1327	LODHAWADE ON SATARA PANDHARPUR ROAD, OLD SH 141 (NEW NH 548C)	SATARA	Regular	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1328	FROM MIDC CHOWK UPTO PHULE NAGAR BUS STOP ON PIMPRI CHINCHWAD ROAD OR UPTO NH 60 ON MIDC ROAD	PUNE	Regular	200	ST CC 1	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1329	ON CONNECTING ROAD FROM DEHUGAON TO TALEGAON CHAKAN HIGHWAY	PUNE	REGULAR	150	OPEN PH	DC	30	30	900	25	45	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	4 (Regular/Rural)	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi	11	12
1330	SHIRWAL, ON NH4, ON LHS WHILE TRAVELLING FROM SATARA TOWARDS PUNE	SATARA	Regular	160	OBC	CC	40	45	1800	25	10	Bidding	30	4
1331	FROM LATE OLYMPIC VEER KHASHABA JADHAV CHOWK , WITHIN 2 KM TOWARDS KARVE ON LHS	SATARA	ReguLar	170	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1332	KOREGAON, ON SATARA PANDHARPUR RD, OLD SH 141(NEW NH 548C)	SATARA	Regular	160	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1333	RADHIKA ROAD, SATARA (WITHIN MUNICIPAL LIMITS)	SATARA	Regular	180	OPEN	DC	24	26	624	25	45	DRAW OF LOTS	15	5
1334	MASUR ON MALHARPETH PANDHARPUR ROAD (SH 143)	SATARA	Regular	120	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1335	SATARA (WITHIN MUNICIPAL LIMITS) EXCEPT RADHIKA ROAD	SATARA	Regular	170	OPEN	DC	24	26	624	25	45	DRAW OF LOTS	15	5
1336	KARAD (WITHIN MUNICIPAL LIMITS)	SATARA	Regular	165	OPEN	DC	24	26	624	25	45	DRAW OF LOTS	15	5
1337	VILLAGE DEVGHAR (TAL - MULSHI) ON LONAVALA ROAD	PUNE	Regular	150	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1338	MALAVADI ON SH 139 (TALUKA-MAN)	SATARA	Regular	130	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1339	VIKHALE, ON DAHIWADI- VITA ROAD, OLD SH 60 (NEW NH -160)	SATARA	Regular	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1340	SURALI ON KARAD VITA ROAD	SATARA	Regular	160	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1341	SANGHAVI,ON PHALTAN BARAMATI RD, OLD SH 60 (NEW NH160)	SATARA	Regular	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1342	VIDANI ON PHALTAN PANDHARPUR ROAD (NH 965) ON EITHER SIDE	SATARA	Regular	170	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1343	WITHIN 1TO 5 KMS FROM ANEWADI TOLL NAKA ON LHS WHILE TRAVELLING FROM SATARA TOWARDS PUNE	SATARA	Regular	180	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1344	WAI (WITHIN MUNICIPAL LIMIT)	SATARA	Regular	155	OPEN	DC	40	45	1800	25	45	DRAW OF LOTS	15	5
1345	TARADGAON ON SHIRWAL PANDHARPUR HIGHWAY	SATARA	Regular	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1346	CHUMANGAON ON SATARA PUSEGAON ROAD, OLD SH 141(NEW NH 548C)	SATARA	Regular	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1347	ON NH4, WITHIN KM STONE 669 TO KM STONE 674, ON LHS WHILE TRAVELIING FROM KOLHAPUR TOWARDS KARAD	SATARA	Regular	160	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1348	KARATE ON PATAN CHIPLUN ROAD (NH 166E)	SATARA	Regular	160	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1349	NISARE, KARAD CHIPLUN ROAD (NH 266E)	SATARA	Regular	160	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4

SI No		Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		oum Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of	11	12
1350	WITHIN 2KM OF HINJEWADI PHASE 3 CIRCLE	PUNE	Regular	200	ST	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1351	SHENDRE ON NH4 , ON LHS WHILE TRAVELLING FROM SATARA TO KARAD	SATARA	Regular	160	OPEN	CC	40	45	1800	25	10	Bidding	30	5
1352	RAJURI ON PHALTAN PANDHARPUR ROAD (NH 965) ON EITHER SIDE	SATARA	Regular	165	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1353	WAGOLI ON WATHAR WAI ROAD, SH 139	SATARA	Regular	140	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1354	MHASURNE, MYNI-MASUR ROAD, SH 143	SATARA	Regular	110	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1355	NAWALE WASTI TO VADHU SANE CHOWK ON EITHER SIDE IN PCMC LIMITS	PUNE	Regular	300	OPEN	CC	24	26	624	25	10	Bidding	30	5
1356	NERHE VILLAGE ON HINJEWADI - KASARSAI ROAD	PUNE	Regular	300	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1357	TATHAWADE ON NH 4	PUNE	Regular	300	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1358	FROM GOTAWADE TO MANN VILLAGE ON MANN ROAD	PUNE	Regular	250	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1359	RAJIV GANDHI CHOWK TO HINJEWADI PHASE 3	PUNE	Regular	300	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1360	IN PCMC INDUSTRIAL AREA	PUNE	Regular	300	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1361	KUDALWADI (ON CHIKHALI - PIMPRI ROAD)IN PCMC LIMITS	PUNE	Regular	280	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1362	JAMBHE, TAL MULSHI IN PCMC LIMITS	PUNE	Regular	200	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1363	BAVDHAN WITHIN PMC LIMITS	PUNE	Regular	350	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1364	BANER WITHIN PMC LIMITS	PUNE	Regular	285	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1365	MOKAI CHOWK TO BHAKTI SHAKTHI CHOWK ON EITHER SIDE WITHIN PCMC LIMITS	PUNE	Regular	260	OPEN	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1366	DAPODI	PUNE	Regular	200	OPEN CC 1	DC	24	26	624	25	60	DRAW OF LOTS	15	5
1367	NEW SANGHVI IN PCMC LIMITS	PUNE	Regular	220	OBC	DC	24	26	624	25	60	DRAW OF LOTS	15	4
1368	вниким	PUNE	Regular	150	SC	CFS	24	26	624	0	0	DRAW OF LOTS	0	3
1369	DEHU ALANDI BYPASS ROAD	PUNE	Regular	250	OPEN	DC	24	26	624	25	45	DRAW OF LOTS	15	5

1	2	Revenue District	Type of RO	d monthly Sales 5	Category 6	Type of Site *		of the site (ir		Арр	e to be d by the licant	Mode of selection	Fee / Minimu m Bid 11	Deposit (Rs in Lakhs)
		3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN RH	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs	Draw of	11	12
1370	AT AMBEJOGAI BETWEEN TATHAGAT CHOWK AND YASHWANTRAO CHAVAN CHOWK	BEED	REGULAR	220	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1371 A	AT BEED BOBDE, ON BEED BYPASS ROAD, NH 52 (OLD NH 211)	BEED	REGULAR	240	OBC	CC	45	50	2250	25	10	BIDDING	30	4
1372 A	AT DEONI ON SH 166	LATUR	REGULAR	100	ST	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1373 A	AT CHINCHPUR, ON NH 142	BEED	REGULAR	180	OPEN	DC	45	50	2250	25	75	DRAW OF LOTS	15	5
	AT DHONDRAI ON SH 44	BEED	REGULAR	100	OPEN	DC	35	40	1400	25	60	DRAW OF LOTS	15	5
1375 A	AT KAKAD-HIRA ON BEED-AHMEDNAGAR ROAD ON LHS TOWARDS AHMEDNAGAR	BEED	REGULAR	200	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
1376	AT GEVRAI BYPASS ON NH 52 (OLD NH 211) ON LHS TOWARDS AURANGABAD	BEED	REGULAR	180	OPEN	CC	45	50	2250	25	10	BIDDING	30	5
	AT LATUR WITHIN 1 KM FROM SAI NAKA TOWARDS RAILWAY STATION	LATUR	REGULAR	135	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
13/8	WITHIN 2 KMS FROM NANNAJ BUS STAND ON RHS TOWARDS BARSHI, NH 150E	SOLAPUR	REGULAR	190	OPEN CC 2	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1379 A	AT GHATSAVALI ON BEED-PARLI ROAD ON NH 361F	BEED	REGULAR	150	OBC CC 1	DC	45	50	2250	25	75	DRAW OF LOTS	15	4
1380 A	AT KAIJ, ON KAIJ-KALAMB ROAD ON NH548C, RHS TOWARDS KALAMB	BEED	REGULAR	240	OPEN	DC	45	50	2250	25	75	DRAW OF LOTS	15	5
	AT NEVALI, NEAR LATUR	LATUR	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1 1387	AT PENDGAON ON NH 52 (OLD NH 211) ON LHS TOWARDS AURANGABAD	BEED	REGULAR	260	OBC	СС	45	50	2250	25	10	BIDDING	30	4
1383 A	AT KAIJ, ON KAIJ-KALAMB ROAD ON NH548C, LHS TOWARDS KALAMB	BEED	REGULAR	240	OPEN	DC	45	50	2250	25	75	DRAW OF LOTS	15	5
	AT KHANAPUR (SHIVAR), ON BEED PARLI ROAD, RHS TOWARDS PARLI	BEED	REGULAR	140	OPEN	СС	40	40	1600	25	10	BIDDING	30	5
1385 A	AT UMAPUR, ON GEVRAI-AHMEDNAGAR ROAD ON NH61	BEED	REGULAR	260	OBC	CC	45	50	2250	25	10	BIDDING	30	4
	AT TAAKLI ON NH-361	LATUR	REGULAR	100	ST	CFS	50	50	2500	0	0	DRAW OF LOTS	0	3
	AT MAJALGAON ON MAJALGAON-PARBHANI ROAD (NH 61) AT MANJARSUMBA ON NH 52 (OLD NH 211)	BEED BEED	REGULAR REGULAR	240 150	OPEN OPEN	CC	45 45	50 50	2250 2250	25 25	10 10	BIDDING BIDDING	30 30	5 5
\	WITHIN 2 KMS FROM LATUR MAIN CHOWK TOWARDS NANDED RING											DRAW OF		
1389 R	ROAD	LATUR	REGULAR	120	OBC	DC	30	30	900	25	45	LOTS DRAW OF	15	4
	AT BELKUND ON NH 361 AT PALI ON NH 52 (OLD NH 211)	LATUR BEED	REGULAR REGULAR	150 150	SC OPEN	CFS CC	50 45	50 50	2500 2250	0 25	0 10	LOTS	0 30	3 5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
1392	HINGOLI, ZEROPHATA- BASMAT ROAD, WITHIN 3 KM FROM HATTA PHATA TOWARDS BASMAT, ON LHS NH 61	HINGOLI	REGULAR	150	OPEN CC 1	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1393	AT BORPHAL ON NH-361	LATUR	REGULAR	100	OBC	DC	50	50	2500	25	75	DRAW OF LOTS	15	4
1394	AT RANMALA ON GEVRAI-MAJALGAON ROAD NH 61 (OLD NH 222)	BEED	REGULAR	240	SC	CFS	45	50	2250	0	0	DRAW OF LOTS	0	3
1395	AT SAROL ON MANJARSUMBHA-KAIJ ROAD (NH 548D) ON LHS TOWARDS KAIJ	BEED	REGULAR	180	OPEN	СС	45	50	2250	25	10	BIDDING	30	5
1396	ON NH 61, BETWEEN KM STONE 382 TO 384, ON LHS TOWARDS MAJALGAON	BEED	REGULAR	150	OPEN	DC	45	50	2250	25	75	DRAW OF LOTS	15	5
1397	AT GHONSI ON SH 222	LATUR	REGULAR	100	OBC	CC	35	40	1400	25	10	BIDDING	30	4
1398	AT DHEKANMOHA ON BEED-PARLI ROAD ON NH361F	BEED	REGULAR	150	OPEN	DC	45	50	2250	25	75	DRAW OF LOTS	15	5
1399	BETWEEN DDC BANK AND NALEGAON BUS STAND, ON SH 167	LATUR	REGULAR	100	ST	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1400	AT SHIRUR KASAR ON SH 142	BEED	REGULAR	150	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1401	AT KASARJAWALA ON SH 160	LATUR	REGULAR	100	OBC	DC	35	40	1400	25	60	DRAW OF LOTS	15	4
1402	AT VAIDYA KINHI, ON MANJORSUMBHA PATODA ROAD	BEED	REGULAR	150	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1403	AT NEW BEED BY PASS, ON LHS TOWARDS AURANGABAD	BEED	REGULAR	150	ST PH	CFS	45	50	2250	0	0	DRAW OF LOTS	0	3
1404	VILLAGE MALVANDI, ON VAIRAG MADHA ROAD, SH 150	SOLAPUR	REGULAR	158	OBC PH	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1405	AT JATEGAON, ON KARMALA- AHMEDNAGAR HIGHWAY ON LHS TOWARDS AHMEDNAGAR, TAL- KARMALA	SOLAPUR	REGULAR	150	OPEN	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
1406	AT YELLAMGHAT, ON MANJORSUMBHA-KAIJ ROAD NH548D	BEED	REGULAR	210	OPEN	DC	45	50	2250	25	75	DRAW OF LOTS	15	5
1407	AT LATUR BETWEEN LAL GODOWN AND NANDED NAKA	LATUR	REGULAR	150	OBC	DC	50	50	2500	25	75	DRAW OF LOTS	15	4
1408	ON MAJALGAON PARBHANI ROAD BETWEEN KM STONE 401 & 404, ON LHS TOWARDS PARBHANI	BEED	REGULAR	190	SC	CFS	45	50	2250	0	0	DRAW OF LOTS	0	3
1409	AT UDGIR WITHIN 5 KMS OF OVER BRIDGE TOWARDS LATUR	LATUR	REGULAR	150	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1410	FROM MOREWADI WITHIN 1 KM OF IOCL PETROL PUMP TOWARDS LATUR ON RHS	BEED	REGULAR	180	OPEN	DC	26	26	676	25	45	DRAW OF LOTS	15	5
1411	AT RENAPUR ON SH 144	LATUR	REGULAR	100	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	,,	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi	11	12
1412	LATUR , WITHIN 5 KMS FROM NEW NANDED NAKA TOWARDS NANDED	LATUR	REGULAR	130	ST	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1413	ON PARLI-GANGAKHED ROAD, BETWEEN KM STONE NO 433 AND 440	BEED	REGULAR	150	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
1414	AT HANDARGULI ON SH 217 LHS TOWARDS UDGIR	LATUR	REGULAR	100	OPEN	DC	35	40	1400	25	60	DRAW OF LOTS	15	5
1415	AT KINGAON, ON AHMEDPUR-AMBEJOGAI ROAD	LATUR	REGULAR	150	OPEN	DC	35	40	1400	25	45	DRAW OF LOTS	15	5
1416	AT NALEGAON , ON LATUR UDGIR ROAD	LATUR	REGULAR	100	OBC	DC	35	40	1400	25	60	DRAW OF LOTS	15	4
1417	AT WANJARWADI, TOWARDS BEED, ON SH 144	LATUR	REGULAR	100	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1418	PARBHANI GANGAKHED ROAD, WITHIN 1 KM FROM DAITHNA BUS STAND TOWARDS GANGAKHED	PARBHANI	REGULAR	150	OPEN CC 1	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1419	LATUR MIDC, WITHIN 3 KMS FROM SWASTIK PETROLEUM (BPCL PETROL PUMP) TOWARDS RAILWAY STN	LATUR	REGULAR	125	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1420	AT SHIRUR TAJBAND UPTO 2 KM FROM SHIVAJI CHOWK TOWARDS MUKHED ON SH225	LATUR	REGULAR	150	OPEN	DC	35	40	1400	25	60	DRAW OF LOTS	15	5
1421	NANDED- HYDERBAD ROAD, WITHIN 1 KM FROM CHANDASINGH CORNER TOWARDS HYDERBAD ON LHS	NANDED	REGULAR	150	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1422	AT LATUR CITY BETWEEN SHIVAJI CHOWK AND RAJIV GANDHI CHOWK	LATUR	REGULAR	150	OPEN	DC	25	20	500	25	45	DRAW OF LOTS	15	5
1423	AT TANDULIA, ON LATUR KALAMB ROAD	LATUR	REGULAR	120	OBC	DC	35	40	1400	25	45	DRAW OF LOTS	15	4
1424	WITHIN 5 KMS OF AUSA T-JUNCTION TOWARDS TULIAPUR ON NH 361	LATUR	REGULAR	150	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
1425	AT SHIRUR ANANTPAL, ON SH 167	LATUR	REGULAR	100	OPEN	DC	35	40	1400	25	60	DRAW OF LOTS	15	5
1426	AT KAIJ WITHIN 2 KM FROM BUS STAND	BEED	REGULAR	150	SC CC 1	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1427	AT AMBEWADGAON ON SH 158	BEED	REGULAR	100	OBC CC 1	DC	35	40	1400	25	60	DRAW OF LOTS	15	4
1428	AT UDGIR, WITHIN 3 KMS FROM UMA CHOWK	LATUR	REGULAR	150	OPEN	CC	25	20	500	25	10	BIDDING	30	5
1429	VILLAGE PHONDSHIRAS, TAL-MALSHIRAS	SOLAPUR	REGULAR	150	OPEN PH	CC	35	40	1400	25	10	BIDDING	30	5
1430	AT DIGRAS, ON SH 168	LATUR	REGULAR	100	SC	CFS	35	40	1400	0	0	DRAW OF	0	3
1431	WITHIN 2 KM FROM RENAPUR PHATA, TOWARDS RENAPUR	LATUR	REGULAR	150	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1432	GARUD CHOWK TO NEW RENAPUR NAKA ON LATUR RING ROAD	LATUR	REGULAR	160	OPEN	CC	35	35	1225	25	10	BIDDING	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi	11	12
1433	SINDALA LOHARA TO BELKUND ON NH 361	LATUR	REGULAR	150	OBC	DC	50	50	2500	25	75	DRAW OF LOTS	15	4
1434	AT LONVIRE, ON SANGOLA JATH ROAD	SOLAPUR	REGULAR	100	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1435	LATUR ON CHATRAPATI CHOWK (WADA HOTEL) TO PVR CHOWK ON RING ROAD	LATUR	REGULAR	150	OPEN	CC	35	40	1400	25	10	BIDDING	30	5
1436	WITHIN 8 KMS OF AUSA T-JUNCTION TOWARDS LATUR, ON NH 361	LATUR	REGULAR	150	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
1437	UMA CHOWK TO KOHINOOR DAL MILL ON SH-217 ON UDGIR NANDED ROAD.	LATUR	REGULAR	150	OPEN	DC	30	35	1050	25	60	DRAW OF LOTS	15	5
1438	HYDERABAD-NANDED ROAD ,WITHIN 3 KM BEFORE BUDDHA VIHAR ,JAWAHARNAGAR ON LHS	NANDED	REGULAR	200	OBC	CC	40	50	2000	25	10	BIDDING	30	4
1439	KALAMNURI, WITHIN 3KM FROM BUS STAND WITHIN WML	HINGOLI	REGULAR	110	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1440	UPTO 5 KILOMETERS FROM TALMOD TOLL PLAZA TOWARDS SHOLAPUR ON NH-65	OSMANABAD	REGULAR	180	OPEN	СС	50	60	3000	25	10	BIDDING	30	5
1441	MALEGAONPHATA-ARDHAPUR ROAD,WITHIN 5 KM FROM MALEGAONPHATA TOWARDS ARDHAPUR ON NH 61	NANDED	REGULAR	150	OPEN CC 1	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1442	AUNDHA-HINGOLI ROAD ,WITHIN 3KM FROM ST BUS STAND TOWARDS HINGOLI ON RHS WITHIN MUNICIPAL LIMITS	HINGOLI	REGULAR	110	OBC	DC	40	40	1600	25	45	DRAW OF LOTS	15	4
1443	AT SAMDARGA, ON SH 164	LATUR	REGULAR	100	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1444	WITHIN 4 KM FROM UJANI JUNCTION TOWARDS LATUR RHS ON NH361	LATUR	REGULAR	100	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
1445	BASMAT -AUNDHA ROAD, WITHIN 2 KM FROM KURUNDHAPHATA,TOWARDS AUNDHA	HINGOLI	REGULAR	150	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
1446	DHARMABAD TO BABLI PHATA ROAD, WITHIN 1KM FROM PRIYADARSHINI IOC PUMP ON RHS	NANDED	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1447	NANDED-NARSI ROAD ,WITHIN 4KM BEFORE NARSI-CHOWK ON RHS	NANDED	REGULAR	200	OPEN	CC	40	50	2000	25	10	BIDDING	30	5
1448	KANDHAR,WITHIN 1KM FROM SHIVAJI LAW COLLEGE TOWARDS BUS STAND	NANDED	REGULAR	120	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1449	BILOLI ,WITHIN 3 KM FROM NEW ST BUSSTAND TOWARDS BODHAN	NANDED	REGULAR	120	OBC	DC	40	40	1600	25	45	DRAW OF LOTS	15	4
1450	AT KAUTHA BUS STOP, TOWARDS BARUL ON LHS WITHIN 1KM.TALUAKA KANDHAR	NANDED	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1451	AUNDHA-BASMAT ROAD,SHIRAD SHAPUR WITHIN 2 KM FROM ZP SCHOOL ON EITHER SIDE	HINGOLI	REGULAR	130	OPEN	СС	40	40	1600	25	10	BIDDING	30	5
1452	AT TAMBALA, ON SH 163	LATUR	REGULAR	100	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii 8		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	d fund required for	Draw of Lots/Biddi	11	12
1453	DEGAON PHATA TO JINTUR ,WITHIN 2KM FROM CHARDHANA PHATA TOWARDS JINTUR	PARBHANI	REGULAR	150	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
1454	AUNDHA-HINGOLI ROAD ,WITHIN 2 KM FROM HIWRA(JATU) ON LHS	HINGOLI	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1455	BABA BUDDHAJI CHOWK, TOWARDS VANGIPHATA WITHIN 2 KMS ON RHS	NANDED	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1456	HINGOLI TOWN, WITHIN 3 KM FROM INDIRA CHOWK, ON HINGOLI - WASHIM ROAD TOWARDS WASHIM	HINGOLI	REGULAR	120	OBC	СС	22	22	484	25	10	BIDDING	30	4
1457	LATUR , WITHIN 5 KMS FROM NEW NANDED NAKA, TOWARDS KOLPA	LATUR	REGULAR	100	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1458	BASMAT -AUNDHA ROAD, WITHIN 3 KM FROM BASMATPHATA, TOWARDS AUNDHA ON RHS	HINGOLI	REGULAR	100	OPEN	DC	60	60	3600	25	60	DRAW OF LOTS	15	5
1459	BHOKAR- WITHIN 1 KM FROM MAHARANAPRATAP CHOWK TOWARDS NANDED ON NH 61 ON RHS	NANDED	REGULAR	200	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
1460	JINTUR - AUNDHA PHATA ROAD, BETWEEN ANNABHAU SATHE CHOWK & AUNDH PHATA ON RHS TOWARDS AUNDHA PHATA	PARBHANI	REGULAR	150	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
1461	WITHIN 2 KM FROM SHAHID DILIP PETROLEUM, HPCL PETROL PUMP ON LHS TOWARDS LATUR FROM NANDED	NANDED	REGULAR	150	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1462	NANDED CITY, SHIVAJINAGAR MAIN ROAD WITHIN 1 KM FROM SHIVAJINAGAR POLICE STATION TOWARDS S.P.OFFICE ON LHS	NANDED	REGULAR	150	OPEN	СС	19	30	570	25	10	BIDDING	30	5
1463	GANGAKHED ,WITHIN 1 KM FROM DILKASH CHOWK TOWARDS PARBHANI ROAD ON LHS, DEWALE GINNING MARG.	PARBHANI	REGULAR	110	OPEN	DC	45	45	2025	25	45	DRAW OF LOTS	15	5
1464	KANERGAON-HINGOLI ROAD ,WITHIN 2 KM FROM MAHALVIRA PHATA TOWARDS HINGOLI ON RHS NH161	HINGOLI	REGULAR	150	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1465	MALEGAON -PUSAD ROAD,WITHIN 4 KMS FROM ZARA PHATA TOWARDS PUSAD ON RHS, KALAMNURI TALUKA	HINGOLI	REGULAR	200	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
1466	WITHIN 2 KMS FROM MANJARA SUGAR FACTORY ON SH 77	LATUR	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1467	KUNDALWADI VILLAGE,WITHIN 2 KM FROM KUNDALWADI BUS STOP TOWARDS BILOLI	NANDED	REGULAR	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
1468	WITHIN 2 KM FROM DHARAMPURI BUS STAND ON LHS TOWARDS PHALTAN, TAL- MALSHIRAS, NH 965	SOLAPUR	REGULAR	216	OPEN CC 1	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
1469	HINGOLI- PADSI ROAD WITHIN 4KM FROM HINGOLI BUS STAND TOWARDS KAMBALA VILLAGE	HINGOLI	REGULAR	200	OPEN	CC	33	33	1089	25	10	BIDDING	30	5
1470	PARBHANI,GANGAKHED -KODRI -LATUR ROAD,WITHIN 4 KM FROM GANGAKHED TEHSIL OFFICE TOWARDS LATUR.	PARBHANI	REGULAR	150	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
1471	MAHUR -KINWAT, WITHIN 7 KM FROM MAHUR BUS STAND	NANDED	REGULAR	150	OBC	CC	40	40	1600	25	10	BIDDING	30	4
1472	ON RHS BETWEEN VILLAGE TAKVIKI AND LOHARA-PATODA CHOWK TOWARDS LATUR, ON TULIAPUR LATUR ROAD,	OSMANABAD	REGULAR	143	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	d fund required for	Draw of	-11	12
1473	HINGOLI-WASHIM ROAD ,WITHIN 1 KM FROM KHURANA DENTAL COLLEGE TOWARDS WASHIM ON RHS ON NH 161	HINGOLI	REGULAR	150	OPEN	CC	40	50	2000	25	10	BIDDING	30	5
1474	HYDERABAD-NANDED ROAD,NAIGAON TALUKA, TOWARDS NANDED ,WITHIN 1.5 KM FROM DEGAON PHATA ON LHS	NANDED	REGULAR	150	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1475	NANDED CITY, FROM ITI CORNER TO MOR CHOWK	NANDED	REGULAR	150	OBC	CC	22	22	484	25	10	BIDDING	30	4
1476	PIMPALGAON MAHADEV, BETWEEN KM STONE 201 AND 202 ON LHS TOWARDS NANDED FROM BHOKARPHATA	NANDED	REGULAR	150	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1477	NANDED WITHIN 1.5 KM FROM DENA BANK, ANANDNAGAR CHOWK, TOWARDS NAGARJUNA HOTEL ON LHS	NANDED	REGULAR	150	OPEN CC 2	СС	19	30	570	25	10	BIDDING	30	5
1478	VILLAGE KHED, ON SHOLAPUR TO BARSHI ROAD ON LHS., NH 150E	SOLAPUR	REGULAR	159	OBC CC 1	CC	40	45	1800	25	10	BIDDING	30	4
1479	FROM KUMBHARI TO SIDDHESHWAR SUGAR FACTORY (NEW BYPASS ROAD)	SOLAPUR	REGULAR	222	ST CC 1	CFS	24	24	576	0	0	DRAW OF LOTS	0	3
1480	ON RHS FROM VILLAGE HOTGI TO CHETTINAD CEMENT, NEAR NTPC	SOLAPUR	REGULAR	183	OPEN	DC	24	24	576	25	60	DRAW OF LOTS	15	5
1481	VILLAGE MASSA, ON RHS FROM YERMALA TO KALLAM, NH 548C	OSMANABAD	REGULAR	100	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1482	NANDED CITY, FROM VAZIRABAD CHOWK TOWARDS NAGARJUNA PUBLIC SCHOOL, ON LHS	NANDED	REGULAR	150	OBC	CC	30	30	900	25	10	BIDDING	30	4
1483	DEGLOOR TOWN, WITHIN 1 KM FROM MUNICIPAL COUNCIL DEGLOOR	NANDED	REGULAR	140	SC	CFS	22	22	484	0	0	DRAW OF LOTS	0	3
1484	ON SHOLAPUR HOTGI ROAD - BETWEEN ASRA CHOWK AND SHOLAPUR AIRPORT	SOLAPUR	REGULAR	183	OPEN	CC	24	24	576	25	10	BIDDING	30	5
1485	KINWAT , FROM ASHOK STHAMB TOWARDS NANDED ROAD WITHIN 1KM ON RHS	NANDED	REGULAR	130	OPEN	DC	19	30	570	25	45	DRAW OF LOTS	15	5
1486	NANDED CITY,CHAITANYANAGAR SHIV MANDIIR TOWARDS RAILWAY COLONY WITHIN 1 KM	NANDED	REGULAR	150	OBC	DC	22	22	484	25	60	DRAW OF LOTS	15	4
1487	WITHIN 5 KMS FROM TERNA COLLEGE, ON LHS TOWARDS BEED, NH 52	OSMANABAD	REGULAR	202	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
1488	WITHIN 4 KMS FROM PARANDA BUS STAND ON LHS ON PARANDA BARSHI ROAD	OSMANABAD	REGULAR	179	ST	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1489	KIVALA VILLAGE ,WITHIN 2 KM FROM KIVALA BUS STAND ON EITHER SIDE	NANDED	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1490	ON DHAVLE CORNER TO MILK DAIRY ROAD, WITHIN 1 KM FROM 33KV MSEB OFFICE ON LHS	NANDED	REGULAR	150	OBC	CC	30	30	900	25	10	BIDDING	30	4
1491	VILLAGE LAUL (KURDUWADI - PANDHARPUR ROAD), SH 210, ON RHS TOWARDS KURDUWADI.	SOLAPUR	REGULAR	140	OPEN CC 1	DC	40	50	2000	25	60	DRAW OF LOTS	15	5
1492	WITHIN 2 KM FROM BALLURPHATA ON LHS TOWARDS DEGLOOR FROM UDGIR	NANDED	REGULAR	150	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii 8		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
1493	NANDED -HINGOLI ROAD ,WITHIN 2 KM FROM SAVARKHEDA PHATA TOWARDS HINGOLI	HINGOLI	REGULAR	150	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1494	LOHA-KANDHAR ROAD, WITHIN 2 KM FROM SUB REGISTRAR OFFICE, LOHA.	NANDED	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1495	MAHUR- PUSAD , WITHIN 2 KM FROM MAHUR BUS STAND ON RHS	NANDED	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1496	HYDERABAD-NANDED ROAD, WITHIN 2 KM FROM KAKANDI TOWARDS MARTALA ON LHS	NANDED	REGULAR	150	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1497	VILLAGE MASSA, ON LHS FROM YERMALA TO KALLAM, NH 548C	OSMANABAD	REGULAR	200	ST	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1498	MALEGAON-KALAMNURI ROAD ,WITHIN 2 KM FROM MALEGAON PHATA ON LHS NH-161	HINGOLI	REGULAR	150	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1499	SHOLAPUR AKKALKOT ROAD WITHIN 2 KMS FROM VALSANG BUS STAND, NH 150E	SOLAPUR	REGULAR	184	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1500	NANDED- LATUR ROAD, WITHIN 2.5 KM FROM BPCL OUTLET LAXMI PETROLEUM ON LHS	NANDED	REGULAR	150	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1501	HADGAON -UMERKHED ROAD ,WITHIN 2.5 KM FROM HADGAON - UMERKHEDPHATA TOWARDS UMERKHED ON NH361	NANDED	REGULAR	150	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1502	BETWEEN MALTEKDI GURUDWARA AND NANDED FRUIT MARKET ON LHS	NANDED	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1503	MARTALA-TOWARDS KAPSI VILLAGE ROAD.WITHIN 5 KMS FROM MARTALA T POINT.	NANDED	REGULAR	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1504	VILLAGE SHINDE NAGAR, ON SHOLAPUR TULIAPUR ROAD (NH 52) ON LHS	SOLAPUR	REGULAR	187	OBC PH	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1505	AT PARLI VAIJNATH, WITHIN 1 KM FROM AZAD CHOWK	BEED	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1506	MUKHED - JAMBH ROAD,SAWARGAONWADI VILLAGE ,WITHIN 1 KM FROM PRIMARY HEALTH CENTER TOWARDS JAMBH.	NANDED	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1507	MUKRAMBAD, WITHIN 1KM FROM MUKRAMBAD BUS STAND TOWARDS DEGLOOR ON LHS	NANDED	REGULAR	200	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1508	NANDED- MALEGAON ROAD,BETWEEN KURGAON PHATA AND BPC PETROL PUMP NEAR NERLI VILLAGE, ON RHS	NANDED	REGULAR	150	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
1509	SHOLAPUR MANGALWEDHA ROAD, BETWEEN KEGAON PHATA AND DONGAON PHATA, ON NH	SOLAPUR	REGULAR	214	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1510	AT NARSINHWADI, ON OSMANABAD LATUR ROAD, SH 67	OSMANABAD	REGULAR	180	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1511	NANDED CITY,ITI COLLEGE TO WORKSHOP CORNER ON LHS	NANDED	REGULAR	150	OPEN	DC	22	22	484	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	4 (Regular/Rural)	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1512	NANDED-NARSI ROAD,WITHIN 2.5KM FROM KAPSIGUMPA PHATA TOWARDS NARSI ON LHS	NANDED	REGULAR	150	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1513	NANDED CITY, WITHIN 1KM FROM BAFNA CHOWK ON BHAGAT SINGH ROAD TOWARDS PURANAMONDA ON LHS	NANDED	REGULAR	150	OPEN	DC	22	22	484	25	60	DRAW OF LOTS	15	5
1514	NANDED CITY, WITHIN 500MTS FROM BHAGAT SINGH CHOWK TOWARDS IG OFFICE ON RHS	NANDED	REGULAR	150	SC	CFS	22	22	484	0	0	DRAW OF LOTS	0	3
1515	ON NH-61 ON BHOKAR BYPASS WITHIN 3KM FROM UMRI T POINT TOWARDS BHAINSA ROAD	NANDED	REGULAR	200	OBC	CC	40	50	2000	25	10	BIDDING	30	4
1516	LOHA TOWARDS GANGAKHED,SUNEGAON VILLAGE WITHIN 2KM FROM BPCL - ONKAR PETROL PUMP ON RHS	NANDED	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1517	VILLAGE - SOHALE, ON SHOLAPUR- MANGALWEDHA ROAD, TAL - MOHOL	SOLAPUR	REGULAR	208	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1518	ON SELU -PATHRI ROAD ,FROM SELU PATHRI RAILWAY GATE WITHIN 5 KMS TOWARDS PATHRI.	PARBHANI	REGULAR	150	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
1519	NANDED CITY, BETWEEN ANNA BHAU SATHE CHOWK AND ITI CORNER	NANDED	REGULAR	150	SC	CFS	22	22	484	0	0	DRAW OF LOTS	0	3
1520	SHOLAPUR, FROM GARUD BUNGLOW TO CIVIL HOSPITAL ROAD ON RHS	SOLAPUR	REGULAR	215	OPEN	DC	24	24	576	25	60	DRAW OF LOTS	15	5
1521	VAIRAG - OSMANABAD ROAD, BETWEEN KM STONE 41 TO 44	SOLAPUR	REGULAR	158	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
1522	WITHIN 3 KM FROM NANDGAON PHATA TOWARDS BASMAT ON LHS, ON NH61	PARBHANI	REGULAR	150	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1523	FROM MARAWADE TOLL PLAZA TOWARDS UMADI WITHIN 4 KM. TAL- MANGALWEDHA	SOLAPUR	REGULAR	140	ST	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
1524	NANDED, WITHIN 2 KM FROM VANGI PHATA TOWARDS SHIKARGHAT, ON NANDED SHIKARGHAT ROAD	NANDED	REGULAR	200	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1525	NANDED-PURNA ROAD ,WITHIN 5 KM FROM NILKANTH RAO PAWDE KSK IOCL PETROL PUMP, TOWARDS POKHARNI	NANDED	REGULAR	100	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1526	ON DHARMABAD TO BASAR ROAD LHS - WITHIN 1 KM FROM ITI COLLEGE	NANDED	REGULAR	120	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1527	WITHIN 2 KMS FROM VILLAGE HATTUR PHATA, ON LHS FROM SHOLAPUR TO BIJAPUR ROAD	SOLAPUR	REGULAR	154	OBC CC 1	DC	50	60	3000	25	75	DRAW OF LOTS	15	4
1528	AT UMARI ON SH 55	BEED	REGULAR	100	ST CC 1	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1529	PALAM -TADKALAS-PARBHANI (SH-16) ,WITHIN 6 KMS FROM PALAM BUS STAND	PARBHANI	REGULAR	150	OPEN PH	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1530	PARBHANI -JINTUR ROAD, WITHIN 1 KM FROM GANPATI CHOWK ,JINTUR ROAD ON RHS TOWARDS ZHARI WITHIN WML	PARBHANI	REGULAR	150	OBC	DC	40	40	1600	25	45	DRAW OF LOTS	15	4
1531	NANDED CITY, WITHIN 1 KM FROM RAJ CORNER TOWARDS CHAITANYA NAGAR SHIV MANDIR ON LHS	NANDED	REGULAR	150	OPEN	DC	22	22	484	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		oum Dimension of the site (in		arrange App	e to be	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of	11	12
1532	NANDED CITY,TARODANAKA TOWARDS MALEGAON ROAD WITHIN 2KMS.	NANDED	REGULAR	150	SC	CFS	22	22	484	0	0	DRAW OF LOTS	0	3
1533	ON MANWAT BYPASS,WITHIN 3 KM FROM GAJANANA BABA MANDIR TOWARDS PARBHANI. ON NH61	PARBHANI	REGULAR	150	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1534	PARBHANI,ZARI-JINTUR ROAD,WITHIN 5KM FROM ZARI BUS STAND TOWARDS JINTUR ON LHS	PARBHANI	REGULAR	150	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
1535	VILLAGE KAVHE ON KARMALA KURDUWADI RD	SOLAPUR	REGULAR	193	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
1536	JINTUR TO AUNDHA ROAD, WITHIN 2 KM FROM AUNDHA PHATA ON RHS	PARBHANI	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1537	BETWEEN STONE NUMBER 168 TO 171 ON NH 65 ON LHS TOWARDS SHOLAPUR	SOLAPUR	REGULAR	183	ST	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
1538	POKHARNI PATHRI ROAD, WITHIN 2 KM FROM RAMPURI PHATA TOWARDS PATHRI ON LHS	PARBHANI	REGULAR	150	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
1539	PARBHANI CITY,WITHIN 1 KM FROM KHANAPUR PHATA TOWARDS PARBHANI ON LHS	PARBHANI	REGULAR	140	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
1540	NANDED -LOHA RAOD ROAD ,KAREGAON WITHIN 1KM FROM IOC PETROL PUMP PRAYAG SERVO TOWARDS LOHA ON LHS ON NH-361	NANDED	REGULAR	150	OPEN CC 1	CC	40	50	2000	25	10	BIDDING	30	5
1541	NANDED CITY, WITHIN 2KM FROM OLD MONDA TOWER TOWARDS PVR TALKIES	NANDED	REGULAR	150	SC	CFS	22	22	484	0	0	DRAW OF LOTS	0	3
1542	<u> </u>	SOLAPUR	REGULAR	120	OBC	DC	30	40	1200	25	60	DRAW OF LOTS	15	4
1543	PARBHANI TO JINTUR ROAD, BETWEEN RAIGAD CORNER & GANPATI MANDIR ON RHS TOWARDS JINTUR	PARBHANI	REGULAR	140	OPEN	DC	40	40	1600	25	45	DRAW OF LOTS	15	5
1544	PARBHANI -GANGAKHED ROAD, WITHIN 2 KM FROM TORODA PHATA ON RHS TOWARDS GANGAKHED	PARBHANI	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1545	BETWEEN 2 KM TO 6 KM FROM MALSHIRAS BUS STAND ON RHS TOWARDS TO VELAPUR ON NH 965	SOLAPUR	REGULAR	190	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1546	NANDED-ARDHAPUR BYPASS ROAD ,WITHIN 2.5 KM FROM TAMSA ROAD CHOWK TOWARDS HINGOLI ON RHS ON NH 361	NANDED	REGULAR	150	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1547	PARBHANI TO MANWAT ON NH 61, BETWEEN KILOMETRE STONE 452 AND 450 ON LHS TOWARDS MANWAT.	PARBHANI	REGULAR	150	OPEN	CC	40	50	2000	25	10	BIDDING	30	5
1548	PARBHANI CITY WITHIN 2.5KM FROM PARBHANI RAILWAY STATION ON PARBHANI- JINTUR ROAD.	PARBHANI	REGULAR	120	OPEN	DC	22	22	484	25	45	DRAW OF LOTS	15	5
1549	NAJI K PIMPARI, SH - 149, VILLAGE - MOHOL	SOLAPUR	REGULAR	183	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1550	· · · · · · · · · · · · · · · · · · ·	SOLAPUR	REGULAR	194	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1551	FROM TELGAON CHOWK TOWARDS MAJALGAON WITHIN 3 KMS ON NH- 548C	BEED	REGULAR	160	OPEN	CC	45	50	2250	25	10	BIDDING	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
1552	ON AKLUJ-VELAPUR ROAD ,VILLAGE CHAUNDESHWARWADI, ON LHS, TOWARDS VELAPUR, TAL-MALSHIRAS	SOLAPUR	REGULAR	160	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1553	VILLAGE BHOSE, ON LHS TOWARDS KARKAMB,TAL-PANDHARPUR	SOLAPUR	REGULAR	190	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1554	NARSI-DEGLOOR ROAD, WITHIN 3 KM FROM SHANKARNAGAR DEGREE COLLEGE TOWARDS DEGLOOR ON RHS ON NH161	NANDED	REGULAR	150	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1555	WITHIN 5 KM FROM MALSHIRAS BUS STAND TOWARDS NATEPUTE ON LHS	SOLAPUR	REGULAR	180	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1556	WITHIN 5 KM FROM NATPUTE BUS STAND ON LHS TOWARDS PHALTAN, TALUKA MALSHIRAS	SOLAPUR	REGULAR	198	OBC	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
1557	AT VILLAGE BHALWANI, ON TEMBHURNI KARMALA ROAD, RHS TOWARDS KARMALA	SOLAPUR	REGULAR	200	OPEN	CC	50	50	2500	25	10	BIDDING	30	5
1558	AT- WALUJ, ON MOHOL- VAIRAG ROAD, TAL- MOHOL	SOLAPUR	REGULAR	100	OPEN	DC	30	40	1200	25	60	DRAW OF LOTS	15	5
1559	WITHIN 6 KM FROM MALSHIRAS BUS STAND TOWARDS MHASWAD	SOLAPUR	REGULAR	200	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
1560	UPTO 3 KM FROM TAMALWADI TOLL PLAZA ON LHS TOWARDS TULIAPUR ON NH 52	OSMANABAD	REGULAR	164	OBC	DC	50	50	2500	25	75	DRAW OF LOTS	15	4
1561	AT YAWALI ON NH 65 ON LHS TOWARDS SHOLAPUR	SOLAPUR	REGULAR	200	OPEN	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
1562	AT-KURANWADI (ASHTI) ON SHETFAL- PANDHARPUR ROAD, ON LHS TOWARDS PANDHARPUR, TAL-MOHOL SH-161	SOLAPUR	REGULAR	170	OPEN	DC	40	50	2000	25	60	DRAW OF LOTS	15	5
1563	NARSI-DEGLOOR ROAD, WITHIN 4KM FROM KHATAGAON KAMAN, TOWARDS DEGLOOR ON NH161	NANDED	REGULAR	150	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1564	LOHARA PATODA ROAD, BETWEEN LOHARA BUS STAND AND GOVT. ITI COLLEGE, LOHARA	OSMANABAD	REGULAR	160	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1565	BETWEEN KM STONE NO. 108 TO 113 ON TEMBHURNI KARMALA ROAD LHS TOWARDS KARMALA	SOLAPUR	REGULAR	170	OPEN	DC	50	50	2500	25	75	DRAW OF LOTS	15	5
1566	NANDED CITY,BETWEEN KHURANA TRAVELS OFFICE TO DEGLUR NAKA.	NANDED	REGULAR	150	OPEN CC 1	DC	22	22	484	25	60	DRAW OF LOTS	15	5
1567	AT AMBHORA ON SH 142	BEED	REGULAR	150	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1568	PARBHANI TO MANWAT ON NH61 FROM STONE NO 445 TO 447 ON RHS.	PARBHANI	REGULAR	150	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1569	BETWEEN KM STONE NO. 143 TO 147, ON PANDHARPUR-MAHUD ROAD, ON RHS TOWARDS MAHUD, TAL- PANDHARPUR	SOLAPUR	REGULAR	187	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1570	BETWEEN KM STONE NO. 150 TO 155 ON NH-65 ON LHS TOWARDS SHOLAPUR	SOLAPUR	REGULAR	210	OPEN	CC	50	50	2500	25	10	BIDDING	30	5
1571	AT ADAS, ON SH 144	BEED	REGULAR	150	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
1572	AT DHANORA ON SH 142	BEED	REGULAR	100	ST	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1573	BETWEEN KM STONE NO 299 TO 302 ON MANGALWEDHA SANGOLA ROAD ON RHS TOWARDS SANGOLA	SOLAPUR	REGULAR	174	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1574	ANGARGAON, WITHIN 1 KM FROM SHIVAJI CHOWK TOWARDS MADHA ON LHS, ON SH-149	SOLAPUR	REGULAR	100	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
1575	AT DAIVNAGHAT ON SH 169, TOWARDS PARLI WITHIN 5 KM FROM BUS STOP	BEED	REGULAR	100	OBC	DC	35	40	1400	25	60	DRAW OF LOTS	15	4
1576	KARMALA, ON LHS FROM KAMALABHAVANI SUGAR MILL TO ARJUN NAGAR PHATA, ON SH NO 68.	SOLAPUR	REGULAR	179	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
1577	MANGWADGAON WITHIN 3.5 KM FROM KALAM BUS STAND TOWARDS PARALI, ON LHS	BEED	REGULAR	100	SC CC 1	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1578	WITHIN 2 KM FROM GANESH TEMPLE TOWARDS PANKHANEGAON ON LHS	HINGOLI	REGULAR	100	OPEN CC 2	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1579	AT GOLEGAON ON NH 61 (OLD NH 222)	BEED	REGULAR	150	OBC CC 1	DC	45	50	2250	25	75	DRAW OF LOTS	15	4
1580	AT LODGA, ON SH 166 WITHIN 2 KM FROM IOC PETROL PUMP TOWARDS LATUR	LATUR	REGULAR	130	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1581	AT BAKARWADI ON BEED-PARLI ROAD ON NH 361F	BEED	REGULAR	160	ST	CFS	45	50	2250	0	0	DRAW OF LOTS	0	3
1582	AT NEW BEED BY PASS ON RHS TOWARDS AURANGABAD	BEED	REGULAR	150	OBC	DC	45	50	2250	25	75	DRAW OF LOTS	15	4
1583	NH-548C,VILLAGE LAVANG,TEMBHURNI-AKLUJ HIGHWAY ON LHS TOWARDS AKLUJ	SOLAPUR	REGULAR	170	OPEN	CC	40	50	2000	25	10	BIDDING	30	5
1584	ON NH-65 WITHIN 3 KM FROM HOTEL KAMAT ON LHS TOWARDS SHOLAPUR, TAL-MOHOL	SOLAPUR	REGULAR	190	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1585	AT NIMGAON MAYAMBA ON SH 155	BEED	REGULAR	100	OBC	DC	35	40	1400	25	60	DRAW OF LOTS	15	4
1586	AT JAATEGAON ON SH 173	BEED	REGULAR	100	ST	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1587	PANDHARPUR CITY	SOLAPUR	REGULAR	152	OPEN	DC	25	30	750	25	45	DRAW OF LOTS	15	5
1588	SHOLAPUR-MANGALWEDHA ROAD BETWEEN KM STONE 330 TO 334 ON RHS TOWARDS MANGALWEDHA	SOLAPUR	REGULAR	165	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1589	AT PARLI WITHIN 1 KM OF RELIANCE PETROL PUMP ON PARLI-BEED HIGHWAY NH 361 F	BEED	REGULAR	150	OBC	DC	45	50	2250	25	75	DRAW OF LOTS	15	4
1590	PALAM PARBHANI ROAD ,WITHIN 1 KM FROM GULKAND BUS STOP.	PARBHANI	REGULAR	140	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1591	VILL- ADHIV, PANDHARPUR-SHETFAL ROAD, ON LHS TOWARDS SHETFAL, SH-161, TAL- PANDHARPUR	SOLAPUR	REGULAR	170	OPEN	DC	40	50	2000	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi	11	12
1592	VILLAGE PIRACHIKUROLI,PANDHARPUR VELLAPUR ROAD ON RHS TOWARDS VELLAPUR, TAL- PANDHARPUR	SOLAPUR	REGULAR	160	OPEN CC 1	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
1593	AT PIMPALNER ON BEED - MAJALGAON ROAD	BEED	REGULAR	150	OBC	DC	45	45	2025	25	45	DRAW OF LOTS	15	4
1594	Parbhani City, Parbhani - Dhar Gaon Road Within 2 km from Government Girls Hostel Within WML	PARBHANI	REGULAR	120	SC	CFS	30	24	720	0	0	DRAW OF LOTS	0	3
1595	VILLAGE KHANDALI ON LHS TOWARDS AKLUJ ON VELAPUR AKLUJ HIGHWAY.	SOLAPUR	REGULAR	177	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1596	VILLAGE KURDU, ON LHS TOWARDS TEMBHURNI ON NH-548C, TAL- MADHA	SOLAPUR	REGULAR	205	OPEN	CC	50	60	3000	25	10	BIDDING	30	5
1597	AT PISEGAON ON SH 158	BEED	REGULAR	100	OBC	DC	35	40	1400	25	60	DRAW OF LOTS	15	4
1598	VILLAGE PANDE ON KARMALA KURDUWADI ROAD	SOLAPUR	REGULAR	179	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1599	AT KASARWADI ON SH 171	BEED	REGULAR	100	ST	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1600	VILLAGE UPARI, ON PANDHARPUR-SATARA ROAD,TAL-PANDHARPUR	SOLAPUR	REGULAR	188	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1601	AT RAIMOHA ON SH 155	BEED	REGULAR	100	OBC	DC	35	40	1400	25	60	DRAW OF LOTS	15	4
1602	VILLAGE GOPALPUR, ON PANDHARPUR- MANGALWEDHA ROAD, ON LHS TOWARDS MANGALWEDHA	SOLAPUR	REGULAR	180	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1603	WADWANI, WITHIN 3 KM FROM BUS STAND ON BEED PARLI ROAD NH361F	BEED	REGULAR	100	ST PH	CFS	45	50	2250	0	0	DRAW OF LOTS	0	3
1604	WITHIN 3 KM FROM SAWALESHWAR TOLL PLAZA ON LHS TOWARDS PUNE	SOLAPUR	REGULAR	171	OBC PH	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1605	VILLAGE MALIKPETH, MOHOL VAIRAG ROAD	SOLAPUR	REGULAR	184	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1606	VILLAGE RIDHORE, ON KURDUWADI- BARSHI ROAD ON LHS TOWARDS BARSHI, TAL- MADHA	SOLAPUR	REGULAR	175	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1607	AT TOKWADI ON SH 171, PARLI-BEED ROAD	BEED	REGULAR	100	OBC	DC	35	40	1400	25	60	DRAW OF LOTS	15	4
1608	BETWEEN YEDASHI BYPASS ROAD AND YERMALA ON RHS TOWARDS YERMALA, NH 52	OSMANABAD	REGULAR	183	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1609	WITHIN 3 KM FROM MANGALWEDHA TOLL NAKA TOWARDS SHOLAPUR ON LHS	SOLAPUR	REGULAR	145	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1610	WITHIN 2 KM FROM AKLUJ CHOWK (MAHUD) TOWARDS VELAPUR ON LHS , TAL- SANGOLA	SOLAPUR	REGULAR	200	OPEN	DC	50	60	3000	25	75	DRAW OF LOTS	15	5
1611	WITHIN 4 KM FROM KAIJ BUS STAND	BEED	REGULAR	100	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District		Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1612	WITHIN 2 KMS OF CHUMLI PHATA ON SH 142	BEED	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1613	WITHIN 2 KM FROM MOHOL BUS STAND ON RHS TOWARDS PANDHARPUR	SOLAPUR	REGULAR	180	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1614	WITHIN 3 KM FROM VELAPUR CHOWK, ON LHS TOWARDS PANDHARPUR, TAL-MALSHIRAS	SOLAPUR	REGULAR	195	OPEN	CC	40	50	2000	25	10	BIDDING	30	5
1615	WITHIN 3 KM FROM UTOPIAN SUGAR FACTORY TOWARDS MANGALWEDHA, ON LHS	SOLAPUR	REGULAR	140	OPEN	DC	30	40	1200	25	60	DRAW OF LOTS	15	5
1616	SELU TO DEGAON ROAD, WITHIN 3 KM FROM SELU T POINT	PARBHANI	REGULAR	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
1617	BETWEEN KARMALA FLY OVER AND KURDUWADI FLY OVER, ON LHS TOWARDS SHOLAPUR ON NH 65, TAL MADHA	SOLAPUR	REGULAR	200	SC	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
1618	AT BEED WITHIN 2 KM FROM SHIVAJI CHOWK ON BEED AHMEDNAGAR ROAD	BEED	REGULAR	150	OPEN CC 1	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1619	SIRSAM TO PUSAD ROAD, WITHIN 1 KM FROM SIRSAM BUS STAND TOWARDS PUSAD.	HINGOLI	REGULAR	150	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
1620	WITHIN 3 KM FROM BHALWANI BUS STAND ON RHS TOWARDS PANDHARPUR, ON PANDHARPUR SATARA HIGHWAY	SOLAPUR	REGULAR	200	OPEN	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
1621	VILLAGE CHIKHARDE, ON BARSHI OSMANABAD ROAD	SOLAPUR	REGULAR	189	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1622	AT TEMBHURNI, WITHIN 6 KM FROM AKLUJ CHOWK TOWARDS AKLUJ ON RHS	SOLAPUR	REGULAR	145	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1623	UDGIR - MUKRAMBAD ROAD, WITHIN 2.5 KM FROM LAKMAPUR PHATA TOWARDS LAKMAPUR ON NH 161A RHS	NANDED	REGULAR	200	OBC	DC	50	50	2500	25	75	DRAW OF LOTS	15	4
1624	WITHIN 6 KM FROM IOCL PETROL PUMP (SHEGAON DHUMALA COCO) ON PANDHARPUR-MOHOL HIGHWAY, ON LHS TOWARDS MOHOL, TAL- PANDHARPUR	SOLAPUR	REGULAR	190	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1625	AKKALKOT NALDURG ROAD, FROM KM STONE 12 TO 16 TOWARDS AKKALKOT	SOLAPUR	REGULAR	185	OPEN	DC	80	80	6400	25	60	DRAW OF LOTS	15	5
1626	AT PATODA WITHIN 2 KM FROM T JUNCTION TOWARDS PANDHARPUR ROAD	BEED	REGULAR	150	SC CC 1	CFS	45	50	2250	0	0	DRAW OF LOTS	0	3
1627	VILLAGE ULE, ON RHS FROM SHOLAPUR TO OSMANABAD ON NH 52	SOLAPUR	REGULAR	156	OBC CC 1	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
1628	AKKALKOT RAILWAY STATION TO NAGANSUR, (SH), BETWEEN KM STONE 75 TO 80 ON LHS TOWARDS NAGANSUR	SOLAPUR	REGULAR	157	OPEN	DC	50	50	2500	25	60	DRAW OF LOTS	15	5
1629	ON KAIJ-AMBEJOGAI ROAD BETWEEN DHAKEPHAL AND KUMBEPHAL ON LHS ON NH548D	BEED	REGULAR	240	OPEN PH	CC	45	50	2250	25	10	BIDDING	30	5
1630	WITHIN 5 KMS FROM DHANGARWADI, ON RHS TOWARDS UMERGA ON SHOLAPUR HYDERABAD ROAD (NH-65).	OSMANABAD	REGULAR	189	SC	CFS	50	50	2500	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1631	UMRI ,FROM GORTA VILLAGE KAMAN TOWARDS UMRI WITHIN 2KM	NANDED	REGULAR	110	ОВС	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1632	AT VILLAGE BABALSUR, ON UMERGA LATUR ROAD	OSMANABAD	REGULAR	154	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
1633	WITHIN 6 KMS FROM DEGLOOR BUS STAND ON DEGLOOR NANDED ROAD.	NANDED	REGULAR	150	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1634	WITHIN 5 KMS FROM VILLAGE SURATGAON BRIDGE ON NH 52, LHS TOWARDS SHOLAPUR, ON SHOLAPUR-TULIAPUR ROAD	OSMANABAD	REGULAR	187	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1635	ON BARSI KURDUWADI ROAD, WITHIN 5 KMS FROM SOJAR PHARMACY COLLEGE TOWARDS KURDUWADI	SOLAPUR	REGULAR	203	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1636	BETWEEN DHARASHIV SUGAR FACTORY AND MALKAPUR PHATA ON LHS TOWARDS YERMALA, NH 52	OSMANABAD	REGULAR	191	OPEN	CC	40	50	2000	25	10	BIDDING	30	5
1637	BETWEEN GENTYAL CHOWK AND MAHAVIR CHOWK ON RHS TOWARDS MAHAVIR CHOWK	SOLAPUR	REGULAR	196	OPEN	DC	50	50	2500	25	60	DRAW OF LOTS	15	5
1638	WORKSHOP CORNER TO ANAND NAGAR CHOWK, ON LHS TOWARDS NAGARJUNA CIRCLE,WML NANDED	NANDED	REGULAR	150	OBC	DC	22	22	484	25	60	DRAW OF LOTS	15	4
1639	WITHIN 5 KMS FROM NARI BUS STOP, NARIWADI, BARSHI - OSMANABAD SH, TOWARDS OSMANABAD	SOLAPUR	REGULAR	210	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1640	BETWEEN MARKET YARD CHOWK & NEW WIDI GHARKUL, ON SHOLAPUR HYDERABAD ROAD ON RHS TOWARDS HYDERABAD.	SOLAPUR	REGULAR	178	OPEN	DC	30	40	1200	25	75	DRAW OF LOTS	15	5
1641	KALAMNURI-AKHADABALAPUR ROAD WITHIN 2 KM FROM DONGERGAON 132KV SUBSTATION ON LHS TOWARDS AKHADABALAPUR ON NH 161	HINGOLI	REGULAR	150	OPEN CC 1	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1642	ON YERMALA BARSHI ROAD, BETWEEN YERMALA & VILLAGE KUSALAMB	OSMANABAD	REGULAR	155	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1643	AT VILLAGE YELEGAON, ON SH (13 MILE TO KAMTI ROAD BY PASS) ON LHS TOWARDS MANDRUP	SOLAPUR	REGULAR	200	SC	CFS	50	50	2500	0	0	DRAW OF LOTS	0	3
1644	BETWEEN SAWALESHWAR TOLL PLAZA AND VILLAGE KEGAON ON PUNE SHOLAPUR HIGHWAY ON LHS TOWARDS SHOLAPUR	SOLAPUR	REGULAR	159	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1645	AT MAHUD, WITHIN 7 KMS FROM AKLUJ CHOWK ON RHS TOWARDS AKLUJ	SOLAPUR	REGULAR	150	OBC	DC	50	50	2500	25	75	DRAW OF LOTS	15	4
1646	BETWEEN VILLAGE KOTHLWADI PHATA AND VILLAGE PARA ON KALAMBITKUR-PARA ROAD	OSMANABAD	REGULAR	173	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1647	BETWEEN VILLAGE TAMALWADI AND HIPPARGE ON LHS TOWARDS SHOLAPUR ON TULIAPUR SHOLAPUR ROAD.	SOLAPUR	REGULAR	156	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1648	WITHIN 1KM FROM DR BABASAHEB AMBEDKAR SUGAR FACTORY	SOLAPUR	REGULAR	166	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1649	VILLAGE LOHATA (EAST) WITHIN 1 KM FROM BUS STAND, ON RHS TOWARDS KALAMB, KALAMB LATUR SH 160	OSMANABAD	REGULAR	224	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1650	VILLAGE KHANAPUR, ON SHOLAPUR HYDERABAD ROAD, NH 65	OSMANABAD	REGULAR	182	OPEN	DC	45	50	2250	25	75	DRAW OF LOTS	15	5
1651	BETWEEN YERMALA AND TERKHEDA ON RHS TOWARDS BEED, NH 52	OSMANABAD	REGULAR	175	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1652	VILLAGE SALSE ON SALSE-PARANDA ROAD	SOLAPUR	REGULAR	165	SC	CFS	40	50	2000	0	0	DRAW OF LOTS	0	3
1653	VILLAGE NAI CHAKUR, ON UMERGA LATUR ROAD	OSMANABAD	REGULAR	155	OBC	DC	45	45	2025	25	60	DRAW OF LOTS	15	4
1654	BHOOM TOWN	OSMANABAD	REGULAR	146	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1655	BORAMANI KM STONE-263-265 ON NH9	SOLAPUR	REGULAR	190	OPEN	CC	50	50	2500	25	10	BIDDING	30	5
1656	WITHIN 3 KMS FROM VILLAGE SHAHAPUR, ON NALDURG AKKALKOT ROAD	OSMANABAD	REGULAR	139	OBC	DC	36	40	1440	25	60	DRAW OF LOTS	15	4
1657	WITHIN 5 KMS FROM MADHA BUS STAND TOWARDS VAIRAG	SOLAPUR	REGULAR	190	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
1658	DAYANAND COLLEGE ROAD	SOLAPUR	REGULAR	191	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1659	BETWEEN BURHANPUR TO HANNUR, ON SH 154	SOLAPUR	REGULAR	185	OPEN	DC	45	45	2025	25	60	DRAW OF LOTS	15	5
1660	WITHIN 1 KM FROM ANNABHAU SATHE CHOWK TOWARDS SHIVAJI CHOWK, ON LHS, OSMANABAD CITY.	OSMANABAD	REGULAR	170	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1661	VILLAGE PANGRI, ON BARSHI LATUR ROAD	SOLAPUR	REGULAR	187	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1662	SHOLAPUR, FROM SAAT RASTA TO VIJAPUR ROAD, WML SHOLAPUR	SOLAPUR	REGULAR	209	OPEN	DC	24	24	576	25	60	DRAW OF LOTS	15	5
1663	FROM OSMANABAD TOWARDS AURANGABAD ON RHS BETWEEN KM 77 TO 83 OF NH 52	OSMANABAD	REGULAR	230	OPEN	CC	50	50	2500	25	10	BIDDING	30	5
1664	NALDURG TULIAPUR ROAD, WITHIN 2 KM FROM GHANDORA PHATA	OSMANABAD	REGULAR	164	OBC	DC	40	45	1800	25	60	DRAW OF LOTS	15	4
1665	FROM RING ROAD CHOWK TO INDUSTRIAL ESTATE NO 2 ON LHS, BARSHI	SOLAPUR	REGULAR	178	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1666	WITHIN 3 KM FROM KARMALA FLY-OVER(TEMBHURNI) ON LHS TOWARDS KARMALA	SOLAPUR	REGULAR	200	SC	CFS	50	60	3000	0	0	DRAW OF LOTS	0	3
1667	AT VILLAGE SHENDRI, ON NH-548C, BARSI KURDUWADI ROAD	SOLAPUR	REGULAR	213	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1668	KINWAT-ISLAPUR ROAD,WITHIN 2 KM FROM CHIKHLI PHATA, ON LHS TOWARDS ISLAPUR.	NANDED	REGULAR	150	OPEN CC 1	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1669	FROM SAMRAT CHOWK TO BALIVES ON RHS, SHOLAPUR CITY	SOLAPUR	REGULAR	190	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		num Dimensi of the site (ii 8		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
ı		•	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for	Draw of	-11	12
1670	SHOLAPUR - MANGALWEDHA ROAD, BETWEEN RELIANCE MARKET AND MSEB SUBSTATION	SOLAPUR	REGULAR	234	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1671	SHINDENAGAR FROM TULIAPUR NAKA ON RHS ON NH 52 TOWARDS TULIAPUR	SOLAPUR	REGULAR	179	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1672	IN BARSHI TOWN, ON RHS ON DHAS PIMPALGAON ROAD, BETWEEN HINDU SMASHAN BHUMI & BARSHI BYPASS ROAD.	SOLAPUR	REGULAR	198	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1673	IN OSMANABAD, FROM CENTRAL BUILDING TO SHIVAJI CHOWK	OSMANABAD	REGULAR	197	OPEN	DC	24	24	576	25	45	DRAW OF LOTS	15	5
1674	AT DORWADI ON BEED-PARDI ROAD	BEED	REGULAR	100	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1675	VILLAGE ANADUR, WITHIN 1 KM FROM ANADUR BUS STAND, ON LHS TOWARDS UMERGA, ON SHOLAPUR HYDERABAD ROAD, NH 62	OSMANABAD	REGULAR	170	OBC	DC	40	50	2000	25	75	DRAW OF LOTS	15	4
1676	IN SHOLAPUR CITY, BETWEEN GENTYAL THEATER & NILAM NAGAR ON RHS TOWARDS KUMBHARI	SOLAPUR	REGULAR	205	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
1677	SUGAON VILLAGE, WITHIN 2 KM FROM SUGAON ZP SCHOOL TOWARDS NALESHWAR	NANDED	REGULAR	100	OPEN CC 2	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1678	HYDERABAD-NANDED ROAD, WITHIN 2.5 KM FROM MARTALA TOWARDS NANDED ON RHS	NANDED	REGULAR	150	OBC CC 1	CC	40	50	2000	25	10	BIDDING	30	4
1679	AT SAIGAON ON SH 144	BEED	REGULAR	150	ST CC 1	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
1680	NALDURG NEW BY PASS ROAD, NH 62	OSMANABAD	REGULAR	194	OPEN	DC	40	50	2000	25	75	DRAW OF LOTS	15	5
1681	NALDURG TOWN WITHIN 2 KMS FROM BUS STAND	OSMANABAD	REGULAR	148	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1682	WITHIN 1.5 KMS ON LHS FROM KUMTHA NAKA TOWARDS NAI ZINDAGI ROAD, SHOLAPUR	SOLAPUR	REGULAR	200	OBC	CC	25	25	625	25	10	BIDDING	30	4
1683	AT SONEGAON ON SH 56	BEED	REGULAR	100	SC	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3
1684	AT NARANGWADI PATI, ON UMERGA LATUR ROAD	OSMANABAD	REGULAR	187	OPEN	DC	40	45	1800	25	60	DRAW OF LOTS	15	5
1685	AT PADOLI, ON LHS, OSMANABAD - AUSA ROAD, SH 67	OSMANABAD	REGULAR	150	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
1686	WITHIN 2 KM FROM VAIRAG BUS STAND TOWARDS SHOLAPUR ON RHS.	SOLAPUR	REGULAR	173	OBC	DC	40	40	1600	25	75	DRAW OF LOTS	15	4
1687	ON NH-52, BETWEEN GOLEGAON TO WASHI ON RHS TOWARDS BEED	OSMANABAD	REGULAR	220	OPEN	СС	50	50	2500	25	10	BIDDING	30	5
1688	BETWEEN KM STONE 160 AND 161 TOWARDS AMBEJOGAI ON LHS ON KINGAON-AMBEJOGAI ROAD	BEED	REGULAR	100	ST	CFS	35	40	1400	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (i		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1689	ON NH-52, VILLAGE WASHI ON LHS TOWARDS BEED	OSMANABAD	REGULAR	220	OPEN	CC	50	50	2500	25	10	BIDDING	30	5
1690	WITHIN 5 KMS RADIUS FROM D MART, JULE SHOLAPUR	SOLAPUR	REGULAR	178	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1691	WITHIN ALIBAUGH	RAIGAD	REGULAR	250	OPEN CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1692	ON TALOJA MIDC ROAD BETWEEN NAVADE PHATA AND NITLAS PHATA, WHILE TRAVELLING TOWARDS NITLAS PHATA	RAIGAD	REGULAR	350	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1693	ON NH-61 (OLD –NH 222) WITHIN 10 KM FROM MURBAD ST BUS STAND TO MALASJE GHAT	THANE	REGULAR	200	OBC	CC	35	35	1225	25	10	BIDDING	30	4
1694	VILLAGE KHIDKALI, FROM SHILPHATA CIRCLE TO KATAI TOLL NAKA ON KALYAN-SHILPHATA ROAD ON LHS	THANE	REGULAR	280	OPEN	СС	25	25	625	25	10	BIDDING	30	5
1695	FROM ERANZAD VILLAGE TO BARVI DAM ON MAIN ROAD	THANE	REGULAR	160	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1696	TALOJA BYPASS ROAD (AMBERNATH - TALOJA MIDC ROAD)	THANE	REGULAR	215	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1697	FROM SAHAD TO GOVELI ON NH-61 (OLD –NH 222)	THANE	REGULAR	170	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1698	WITHIN 5 KM FROM KHADAKPADA CIRCLE WITHIN KALYAN MUNICIPAL LIMIT	THANE	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1699	DOMBIVALI CITY (WEST)	THANE	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1700	ON MALANGAD ROAD	THANE	REGULAR	180	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1701	FROM YEWAI VILLAGE TO ARJUNALI TOLL PLAZA ON NH3 ON RHS WHILE GOING FROM MUMBAI TO NASHIK	THANE	REGULAR	300	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1702	FROM AADHARWADI CHOWK TO GANDHARI BRIDGE ON KALYAN SAPE ROAD	THANE	REGULAR	200	OPEN	СС	25	25	625	25	10	BIDDING	30	5
1703	ON MAHAPE-SHILPHATA MAIN ROAD	THANE	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1704	BETWEEN KM STONE 492 AND 485 ON LHS TOWARDS AHMEDABAD ON MUMBAI-AHMEDABAD NH-8 .	PALGHAR	REGULAR	443	OBC PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1705	WITHIN HARIHARESHWAR TOWN	RAIGAD	REGULAR	150	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1706	BETWEEN SARALGAON TO AMBELE KHURD, ON NH-61(OLD –NH 222) ON LEFT HAND SIDE TOWARDS MALSEJGHAT	THANE	REGULAR	200	OPEN	СС	35	35	1225	25	10	BIDDING	30	5
1707	WITHIN 5 KMS OF YAZOO PARK (GLOBAL CITY) VIRAR WEST	PALGHAR	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1708	FROM KALWA BRIDGE TO PARSIK NAGAR ON MAIN ROAD	THANE	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	,,	Estimate d monthly Sales	Category	Type of Site *		num Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
1709	AT BOLINJ ON AGASHI ROAD, VIRAR (W)	PALGHAR	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1710	BETWEEN KHARBAO AND PAYEGAON, ON SH-4	THANE	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1711	AT BILALPADA BETWEEN SANTOSH BHUWAN NAKA AND GAVRAI PADA NAKA , NALASOPAR EAST	PALGHAR	REGULAR	200	OPEN	СС	25	25	625	25	10	BIDDING	30	5
1712	WITHIN MUNICIPAL CORPORATION LIMIT AMBERNATH	THANE	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1713	WITHIN 1 KM OF RETI BANDAR CIRCLE TOWARDS KALVA NAKA ON RHS IN THANE CITY	THANE	REGULAR	350	OPEN	СС	25	25	625	25	10	BIDDING	30	5
1714	ON NH3 FROM SHAHPUR TO KHARDI ST BUS STAND, ON LHS WHILE GOING FROM MUMBAI TO NASHIK	THANE	REGULAR	285	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1715	THAKURLI, KALYAN DOMBAVLI MUNICIPAL CORPORATION LIMIT	THANE	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1716	AT DURVES ON NH 8 (MUMBAI-AHMEDABAD ROAD)	PALGHAR	REGULAR	250	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1717	BETWEEN KM STONE 474 AND 467 ON RHS TOWARDS AHMEDABAD ON MUMBAI-AHMEDABAD NH-8	PALGHAR	REGULAR	400	OPEN CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1718	BETWEEN MANPADESHWAR TEMPLE TO BETWADA GAON NAKA, ON DIVA MANPADA ROAD	THANE	REGULAR	200	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1719	ON MUMBAI PUNE EXPRESSWAY, BETWEEN KALAMBOLI JUNCTION TO 1 KM BEFORE KHALAPUR TOLL PLAZA ON LHS TOWARDS PUNE	RAIGAD	REGULAR	700	SC	CFS	50	50	2500	0	0	DRAW OF LOTS	0	3
1720	VILLAGE DAIGARH, FROM SHILPHATA CIRCLE TO KATAI TOLL NAKA ON KALYAN-SHILPHATA ROAD ON RHS	THANE	REGULAR	280	OPEN	СС	25	25	625	25	10	BIDDING	30	5
1721	ON SH-104, BETWEEN KANTHAVLI TO KASAR BHAT ON EITHER SIDE	RAIGAD	REGULAR	200	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1722	AT THANE NORTH WITHIN LIMITS OF THANE MUNICIPAL CORPORATION	THANE	REGULAR	350	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1723	VASAI CITY- BETWEEN BHABOLA NAKA AND DEVTALAV, ON BANGLI ROAD	PALGHAR	REGULAR	200	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1724	ON ALIBAG-REVAS ROAD, BETWEEN MANDVE TO THAL	RAIGAD	REGULAR	150	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1725	ON KHOPATE-JNPT ROAD, BETWEEN KOPROLI AND NAVGHAR	RAIGAD	REGULAR	150	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
1726	WARASGAON, ON KOLAD-BHIRA ROAD	RAIGAD	REGULAR	120	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1727	BETWEEN KM STONE 474 AND 464 ON LHS TOWARDS AHMEDABAD ON MUMBAI-AHMEDABAD NH-8	PALGHAR	REGULAR	400	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1728	AT BHUIGAON ON AGASHI-VASAI ROAD	PALGHAR	REGULAR	206	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
1		•	(Regular/Rural)		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for	Draw of Lots/Biddi ng	1	12
1729	BHYANDER (WEST) WML	THANE	REGULAR	430	OPEN PH	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1730	RABALE	THANE	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1731	ON PUNE MUMBAI EXPRESSWAY, BETWEEN VILLAGE DHEKU TO KALAMBOLI CIRCLE ON LHS, WHILE TRAVELLING TOWARDS MUMBAI	RAIGAD	REGULAR	700	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
1732	BETWEEN KM STONE 482 AND 475 ON MUMBAI-AHMEDABAD NH-8	PALGHAR	REGULAR	443	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1733	ON NH-17, GOA-MUMBAI ROAD, FROM KARNALA TO PALASPE PHATA ON LHS, WHILE TRAVELLING TOWARDS PALASPE PHATA	RAIGAD	REGULAR	310	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1734	KATAI TOLL NAKA TO NEVALI PHATA, BADLAPUR KATAI ROAD	THANE	REGULAR	200	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1735	ON NH-17, GOA-MUMBAI ROAD, FROM KOLETI TO PEN ON LHS, WHILE TRAVELLING TOWARDS PEN	RAIGAD	REGULAR	310	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1736	ON BHIWANDI WADA ROAD WITHIN 5 KMS FROM KUDUS POST OFFICE TOWARDS BHIWANDI ON LHS	PALGHAR	REGULAR	150	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1737	AT VASAI BETWEEN PARNAKA TO GIRIJ BUS STOP	PALGHAR	REGULAR	200	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1738	ON SH-104, ON GAVHANPHATA CHIRNER ROAD BETWEEN PADEGHAR TO DIGHODE ON LHS, WHILE TRAVELLING TOWARDS DIGHODE	RAIGAD	REGULAR	200	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1739	FROM KHARDI ST BUS STAND TO LATIFVADI ON NH3 ON RHS WHILE GOING FROM MUMBAI TO NASHIK	THANE	REGULAR	300	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1740	PALGHAR (WEST) - WITHIN 6 KMS FROM CHAR RASTA CHOWK TOWARDS MAHIM	PALGHAR	REGULAR	262	OPEN CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1741	AT UTTAN ON UTTAN BHAYANDER ROAD	THANE	REGULAR	150	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1742	ON PANVEL MATHERAN ROAD, BETWEEN HDFC CIRCLE PANVEL TO KOPROLI	RAIGAD	REGULAR	250	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
1743	SATHGAON ON SAPGAON - DOLKHAMB ROAD ON RHS TOWARDS DOLKHAM IN SHAHAPUR TALUKA	THANE	REGULAR	110	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1744	FROM YEWAI VILLAGE TO ARJUNALI TOLL PLAZA ON NH3 ON LHS WHILE GOING FROM MUMBAI TO NASHIK	THANE	REGULAR	300	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1745	KHOPOLI TOWN AREA	RAIGAD	REGULAR	150	OBC	CC	25	25	625	25	10	BIDDING	30	4
1746	FROM MANPADA TO KALYAN ON KATAI-KALYAN ROAD	THANE	REGULAR	200	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1747	FROM MANKOLI NAKA TOWARDS ANJUR PHATA WITHIN 4 KMS FROM MANKOLI NAKA ON LHS	THANE	REGULAR	200	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		oum Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		•	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for develop	Draw of Lots/Biddi ng		12
1748	BETWEEN ARJUNALI TOLL PLAZA TO VASIND ON NH3 ON LHS WHILE GOING FROM MUMBAI TO NASHIK	THANE	REGULAR	300	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1749	BETWEEN KM STONE NO. 409 AND 413 ON RHS TOWARDS AHMEDABAD ON NH 8	PALGHAR	REGULAR	250	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1750	FROM KASELI TOLL NAKA TO ANJUR PHATA ON OLD MUMBAI AGRA ROAD ON LHS WHILE GOING TOWARDS BHIWANDI FROM KASELI	THANE	REGULAR	200	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1751	BETWEEN ARJUNALI TOLL PLAZA TO VASIND ON NH3 ON RHS WHILE GOING FROM MUMBAI TO NASHIK	THANE	REGULAR	300	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1752	ON LHS WHILE TRAVELLING FROM KATAI TOLL NAKA TO MANPADA ON KATAI KALYAN ROAD	THANE	REGULAR	250	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1753	FROM VITTHALWADI RAILWAY STATION TO CHAKKI NAKA MAIN ROAD	THANE	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1754	ON WADA BHIWANDI ROAD WITHIN 5 KMS FROM KUDUS POST OFFICE TOWARDS BHIWANDI ON RHS	PALGHAR	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1755	ON NH-17, GOA-MUMBAI ROAD, BETWEEN KAMBLE TARF MAHAD TO PALE ON LHS, WHILE TRAVELLING FROM GOA TOWARDS MUMBAI.	RAIGAD	REGULAR	300	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1756	BETWEEN KM STONE 452 AND 462 ON MUMBAI-AHMEDABAD NH-8	PALGHAR	REGULAR	400	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1757	ON NH-17, GOA-MUMBAI ROAD, BETWEEN KAMBLE TARF MAHAD TO PARLE ON LHS, WHILE TRAVELLING FROM MUMBAI TOWARDS GOA.	RAIGAD	REGULAR	315	OPEN	CC	50	50	2500	25	10	BIDDING	30	5
1758	ON NH-17, MUMBAI-GOA ROAD, FROM JITE TO PEN ON LHS, WHILE TRAVELLING TOWARDS PEN	RAIGAD	REGULAR	360	OPEN	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
1759	ON SH-88, ON PEN KHOPOLI ROAD, WITHIN 5 KMS OF SAPOLI TOWARDS KHOPOLI	RAIGAD	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1760	BETWEEN KALAMBOLI CIRCLE TO PALASPE PHATA ON OLD MUMBAI- PUNE ROAD	RAIGAD	REGULAR	430	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1761	NERAL TOWN	RAIGAD	REGULAR	150	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1762	ON NH-348, JNPT ROAD, BETWEEN PALASPE PHATA TO PARGAON ON LHS, WHILE TRAVELLING TOWARDS PARGAON	RAIGAD	REGULAR	500	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1763	ON NH3 FROM ANJURDIVE TO WALSHIND IN BHIWANDI TALUKA WHILE GOING FROM MUMBAI TO NASHIK ON LHS	THANE	REGULAR	290	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1764	AT NAIGAON WEST BETWEEN NAIGAON RAILWAY STATION TO DARGA PHATA	PALGHAR	REGULAR	180	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1765 1766	ON NH-17, MUMBAI-GOA ROAD, FROM PEN TO JITE ON LHS, WHILE TRAVELLING TOWARDS JITE THANE WML ON THANE GHODBUNDER ROAD	RAIGAD THANE	REGULAR REGULAR	300 350	OPEN CC 1	DC CC	40 25	40 25	1600 625	25 25	75 10	DRAW OF LOTS BIDDING	15 30	5
1/00	THANE WIVE ON THANE GROUDONDER RUAD	ITIANE	NEGULAR	330	OFEN CC 1	CC	40	23	023		10	טאווטטום	3 U	

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		oum Dimension of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
	-	J	(Regular/Rural		SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for	Draw of		
1767	AT THANE CITY ON OLD MUMBAI - AGRA ROAD WITHIN MUNICIPAL LIMITS	THANE	REGULAR	350	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1768	FROM SHIRISH PADA TO KAMBARE IN WADA TALUKA	PALGHAR	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1769	ON NH-348, JNPT ROAD BETWEEN JWR LOGISTICS PVT LTD. TO CHIRLE ON LHS, WHILE TRAVELLING TOWARDS CHIRLE	RAIGAD	REGULAR	500	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
1770	ON NH-348, FROM PAGOTE TO DHUTUM, ON LHS WHILE TRAVELLING TOWARDS CHIRLE	RAIGAD	REGULAR	500	OPEN	DC	60	60	3600	25	75	DRAW OF LOTS	15	5
1771	BHYANDER EAST WML	THANE	REGULAR	500	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1772	FROM AMBADI NAKA TO DABHAD ON SH40	THANE	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1773	ON NH-348, JNPT ROAD, BETWEEN PAUNDKHAR TO KARAL JUNCTION ON LHS WHILE TRAVELLING TOWARDS KARAL JUNCTION	RAIGAD	REGULAR	500	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1774	ON NH-348A, BETWEEN JASAI TO SONKHAR ON LHS, WHILE TRAVELLING TOWARDS SONKHAR	RAIGAD	REGULAR	500	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1775	BETWEEN KM STONE NO. 420 AND 424 ON LHS TOWARDS AHMEDABAD ON NH 8	PALGHAR	REGULAR	250	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1776	VIRAR (WEST) WML	PALGHAR	REGULAR	200	OPEN	CC	25	25	625	25	10	BIDDING	30	5
1777	WITHIN KALAMBOLI	RAIGAD	REGULAR	350	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1778	VASAI WEST (FROM RAILWAY STATION TO VASAI GAON)	PALGHAR	REGULAR	320	OPEN CC 2	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1779	WITHIN KHANDESHWAR NODE	RAIGAD	REGULAR	350	OBC CC 1	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1780	BETWEEN KM STONE NO. 423 AND 425 ON MUMBAI - AHMEDABAD ROAD, NH 8	PALGHAR	REGULAR	230	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1781	BETWEEN KHUTGHAR TO ALYANI ON SH38 IN TALUKA SHAHAPUR	THANE	REGULAR	125	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1782	AT TAWE ON NH8, ON RHS TOWARDS AHMEDABAD	PALGHAR	REGULAR	443	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1783	WITHIN 2 KMS OF BETEGAON ON BOISAR CHILLAR ROAD	PALGHAR	REGULAR	150	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1784	AT DEUR BETWEEN KM STONE NO. 410 AND 412 ON MUMBAI - AHMEDABAD ROAD, NH 8	PALGHAR	REGULAR	230	OPEN	СС	35	45	1575	25	10	BIDDING	30	5
1785	ON SH-88, ON PEN KHOPOLI ROAD, BETWEEN SAPOLI TO VADVAL	RAIGAD	REGULAR	200	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1786	ON NH-348A, BETWEEN SONKHAR TO BELAPUR FORT ON LHS, WHILE TRAVELLING TOWARDS BELAPUR FORT	RAIGAD	REGULAR	300	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		oum Dimension of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
		3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for	Draw of	1	12
1787	AT BAPANE, NAIGAON EAST NEAR RAMDEV FILM CITY	PALGHAR	REGULAR	200	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1788	AT BHAYANDERPADA WITHIN1 KM OF MAHANAGAR GAS, GHODBANDER ROAD, THANE	THANE	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1789	ON NH-348A, FROM PANVEL CREAK TO PADEGHAR ON LHS, WHILE TRAVELLING TOWARDS PADEGHAR	RAIGAD	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1790	ON NH4B, JNPT ROAD. FROM ULWE TO PALASPE PHATA ON LHS, WHILE TRAVELLING TOWARDS PALASPE PHATA	RAIGAD	REGULAR	300	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1791	ON NH3 FROM SHAHPUR TO KHARDI ST BUS STAND ON RHS WHILE GOING FROM MUMBAI TO NASHIK	THANE	REGULAR	285	OPEN	СС	35	45	1575	25	10	BIDDING	30	5
1792	WITHIN SHRIVARDHAN TALUKA	RAIGAD	REGULAR	150	OPEN CC 1	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1793	ON POKHRAN ROAD NO. 1 IN THE VICINITY OF VARTAK NAGAR, THANE	THANE	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1794	WITHIN 5 KM FROM DIVA RAILWAY STATION ON DIVA SHIL ROAD	THANE	REGULAR	200	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1795	ON SH-92, FROM DEVNHAVE TO PALI ON LHS	RAIGAD	REGULAR	300	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1796	VILLAGE DOLKHAM, TALUKA SHAHPUR ON SH44	THANE	REGULAR	150	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1797	BETWEEN TIRANGA CHOWK AND DHARAMVEER ANAND DIGHE GATE IN THANE CITY	THANE	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1798	ON NH3 FROM ANJURDIVE TO WALSHIND IN BHIWANDI TALUKA WHILE GOING FROM MUMBAI TO NASHIK ON RHS	THANE	REGULAR	290	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1799	ON SH-89, BETWEEN KARLEKHIND AND MUNAWALI	RAIGAD	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1800	ON OLD NH-4, FROM CHOWK TO KHOPOLI ON LHS, WHILE TRAVELLING TOWARDS KHOPOLI	RAIGAD	REGULAR	450	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1801	NAVGHAR TO CHINCHOTI PHATA ON CHINCHOLTI-ARJUN PHATA ROAD SH 4	PALGHAR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1802	ON OLD NH-4, FROM KHOPOLI TO HATNOLI ON LHS, WHILE TRAVELLING TOWARDS HATNOLI	RAIGAD	REGULAR	150	OPEN	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1803	WITHIN 4 KM FROM SAPHALE STN TOWARDS MAKUNSAR	PALGHAR	REGULAR	120	ST PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1804	WITHIN KHARGHAR NODE	RAIGAD	REGULAR	500	OBC PH	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1805	DOMBIVALI CITY (EAST)	THANE	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1806	ON OLD NH-4, FROM CHOWK TO BARVAI ON LHS, WHILE TRAVELLING TOWARDS BARVAI	RAIGAD	REGULAR	450	OPEN	CC	45	45	2025	25	10	BIDDING	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		num Dimensi of the site (ii 8		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
1		3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	d fund required for develop	Draw of Lots/Biddi ng		12
1807	ON SH-99, BETWEEN LONERE TO GOVELE	RAIGAD	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1808	ON SH-79, WITHIN 6 KMS OF KARJAT ON KARJAT - NERAL ROAD ON LHS TOWARDS NERAL	RAIGAD	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1809	WITHIN KAMOTHE NODE	RAIGAD	REGULAR	400	OPEN	CC	25	25	625	25	10	BIDDING	30	5
1810	ON OLD NH-4, FROM POYANJE TO SHEDUNG TOLL PLAZA ON LHS, WHILE TRAVELLING TOWARDS SHEDUNG TOLL PLAZA	RAIGAD	REGULAR	300	OPEN	СС	40	50	2000	25	10	BIDDING	30	5
1811	ON NH-17, GOA-MUMBAI ROAD, FROM INDAPUR TO KOLAD ON LHS, WHILE TRAVELLING TOWARDS KOLAD	RAIGAD	REGULAR	300	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1812	ON SH-54, BETWEEN NAVIN SHEVA AND JNPT TOWNSHIP	RAIGAD	REGULAR	250	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1813	WITHIN URAN NODE	RAIGAD	REGULAR	150	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1814	ON CHIRNER JNPT ROAD, BETWEEN KOPROLI & CHIRNER, WHILE TRAVELLING TOWARDS CHIRNER	RAIGAD	REGULAR	450	OPEN	DC	40	40	1600	25	45	DRAW OF LOTS	15	5
1815	ON NH-348A, URAN PANVEL ROAD, BETWEEN SONARI TO JASAI ON LHS, WHILE TRAVELLING TOWARDS JASAI	RAIGAD	REGULAR	500	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1816	ON NH-17, GOA-MUMBAI ROAD, FROM KHARPADA TO BHANDHANWADI ON LHS, WHILE TRAVELLING TOWARDS BHANDHANWADI	RAIGAD	REGULAR	300	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1817	ON SH-104, FROM TAMBATI TO JUNCTION OF OLD NH-4 AND SH-104 ON LHS	RAIGAD	REGULAR	250	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1818	WITHIN 5 KMS OF CHILLAR PHATA TOWARDS VASAI	PALGHAR	REGULAR	150	OPEN CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1819	ON NH-17, GOA-MUMBAI ROAD, FROM LONERE TO DHALGHAR ON LHS, WHILE TRAVELLING TOWARDS DHALGHAR	RAIGAD	REGULAR	300	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1820	VILLAGE : NANDITHANE TALUKA- BHIWANDI ,ON SH-35 ON LHS WHILE TRAVELLING FROM BHIWANDI TO WADA	THANE	REGULAR	150	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1821	ON SH-54, URAN PANVEL ROAD, FROM ULWE TO DAPOLI ON LHS	RAIGAD	REGULAR	250	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1822	FROM RANJNOLI NAKA(NH-3 JUNCTION) TOWARDS BHIWANDI WITHIN 3 KMS ON EITHER SIDE OF THE ROAD	THANE	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1823	ON NH-17, MUMBAI-GOA ROAD, FROM GADAB TO KOLETI ON LHS, WHILE TRAVELLING TOWARDS KOLETI	RAIGAD	REGULAR	310	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1824	ON OLD NH-4, FROM KOLKHE TO SHEDUNG TOLL PLAZA, WHILE TRAVELLING TOWARDS SHEDUNG TOLL PLAZA	RAIGAD	REGULAR	450	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1825	ON NH-348A, URAN PANVEL ROAD, BETWEEN JASAI TO SONARI ON LHS, WHILE TRAVELLING TOWARDS SONARI	RAIGAD	REGULAR	500	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1826	ON NH-17, MUMBAI-GOA ROAD, FROM KARNALA TO JITE ON LHS, WHILE TRAVELLING TOWARDS JITE	RAIGAD	REGULAR	310	SC CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales 5	Category 6	Type of Site *		of the site (in		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid 11	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural		SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	d fund required for	Draw of Lots/Biddi ng	-11	12
1827	WITHIN PANVEL	RAIGAD	REGULAR	350	OBC CC 1	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1828	AT TAWE ON MUMBAI-AHMEDABAD NH-8, ON LHS TOWARDS AHMEDABAD	PALGHAR	REGULAR	443	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1829	WITHIN TALOJA, DISTRICT RAIGAD, BUT NOT ON NH-48	RAIGAD	REGULAR	350	OPEN PH	CC	30	30	900	25	10	BIDDING	30	5
1830	BETWEEN 7 KMS OF MANOR ON MANOR-WADA ROAD SH-35	PALGHAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1831	ON NH-17, MUMBAI-GOA ROAD, FROM PEN TO GADAB ON LHS, WHILE TRAVELLING TOWARDS GADAB	RAIGAD	REGULAR	310	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1832	AT KURGAON ON BOISAR-TARAPUR ROAD, TARAPUR MIDC AREA	PALGHAR	REGULAR	200	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1833	ON NH17, MUMBAI-GOA ROAD, WHILE TRAVELLING FROM INDAPUR TO LONERE ON LHS	RAIGAD	REGULAR	300	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1834	ON SH-79, ON KARJAT CHOWK ROAD, WITHIN 4 KMS OF CHARPHATA TOWARDS CHOWK	RAIGAD	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1835	VIRAR (EAST) WML	PALGHAR	REGULAR	250	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1836	BETWEEN KHARDI ST BUS STAND TO LATIFVADI ON NH3, ON LHS WHILE GOING FROM MUMBAI TO NASHIK	THANE	REGULAR	300	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1837	SHAHPUR NAGAR PANCHAYAT LIMIT, DISTT. THANE	THANE	REGULAR	200	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1838	ON OLD NH-4 BETWEEN SHEDUNG TOLL PLAZA TO NADHAL ON LHS, WHILE TRAVELLING TOWARDS NADHAL	RAIGAD	REGULAR	360	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1839	ON SH-104, FROM KHALAPUR BUS STAND TO TAMBATI ON LHS	RAIGAD	REGULAR	250	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1840	BETWEEN SAVAD NAKA TO PADGHA ON SAPE- PADGA ROAD ON RHS	THANE	REGULAR	150	OPEN	DC	35	45	1575	25	45	DRAW OF LOTS	30	5
1841	ON NH-548, BETWEEN JUNCTION OF NH348 TO KALAMBOLI CIRCLE	RAIGAD	REGULAR	450	OPEN CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1842	ON NH-17, MUMBAI-GOA ROAD, BETWEEN PALASPA PHATA TO KARNALA ON LHS, WHILE TRAVELLING TOWARDS GOA	RAIGAD	REGULAR	300	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1843	ON SH-97, BETWEEN VIHULE AND KHANDAD	RAIGAD	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1844	WITHIN 2 KMS OF HOTEL SUVI PALACE ON MUMBAI-AHMEDABAD ROAD	PALGHAR	REGULAR	300	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1845	AT DONGRI, ON ESSEL WORLD ROAD	THANE	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1846	AT KOLSHET ROAD BETWEEN HOTEL SANMAN AND SHRINATH HYUNDAI SERVICE CENTER, THANE (W)	THANE	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		oum Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
1847	AT NALASOPARA (EAST) WITHIN MUNICIPAL LIMITS	THANE	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1848	ON NH48, FROM DAHISAR MORI TOLL TO NAVADE PHATA ON LHS	RAIGAD	REGULAR	400	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1849	FROM SAPGAON TO SHILOTTAR ON SH 44 IN SHAHPUR TALUKA	THANE	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1850	VASAI EAST WML (BETWEEN VASAI TO NH-8)	PALGHAR	REGULAR	270	OPEN	DC	25	25	625	25	75	DRAW OF LOTS	15	5
1851	AT BHAYANDER WITHIN MIRA BHAYENDER MUNICIPAL LIMITS	THANE	REGULAR	350	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1852	ON KARJAT MURBAD ROAD, BETWEEN DHAMOTE AND SASANE	RAIGAD	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1853	BETWEEN KM STONE 462 AND 470 ON MUMBAI-AHMEDABAD NH-8	THANE	REGULAR	300	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1854	THANE CITY (EAST) WML	THANE	REGULAR	250	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1855	AT GUNDALE ON BOISAR CHILLAR ROAD	PALGHAR	REGULAR	150	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1856	WADA TOWN	PALGHAR	REGULAR	200	OBC	CC	35	45	1575	25	10	BIDDING	30	4
1857	ON NH-48, FROM NAVADE TO DAHISAR MORI TOLL PLAZA ON LHS, WHILE TRAVELLING TOWARDS DAHISAR MORI TOLL PLAZA	RAIGAD	REGULAR	400	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1858	ON NH-348, JNPT ROAD, BETWEEN PARGAON TO JWR LOGISTICS PVT LTD. ON LHS, WHILE TRAVELLING TOWARDS JWR LOGISTICS PVT LTD.	RAIGAD	REGULAR	500	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1859	WITHIN ULWE NODE	RAIGAD	REGULAR	350	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1860	AT PALGHAR WITHIN 3 KM FROM BPC PETROL PUMP TO TEMBHODE ALYALI MARG TOWARDS SATPATI.	PALGHAR	REGULAR	180	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1861	FROM ANJURPHATA TO KHARBAO ON SH-4	THANE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1862	AT VADAVALI ON GHODBANDER ROAD, THANE CITY	PALGHAR	REGULAR	443	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1863	BETWEEN KALWA BRIDGE TO ANAND DIGHE GATE THANE-BELAPUR ROAD	THANE	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1864	PACHMARG ON BOISAR CHINCHANI ROAD	PALGHAR	REGULAR	120	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1865	BETWEEN KM STONE NO 427 AND 430 ON RHS TOWARDS AHMENDABAD ON MUMBAI AHMEDABAD ROAD	PALGHAR	REGULAR	250	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1866	ON TALA-INDAPUR ROAD, BETWEEN BORGHAR HAVELI AND MUTHAVALI	RAIGAD	REGULAR	150	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi ng	11	12
1867	BETWEEN KASARDE TITHA TO JAMBHULWADI ON NH-66	SINDHUDURG	REGULAR	200	OBC	СС	45	45	2025	25	10	Bidding	30	4
1868	WITH IN 5 KMS OF NAGAJ PHATA TOWARDS JATH	SANGLI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1869	BETWEEN KANKAVLI TO OSARGAON ON NH-66	SINDHUDURG	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1870	WITHIN 3 KMS FROM KHAREPATAN TOWARDS TALERE ON NH-66	SINDHUDURG	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1871	WITHIN 3 KMS FROM KUDAL BUS STAND TOWARDS KANKAVLI ON NH- 66	SINDHUDURG	REGULAR	200	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1872	WITHIN 7 KMS FROM NANDGAON TITHA TOWARDS KANKAVLI ON NH- 66	SINDHUDURG	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1873	WITHIN 6 KMS FROM LANJA BUSTAND TOWARDS PALI ON NH 66 (OLD NH-17)	RATNAGIRI	REGULAR	200	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1874	BETWEEN KASAL TO ORAS ON NH 66 (OLD NH-17)	SINDHUDURG	REGULAR	200	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1875	MALGAON ON NH-17	SINDHUDURG	REGULAR	200	OPEN CC 1	CC	45	45	2025	25	10	Bidding	30	5
1876	NEGEWADI ON VITA MAYNI ROAD	SANGLI	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1877	WITH IN 6 KMS OF PETH NAKA ON RHS TOWARDS KARAD ON NH4	SANGLI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1878	WITHIN 4 KMS FROM HOTEL REEMZ TOWARDS LOTE ON NH-66	RATNAGIRI	REGULAR	200	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1879	WITHIN 5 KMS FROM MTDC KUNKESHWAR RESORT TOWARDS ACHARA ON KUNKESHWAR -ACHARA ROAD (SH-4)	SINDHUDURG	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1880	WITHIN 3 KMS FROM TALAVDE GATE TOWARDS SAWANTWADI ON SH	SINDHUDURG	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1881	BETWEEN KONDGAON AND SAKHARPA ON NH-166	RATNAGIRI	REGULAR	200	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1882	TASGAON TOWN	SANGLI	REGULAR	150	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
1883	BETWEEN CHAUKE AND SUKALWAD ON SH-182	SINDHUDURG	REGULAR	150	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1884	BETWEEN HUNDI AND ACHARA ON MSH-4	SINDHUDURG	REGULAR	150	OPEN CC 2	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1885	BETWEEN MALGUND AND GANPATIPHULE ON SH-4	RATNAGIRI	REGULAR	150	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1886	WITHIN 5 KMS FROM SAWARDE TOWARDS KAMTHE ON NH-66 (OLD NH-17)	RATNAGIRI	REGULAR	200	ST CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		oum Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN BH	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs	Draw of Lots/Biddi ng	11	12
1887	BETWEEN KUNKESHWAR AND ACHARA ON MSH-4	SINDHUDURG	REGULAR	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1888	ON VAIBHAVWADI - TARALE ROAD	SINDHUDURG	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1889	WITH IN 2 KM OF BAGANI ROAD JUNCTION AT AASHTA TOWARDS BAGANI ON RHS	SANGLI	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1890	KARANDWADI ON SANGLI-ASHTA ROAD NH	SANGLI	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1891	WITHIN 6 KMS FROM LANJA BUSTAND TOWARDS ONI ON NH 66 (OLD NH-17)	RATNAGIRI	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1892	WITHIN 3 KMS FROM HOTEL GURUMAULI AT KODAVALI TOWARDS RAJAPUR ON NH-66	RATNAGIRI	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1893	BETWEEN KM STONE SHIRDHON 6KM TO SHIRDHON 4 KM ON LHS WHILE MOVING TOWARDS MIRAJ ON NH 166	SANGLI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1894	WITHIN 3 KMS FROM DEVDHE PHATA TOWARDS LANJA ON NH-66	RATNAGIRI	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1895	WITHIN 10 KM FROM VAHAL PHATA, SAWARDE TOWARDS MANDKI ON SH-105	RATNAGIRI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1896	WITHIN 6 KMS FROM SAMARTH RICE MILL , ARAVLI TOWARDS CHIPLUN ON NH-66	RATNAGIRI	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1897	DIGHANCHI ON ATPADI ROAD	SANGLI	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1898	ATPADI ON SH 151 TOWARDS DIGHANCHI	SANGLI	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1899	KADEGAON ON VITA KARAD ROAD	SANGLI	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1900	BORGI TOWARDS UMADI WITH IN 2KM OF GOVT. VETERINARY HOSPITAL	SANGLI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1901	BETWEEN NANIJ AND PALI ON NH-166	RATNAGIRI	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1902	WITHIN 5 KMS FROM MAHARSHI VIDYALAYA ENGG COLLEGE , VELNESHWAR TOWARDS HEDVI	RATNAGIRI	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1903	WITH IN 2 KM OF UMADI POLICE STATION TOWARDS JATH ON LHS	SANGLI	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1904	BETWEEN PALSHET AND VELNESHWAR ON MSH-4	RATNAGIRI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1905	WITHIN 3 KMS FROM SAWRE PHATA TOWARDS ADIVARE RHS ON SH-4	RATNAGIRI	REGULAR	150	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1906	WITHIN 4 KM FROM KARMYOG MTDC RESORT , GIMAVI TOWARDS CHIPLUN ON SH-78 (GUHAGAR -CHIPLUN ROAD)	RATNAGIRI	REGULAR	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5

SI No	Name Of Location	Revenue District	,,	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC /CFS	Fronta ge	B Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi	11	12
1907	WITHIN 2 KM OF SHIVAJI CHOWK AT UMADI TOWARDS BIJAPUR ON LHS	SANGLI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1908	KADEPUR ON VITA KARAD ROAD	SANGLI	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1909	RATNAGIRI WML	RATNAGIRI	REGULAR	150	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1910	WITHIN 10 KMS FROM NIVLI PHATA TOWARDS JAKADEVI ON SH-106	RATNAGIRI	REGULAR	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1911	WITHIN 7 KMS FROM VAHAL PHATA, SAWARDE TOWARDS PALVAN ON SH-105	RATNAGIRI	REGULAR	150	OBC PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1912	WITHIN 3 KMS FROM TURCHI PHATA TOWARDS PALUS	SANGLI	REGULAR	150	SC PH	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1913	GARDI ON NH160	SANGLI	REGULAR	200	OPEN	CC	45	45	2025	25	10	Bidding	30	5
1914	KUCHI ON NH 166	SANGLI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1915	SANGLI CITY ON KOLHAPUR ROAD	SANGLI	REGULAR	150	OBC	DC	26	20	520	25	60	DRAW OF LOTS	15	4
1916	KUPWAD ON KUPWAD MIDC ROAD	SANGLI	REGULAR	150	OPEN	CC	26	20	520	25	10	Bidding	30	5
1917	WITH IN 6 KMS OF BHIVGHAT TOWARDS NAGAJ ON NH 166E	SANGLI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1918	BETWEEN KM STONE SANGLI 41KM TO SANGLI 38 KM ON KARAD TASGAON ROAD	SANGLI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1919	BETWEEN KM STONE SANGOLA 91KM TO SANGOLA 87KM FROM MIRAJ TOWARDS PANDHARPUR ON NH 166	SANGLI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1920	MIRAJ CITY ON MALGAON ROAD	SANGLI	REGULAR	150	OPEN	CC	26	20	520	25	10	Bidding	30	5
1921	NH 04, PUNE KOLHAPUR HIGHWAY, KINI VILLAGE, WITHIN 3 KM FROM KINI TOLL NAKA TOWARDS KOLHAPUR LHS.	KOLHAPUR	REGULAR	300	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1922	TUPARI ON TASGAON KARAD ROAD	SANGLI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1923	WITH IN 2 KM OF SAI INTERNATIONAL HOTEL ON NH4 ON LHS WHILE TRAVELLING TOWARDS KOLHAPUR	SANGLI	REGULAR	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
1924	WITHIN 5 KMS FROM KAMATHE TOWARDS CHIPLUN ON NH-66 (OLD NH-17)	RATNAGIRI	REGULAR	200	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1925	MDR 22, ICHALAKARANJI TO KOLHAPUR SANGLI PHATA, WITHIN 3KM FROM KOLHAPUR SANGLI PHATA TOWARDS ICHALKARANJI RHS	KOLHAPUR	REGULAR	160	OBC	DC	26	20	520	25	60	DRAW OF LOTS	15	4
1926	SH 199, KUMBHOJ DANOLI ROAD, TEHSIL: HATKANANGALE	KOLHAPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1927	KURLAP ON ISLAMPUR WARNA NAGAR ROAD SH 150	SANGLI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		oum Dimension of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
1928	BETWEEN KM STONE SANGOLA 74KM TO SANGOLA 71KM FROM MIRAJ TOWARDS PANDHARPUR ON NH 166	SANGLI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1929	OPPOSITE TO BOHRA MARKET, HULGESHWARI ROAD, ICHALKARNAJI CITY, KOLAHPUR	KOLHAPUR	REGULAR	160	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1930	FROM PACHVA MILE CHOWK TOWARDS TURCHI PHATA	SANGLI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1931	WITH IN 2 KM OF KUMTHA PHATA TOWARDS TASGAON	SANGLI	REGULAR	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5
1932	BALGAVADE ON TASGAON BHIVGHAT ROAD	SANGLI	REGULAR	100	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1933	WITH IN KM STONE KARAD 36KM TO KARAD 32 KM ON VITA KARAD ROAD	SANGLI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1934	KANKAVALI MUNICIPAL LIMIT	SINDHUDURG	REGULAR	200	OBC CC 1	DC	26	20	520	25	60	DRAW OF LOTS	15	4
1935	RATNAGIRI WML 2	RATNAGIRI	REGULAR	150	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1936	BETWEEN PADEL AND JAMSANDE ON MSH-4	SINDHUDURG	REGULAR	150	OPEN PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1937	VILLAGE: KHOTWADI, ICHALAKARANJI SANGLI ROAD, WITHIN 4 KM FROM BPC YADRAVKAR PUMP TOWARDS SANGLI LHS, TEHSIL: HATAKANANGALE	KOLHAPUR	REGULAR	150	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1938	WITH IN KM STONE KUNDAL 20KM TO KUNDAL 18KM ON VITA KUNDAL RAOD	SANGLI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1939	FROM KIT COLLEGE TOWARDS BHARATI VIDYAPEETH ON KOLHAPUR FILM CITY ROAD	KOLHAPUR	REGULAR	160	SC	CFS	26	20	520	0	0	DRAW OF LOTS	0	3
1940	WITH IN 5 KMS OF JUNCTION AT TASGAON ON TASGAON MANERAJURI ROAD	SANGLI	REGULAR	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5
1941	KAGAL MURUGAD ROAD, WITHIN 3KM FROM KAGAL TO MURUGAD LHS	KOLHAPUR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1942	WITH IN 5 KM OF NAGAJ PHATA TOWARDS PANDHARPUR ON NH166	SANGLI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1943	KEREVADI ON RHS FROM MIRAJ TOWARDS SANGOLA IN NH 166	SANGLI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1944	FROM PALI BUSTAND TO POST OFFICE DEVDHE ON NH-66 (OLD NH-17)	RATNAGIRI	REGULAR	200	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1945	VITA	SANGLI	REGULAR	100	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
1946	ALSUND ON SH 150	SANGLI	REGULAR	100	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1947	KUDAL TO ORAS ON NH 66 (OLD NH 17)	SINDHUDURG	REGULAR	200	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1948	BETWEEN HATHKHAMBA AND PALI	RATNAGIRI	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii		arrange App	ce to be ed by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi ng	11	12
1949	MIRAJ CITY	SANGLI	REGULAR	150	OBC	DC	26	20	520	25	60	DRAW OF LOTS	15	4
1950	RETHRE DHARAN ON PETH SHIRALA ROAD	SANGLI	REGULAR	100	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1951	BETWEEN HAZARWADI AND BHILAWADI	SANGLI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1952	SANGLI CITY ON TASGAON ROAD	SANGLI	REGULAR	150	OBC	DC	26	20	520	25	60	DRAW OF LOTS	15	4
1953	FROM HATHKAMBHA TO NIVLI ON NH 66	RATNAGIRI	REGULAR	150	SC	CFS	45	45	1225	0	0	DRAW OF LOTS	0	3
1954	VISAPUR ON TASGAON VITA ROAD	SANGLI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1955	ON RIGHT HAND SIDE OF NH4 TOWARDS KOLHAPUR FROM KARAD, CHAINAGE BETWEEN 645 AND 648	SANGLI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1956	WITHIN MALVAN MUNICIPAL LIMITS	SINDHUDURG	REGULAR	150	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
1957	WITHIN 5 KMS FROM DAPOLI ON DAPOLI KHED ROAD SH 104	RATNAGIRI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1958	NH 04, PUNE BANGLORE HIGHWAY, WITHIN 2 KM FROM KINI TOLL NAKA TOWARDS PUNE LHS	KOLHAPUR	REGULAR	300	OPEN	СС	45	45	2025	25	10	Bidding	30	5
1959	NH 166 RATNAGIRI TO NAGPUR, KERALI, TAL. KARVEER, DIST. KOLHAPUR, WITHIN 2 KM DISTANCE FROM KERALI TOWARDS RATNAGIRI RHS	KOLHAPUR	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1960	WITHIN KUDAL MUNICIPAL LIMITS	SINDHUDURG	REGULAR	150	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
1961	WITHIN 7 KMS FROM SAWANTWADI TOWARDS AMBOLI ON SAWANTWADI AMBOLI ROAD	SINDHUDURG	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1962	NH 166 RATNAGIRI TO NAGPUR, TALAWADE, TAL. SHAHUWADI, DIST. KOLHAPUR, WITHIN 16KM FROM LAXMI PETROLEUM TOWARDS RATNAGIRI RHS.	KOLHAPUR	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1963	WITHIN 5 KMS FROM MALVAN TOWARDS KUMBHARMATH ON MSH-4	SINDHUDURG	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1964	KOLHAPUR SANGLI BYPASS ROAD, 9 KM FROM BASWANKHIND TOWARDS SANGLI LHS, JAINAPUR	KOLHAPUR	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1965	NH 166, KOLHAPUR RATNAGIRI ROAD, VILLAGE: KARANJOSHI, WITHIN 2 KM FROM JULEWADI PHATA TOWARDS SHAHUWADI	KOLHAPUR	REGULAR	300	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1966	BETWEEN CHIPLUN HEAD POST OFFICE AND SHIRAL ON SH-78	RATNAGIRI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1967	WITHIN 5 KMS FROM KANKAVLI BUS STAND TOWARDS KASAL ON NH-66	SINDHUDURG	REGULAR	200	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for	Draw of Lots/Biddi	11	12
1968	WITHIN 5 KM FROM BAHADUR SHEIKH NAKA, CHIPLUN TOWARDS LOTE PARSHURAM ON LHS ON NH 66	RATNAGIRI	REGULAR	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
1969	NH 166, KOLHAPUR RATNAGIRI ROAD, VILLAGE: KERALI, WITHIN 7 KM FROM SHIVAJI BRIDGE TOWARDS RATNAGIRI '	KOLHAPUR	REGULAR	200	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1970	WITHIN 5 KMS FROM MALVAN TOWARDS ACHARA ON MSH-4	SINDHUDURG	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1971	WITHIN KHED MUNICIPAL LIMITS	RATNAGIRI	REGULAR	150	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
1972	STATION ROAD, OPP TO HOTEL FIRE BRIGADE, ICHALKARNAJI CITY, KOLAHPUR	KOLHAPUR	REGULAR	160	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1973	BETWEEN KUDAL AND ZARAP ON NH-66	SINDHUDURG	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1974	WITHIN DAPOLI MUNICIPAL LIMITS	RATNAGIRI	REGULAR	150	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
1975	ON KHAREPATAN - TITHAVLI ROAD ON SH114	SINDHUDURG	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1976	KASABA BAWDA MAIN ROAD , NEAR NXG CAR CARE TOWARDS SHIYE, KOLHAPUR	KOLHAPUR	REGULAR	160	OPEN	DC	26	20	520	25	60	DRAW OF LOTS	15	5
1977	RING ROAD JAY SANGLI NAKA, NEAR VATHARE MALA, ICHALKARANJI, TEHSIL-HATKANANGALE	KOLHAPUR	REGULAR	160	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1978	RAMPUR ON JATH SANGLI ROAD	SANGLI	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1979	BETWEEN LOTE AND KHED ON NH 66 (OLD NH-17)	RATNAGIRI	REGULAR	200	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1980	FROM TEMBALAI MANDIR TO LAKSHTIRTH VASAHAT LHS	KOLHAPUR	REGULAR	160	OPEN	DC	26	20	520	25	60	DRAW OF LOTS	15	5
1981	SH 196 KOLHAPUR GARGOTI ROAD, BETWEEN KM STONE 21 AND 23 LHS TOWARDS GARGOTI FROM KOLHAPUR	KOLHAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1982	BETWEEN PANDUR AND AWALEGAON ON SH- 179	SINDHUDURG	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1983	KOLHAPUR MUNICIPAL LIMIT	KOLHAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1984	KAMERI ON NH 4 ON LHS WHILE GOING TO PUNE FROM KOLHAPUR	SANGLI	REGULAR	150	SC CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1985	WITHIN 5 KMS FROM HATHIVALE TOWARDS KONDYE ON NH-66 (OLD NH-17)	RATNAGIRI	REGULAR	200	OPEN CC 2	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1986	BETWEEN KALAMBANI AND KHAVATI ON NH-17	RATNAGIRI	REGULAR	200	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1987	SH 193 KALE TO ANUSKARA, PENDAKALE VILLAGE, 2 KM FROM KOTOLI PHATA TOWARDS ANUSKARA RHS	KOLHAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		of the site (in		arrange App	e to be d by the licant	Mode of selection	Fixed Fee / Minimu m Bid	Security Deposit (Rs in Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	9(b) Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Draw of Lots/Biddi ng	11	12
1988	WITHIN 5 KMS FROM ARAVLI TOWARDS DHAMANI ON NH-66 (OLD NH-17)	RATNAGIRI	REGULAR	200	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1989	FROM ASHTA TOWARS ISLAMPUR ON LHS	SANGLI	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1990	SH UDGAON KURUNDWAD ROAD, WITHIN 2KM FROM UDAGAON TOWARDS KURUNDWAD LHS	KOLHAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1991	SH 188 AJARA AMBOLI ROAD, WITHIN 2 KM FROM STONE NO. 23 FROM MASURI PHATA LHS.	KOLHAPUR	REGULAR	150	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1992	BASARGI ON JATH ATHANI ROAD	SANGLI	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1993	WITHIN 3 KMS FROM GAWDE BUS STOP TOWARDS KHED ON SH-104	RATNAGIRI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1994	9KM FROM WATHAR ON WATHAR TO WARNA ROAD SH 126 LHS	KOLHAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1995	MDR ICHALAKARANJI TAKAWADE ROAD THRU SHARAD COLLEGE, WITHIN 2 KM FROM SHARAD COLLEGE TOWARDS TAKAWADE LHS	KOLHAPUR	REGULAR	160	OPEN	CC	26	20	520	25	10	Bidding	30	5
1996	WITHIN RATNAGIRI MUNCIPAL LIMITS	RATNAGIRI	REGULAR	150	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
1997	WITHIN 10 KMS FROM KUDAL HIGH SCHOOL TOWARDS VENGURLA ON KUDAL- VENGURLA ROAD SH-179	SINDHUDURG	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1998	PANCHGAON, TAL. KARVEER, DISTRICT: KOLHAPUR	KOLHAPUR	REGULAR	160	OPEN	DC	26	20	520	25	60	DRAW OF LOTS	15	5
1999	WITHIN 5 KMS FROM KASAL TOWARDS KANKAVLI ON NH-66	SINDHUDURG	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2000	WITHIN CHIPLUN MUNICIPAL LIMITS	RATNAGIRI	REGULAR	150	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
2001	WITHIN 5 KMS FROM HOTEL RATNAPRABHA PALACE TOWARDS ADIVARE ON SH-4	RATNAGIRI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2002	KOTOLI, KOLHAPUR RAJAPUR SH, WITHIN 2 KM FROM GHOTAWADE TO CHAVANWADI RHS	KOLHAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
2003	BORAWADE, TEHSIL: KAGAL, WITHIN 2 KM FROM MUDHALTITHA ON SH NIPANI TO RATNAGIRI LHS	KOLHAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
2004	WITHIN RAJAPUR MUNICIPAL LIMITS	RATNAGIRI	REGULAR	150	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
2005	SH 177, HUPRI KURUNDWAD ROAD, WITHIN 2KM FROM RENDAL TOWARDS KURUNDWAD LHS	KOLHAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
2006	BETWEEN MARGTAMHANE AND RAMPUR ON SH-78	RATNAGIRI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales	Category	Type of Site *		num Dimensi of the site (ii	n Sq. M.).*	arrange App	e to be d by the licant	Mode of selection	Minimu m Bid	Lakhs)
1	2	3	(Regular/Rural	MS+HSD in KIs	G SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC /CFS	Fronta ge	8 Depth	Area	9(a) Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	for develop	Draw of Lots/Biddi ng	11	12
2007	SH 75, RATNAGIRI KOLHAPUR NAGPUR(LINK ROAD) SECTION, JAISINGHPUR TO SHIROL, KOLHAPUR	KOLHAPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
2008	WITHIN LANJA MUNICIPAL LIMITS	RATNAGIRI	REGULAR	150	OBC	DC	26	20	520	25	45	DRAW OF LOTS	15	4
2009	MDR KODOLI TO RATNAGIRI ROAD, 3KM FROM KODOLI BORDER TOWARDS RATNAGIRI LHS	KOLHAPUR	REGULAR	160	OPEN	DC	26	20	520	25	60	DRAW OF LOTS	15	5
2010	BETWEEN RATNAGIRI & HATHKHAMBHA ON NH 204	RATNAGIRI	REGULAR	200	ST PH	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
2011	BETWEEN WAGHOTAN AND TARELE ON SH 115	SINDHUDURG	REGULAR	150	OBC PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
	ICCHALKARANJI TOWN	KOLHAPUR	REGULAR	120	OPEN	CC	26	20	520	25	10	Bidding	30	5
2013	MANERAJURI ON TASGAON SHIRDHON ROAD	SANGLI	REGULAR	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5

Volume indicated are based on Market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the coloumns in the Table is given in the Brouchure which also contains detailed guidelines of selection procedure for dealership alongwith the Application Form and other relevant details. The Brouchure is available at a cost of Rs 100/- from the Corporation's Offices at the addresses mentioned below. It is also hosted in the Corporation Website www.hindustanpetroleum.com / www.petrolpumpdealerchayan.in and can be downloaded free of cost

^{*} The Site should either be owned or on lease with applicant for minimum 19 Years & 11 months or Applicants should have Firm Offer for the same.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	СС	ОВС	5000		СС	ОВС	4000
Regular Ros	СС	Open	10000	Rural	СС	Open	8000
	DC	ОВС	5000	ROs	DC	ОВС	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 10 years and renewable every 10 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

SR NO	REGIONAL OFFICE ADDRESS	CONTACT NO	ADVT SR NO
	A. man make at Detail Degian of Office I limbuston Details on	0040 0404047	1 to 19,
1	Aurangabad Retail Regional Office, Hindustan Petroleum Corporation Limited, PLOT NO. G-39, TOWN CENTRE, CIDCO.	0240-2484317 , 0240-2484537,	96 to 120,
'	AURANGABAD – 431003	0240-2485712	253 to 458
2	Mumbai Retail Regional Office, Hindustan Petroleum Corporation Limited,3/4 S V ROAD & TURNER ROAD JN, BANDRA WEST,MUMBAI – 400050	022-26403955 , 022- 26585701	459 to 494
	Nagpur Retail Regional Office, Hindustan Petroleum Corporation	0712-2520617	20 to 36,
3	Limited,ORIENTAL BUILDING, 2ND FLOOR, S V PATEL ROAD,	0712-2520617	121 to 142,
	SADAR, NAGPUR – 440001	07 12-2020010	495 to 755
	Nasik Retail Regional Office, Hindustan Petroleum Corporation	0253-2363125 ,	37 to 47,
4	Limited, C/o First Floor - BSNL Circle Telecom Training Centre,	0253-2363129 ,	143 to 167,
	Plot no-45 & 47, Satpur MIDC - Nasik - 422 007	7620219952	756 to 1069
	Pune Retail Regional Office, Hindustan Petroleum Corporation	020-26213200 , 020-	48 to 64,
5	Limited,3/C, Dr.Ambedkar Road, Next to Nehru Memorial Hall,	26213204 . 020-	168 to 200,
	Camp, Pune – 411001	26213214	1070 to 1369
	Sholapur Retail Regional Office, Hindustan Petroleum Corporation	7507456733 .	65 to 72,
6	Limited, HPCL PAKNI IRD, NEAR RAILWAY STATION, PAKNI,	7507456744	201 to 221,
	SOLAPUR – 413242		1370 to 1690
	Vashi Retail Regional Office, Hindustan Petroleum Corporation	022-27620231	84 to 95,
7	Limited,D-500, TTC IND AREA, MIDC, TURBHE, NAVI MUMBAI	9619024027	241 to 252,
	<u>- 400705</u>	-	1691 to 1866
	Vasco Retail Regional Office, Hindustan Petroleum Corporation	0832-2513044 ,	73 to 83,
8	Limited, POST BOX NO 48, F L GOMES ROAD, VASCO DA	0832-2518853 ,	222 to 240,
	GAMA, GOA – 403802	0832-2512680, 0832-2519742	1867 to 2013